COMMONWEALTH OF KENTUCKY

BEFORE THE PUBLIC SERVICE COMMISSION

T	41	70. /	T = 44 =	C
ın	The	IVI	[atter	. OI

AN INQUIRY INTO THE STATE) CASE NO. 2016-00059
UNIVERSAL SERVICE FUND)

TELRITE'S RESPONSES TO COMMISSION STAFF'S FIRST REQUESTS FOR INFORMATION

Telrite Corporation d/b/a Life Wireless ("Telrite" or the "Company"), hereby serves its Responses to the Kentucky Public Service Commission Staff's Request for Information dated April 6, 2016.

DATA RESPONSES

REQUESTS FOR INFORMATION TO PARTIES THAT RECEIVED PAYMENT FROM THE KENTUCKY UNIVERSAL SERVICE FUND ("KUSF")

REQUEST NO. 1. Provide the KUSF reimbursement forms submitted to the Commission and the Department of Finance and Administration from January 2014 to the present.

RESPONSE: Please find these forms attached as *Exhibit 1*.

REQUEST NO. 2. Provide the Federal Communication Commission ("FCC") Form 497 submitted to the FCC from January 2014 to the present.

RESPONSE: Please find these forms attached as *Exhibit 2*.

REQUEST NO. 3. Refer to the Lifeline plans you filed with the Commission with your Application for Designation as an Eligible Telecommunications Carrier ("ETC"). State whether there have been changes to these Lifeline plans since the Commission entered an Order designating you as an ETC for the purpose of offering Lifeline service in Kentucky. If there have been changes to the Lifeline plans, provide:

- **a.** Copies of all Lifeline plans currently offered to Kentucky subscribers.
- **b.** For each new or modified Lifeline plan, explain in detail:
 - i. How the current Lifeline plan modifies the Lifeline plan in effect when you were designated as an ETC:
 - ii. Whether the current Lifeline plan was offered in addition to Lifeline plans in effect when you were designated as an ETC.
- **c.** An explanation for why existing Lifeline plans were changed or additional Lifeline plans were added.

RESPONSE:

When Telrite filed for Designation as an ETC in Kentucky, it offered as follows:

Telrite will provide qualified Lifeline customers in Kentucky their choice of 125 or 250 anytime prepaid minutes per month at no charge. Minutes do not expire for 125 minute plan and unused minutes are rolled over to the next month. Unused minutes for the 250 minute plan do not roll over. Text messaging is available, with these alternatives:

- (a) 125 Minute Plan with rollover and 3 SMS per voice minute; and
- (b) 250 Minute Plan without rollover and 3 SMS per voice minute.

Telrite continues to offer the 125 Minute Plan with rollover and 3 SMS per voice minute. Starting September 8, 2015, Telrite began offering – in lieu of the 250 minute plan set forth in its application, a 500 minute plan without rollover and 3 SMS per voice minute. Additionally, since June 17, 2015 all Telrite new Lifeline subscribers in Kentucky have received 50MB of data along with their voice service and this increases to 100MB of data after 6 months service. Since it rolled out data for Lifeline subscribers, Telrite has only distributed "smart phones" in Kentucky.

For the Telrite plan with rollover minutes, the change has been that the company added 50 MB of data along with the voice service which increases to 100MB of data after 6 months of service. For the far more popular Telrite plan of minutes with no rollover, the

company added the data as indicated and increased its voice minutes to 500 from 250. Also, though not formally part of these plans, Telrite has moved to distributing only smart phones in Kentucky versus the simpler phones that were distributed earlier on.

Telrite improved its offer in Kentucky because believed it could gain competitive advantage and better satisfy the needs of eligible Lifeline subscribers by increasing to 500 minutes and offering some data together with smart phones. Telrite now offers 500 minutes in all of its jurisdictions other than California but Kentucky was one of the first states in which it did so. Additionally, Kentucky is the only state other than California in which Telrite offers data as part of its basic package for eligible Lifeline customers.

RESPONSIBLE WITNESS: Susan Berlin, VP Regulatory Affairs & Counsel, Telrite

5

REQUEST NO. 4. If the Commission's decision is to maintain state Lifeline support for only voice service, describe how that decision would affect whether and how you provide Lifeline service in Kentucky.

RESPONSE: Telrite provides voice and data service today and expects to continue to offer voice for the foreseeable future. Without additional details, it is hard to say but this does not sound problematic. The FCC has announced that beginning in December 2017 it will require Lifeline providers to offer data service to subscribers or lose a portion of the federal support currently available (\$9.25 each month).

REQUEST NO. 5. Identify any cost-effective procedures that you believe should be implemented by the Commission to increase oversight of the Lifeline program.

RESPONSE: Telrite does not have any proposals for procedures other than those implemented by the FCC.

REQUEST NO. 6. If the Commission's decision is to change the amount of Lifeline support, state how soon upon the issuance of an Order by the Commission changing the Lifeline support amount that you are or anticipate being able to implement the changes on customer bills.

RESPONSE: Telrite does not bill its subscribers and does not expect to do so following issuance of an Order by the Commission in this matter.

REQUEST NO. 7. Provide, in detail, the methods employed to verify the eligibility of customers who participate in the Lifeline program.

RESPONSE:

Telrite trains its representatives who conduct in-person enrollments regarding the eligibility and certification requirements of the FCC in its *Lifeline Reform Order*. Representatives submit eligibility documentation to Telrite's internal Approval Center where company employees who have also been trained in the FCC's eligibility and certification requirements review each order in real time, reviewing all such documentation to determine whether the applicant should be approved and before the applicant's service can be activated.

Comprehensive training includes, but is not limited to, teaching representatives about the Lifeline program, what makes an individual eligible for Lifeline, what proof of eligibility and identification is required, what the one-per-household rule is, what information provided by the applicant needs to be recorded and in what form, what information needs to be communicated to the applicant about eligibility and the program, and the consequences of not following Telrite's procedures to ensure full compliance with Lifeline requirements.

Telrite collects:

- A copy of Proof of Address (e.g. Utility Bills)*
- A copy of Federal/State Government-Issued ID (e.g. Driver License, Passport)*
- A copy of Proof of Participating Subsidy (currently: Supplemental Nutrition Assistance Program (SNAP), Section 8 Federal Public Housing Assistance (FPHA), Medicaid, Supplemental Security Income (SSI), Temporary Assistance for Needy Families (TANF), Low Income Home Energy Assistance Program (LIHEAP), National School Lunch Program's free lunch program)

Or, to demonstrate household income that is at or below 135% of Federal Poverty Level Guidelines (where a state has adopted income-based qualification):

- A copy of Proof of Income (e.g. Prior Year's Tax Return, Social Security

Statement of Benefits, Unemployment Statement of Benefits, Paystubs covering three consecutive months within the past year.)*

In Kentucky Telrite also collects the full social security number for applicants.

This is not useful for verifying eligibility but it is necessary at annual recertification of continued eligibility from the state database to which the company has access for this.

To check for duplicates, at signup, Telrite checks the applicant's name for any other exact matches. For any exact name matches, Telrite then checks for similar address, similar date of birth, and similar social security number. If two out of three are similar, then the applicant is rejected. Telrite also checks for an exact address match and then checks all matches for similar name, similar date of birth and similar social security number. Again, if two out of three match, then the application is rejected. Telrite validates and normalizes the address provided via the MELISSA database and checks the address against the U.S. Postal Service system. The system then confirms the applicant's identity via Lexis Nexis (using the prospective customer's last name, date of birth and the last four digits of the applicant's Social Security number).

To further check for duplicates, and as is required, Telrite checks the NLAD (National Lifeline Accountability Database) run by USAC. Such applicants may proceed to port their current benefit to Telrite (subject to USAC's 60 day port freeze) or will be declined for Lifeline service with Telrite.

REQUEST NO. 8. State whether you have been subjected to FCC investigation, action, and/or penalties relating to participation in the Lifeline program. If you have been so subjected, provide in detail, including citations to the FCC action, the investigation, action, and/or penalties to which you were subjected.

RESPONSE:

December 9, 2013 NAL (FCC 13-154)

The FCC issued an NAL to Telrite on December 9, 2013 (2013 NAL) alleging that the company claimed reimbursements for 4,387 intracompany duplicates on its Forms 497. While the total alleged harm to the Universal Service Fund was only \$41,587, the Commission issued a proposed forfeiture of \$22,399,761, or over 538 times the value of the alleged harm. On February 20, 2014, Telrite responded to the NAL, arguing that the FCC's allegations were without factual basis and contrary to law and requesting that the Commission cancel or reduce the proposed forfeiture. On or around November 24, 2015, the FCC Enforcement Bureau referred the Telrite NAL, along with several other intracompany duplicates NALs, to the FCC's Office of Inspector General, which is currently reviewing them. Because Telrite vigorously opposes the NAL and the Commission has not issued a forfeiture order (i.e., the FCC has not reached a formal finding or imposed any fine for non-compliance), Telrite has not paid any fine or penalty to the FCC. Nonetheless, because Telrite holds itself to the highest standards of program integrity and compliance, Telrite voluntarily treated each alleged duplicate account as though it were a duplicate and has returned all related disbursements to the federal Universal Service Fund.

Although Telrite has always taken steps to screen for duplicate enrollments and continues to do so beyond what is required, duplicate detection is now squarely the purview of the FCC, the Universal Service Administrative Company (USAC) and the National Lifeline Accountability Database (NLAD)—the national duplicates database.

As of February 27, 2014, Lifeline enrollments in Kentucky are processed through the NLAD by all ETCs, and the NLAD determines whether the applicant is a duplicate.

April 17, 2008 NAL (FCC 08-116)

On April 17, 2008, the FCC released an NAL against Telrite for alleged violations stemming from alleged failures to accurately report its interstate revenues on its Telecommunications Reporting Worksheets (the 2008 NAL). On April 18, 2012, Telrite and the FCC reached a confidential Consent Decree settling the 2008 NAL.

RESPONSIBLE WITNESS: Susan Berlin, VP Regulatory Affairs & Counsel, Telrite

12

REQUEST NO. 9. Describe, in detail your current marketing programs for Lifeline service in Kentucky, including, but not limited to, person-to-person sales.

RESPONSE: Telrite, by and large, uses an in person distribution model which brings Lifeline to those most in need (soup kitchens, homeless shelters, church parking lots). We use trained agents for most of this work and they decide where to set up, when to set up, what sort of oks they may need to operate in a given location, etc. Telrite also accepts orders via its website www.lifewireless.com.

REQUESTS FOR INFORMATION TO ALL PARTIES

REQUEST NO. 1. Provide the KUSF reimbursement forms submitted to the Commission and the Department of Finance and Administration from January 2014 to the present.

RESPONSE: Please find these forms attached as *Exhibit 1*.

REQUEST NO. 2. Explain how the total number of subscriber lines is calculated for the KUSF reimbursement form when a new customer receives service in the middle of a month.

RESPONSE: Currently the line would receive a full month subsidy.

REQUEST NO. 3. Explain how the total number of subscriber lines is calculated for the

KUSF reimbursement form when a customer leaves in the middle of a month.

RESPONSE:

It depends on the day of the month the subscriber started service and the day of the month

the subscriber leaves. If the subscriber cancels on a day of the month after their start day,

they receive full subsidy. If the subscriber cancels on a day of the month prior to their

start day of the next month, no subsidy will be requested for that month. Demonstrative

examples:

i. If subscriber activates 1/15/2015 and disconnects 5/7/2015, line is NOT eligible

for subsidy for May 2015.

ii. If subscriber activates 1/15/2015 and disconnects 5/27/2015, line IS eligible for

lifeline subsidy for May 2015.

RESPONSIBLE WITNESS:

Susan Berlin, VP Regulatory Affairs & Counsel, Telrite

16

REQUEST NO. 4. Explain how the KUSF surcharge remittance is calculated when you experience a bad debt. Explain whether none of the surcharge amount or the full surcharge amount billed to, but not paid by, the customer is remitted.

RESPONSE: Telrite does not charge subscribers for its service so this is a non-issue for it.

REQUEST NO. 5. State whether you believe the Commission should wait until the FCC's investigation of Lifeline Reform' is concluded before rendering a decision in this proceeding, and explain the basis for your response.

RESPONSE: The FCC's recent decision, announced orally at its meeting on March 31, 2016 is expected to lead to the issuance of written decision very soon meaning the Commission should have the benefit of knowing its full decision in short order.

REQUEST NO. 6. State how soon upon the issuance of an Order by the Commission changing the KUSF surcharge that you are or anticipate being able to implement the changes on customer bills. If it differs by type of account, provide the information for each type of account, along with the number of access lines for each account type.

RESPONSE: Given that Telrite does not bill its subscribers, this is a non-issue for it.

CERTIFICATE OF SERVICE

In accordance with 807 KAR 5:001, Section 8, I certify that the April 27, 2016 electronic filing of these Data Responses is a true and accurate copy of the same document being filed in paper medium; that the electronic filing was transmitted to the Commission on April 27, 2016; that there are currently no parties that the Commission has excused from participation by electronic means in this proceeding; and that an original paper medium of these Data Responses will be mailed to the Commission by first class United States mail, postage prepaid, on April 27, 2016.

Douglas F. Brent

EXHIBIT 1



Date4/22/2016		Reporting Month2014-01		
	Carrier I	information		
Company Name	Telrite Corporation dba Life V	Vireless		
Company Address	4113 Monticello St Covington	, GA 30014		
Telephone / Fax	678-202-0830/678-202-1362			
Vendor Number				
Classification Please Circle One	ILEC CLEC C	ellular		
	Monthly Ac	cess Line Data		
Total Access I	Lines in Service	41,019		
2. Surcharge Per Access Line				
3. Amount of Su	3. Amount of Surcharge Remitted to Kentucky USF\$3,281.52			
4. Number of Ac	cess Lines Receiving Lifeline Support	39,951		
5. Amount of Re	imbursement Requested from Kentucky U	JSF\$139,828.50		
		ure Block		
I hereby attest that the i	nformation reported herein is true and ac	curate to the best of my knowledge.		
Company Official	Title (Printed)	Company Official(Signed)		
Make check payable		Send a copy of this report to:		

Make check payable to: "Kentucky State Treasurer" and send with this report to:

Finance and Administration Cabinet ATTN: KY USF 702 Capital Ave. Capitol Annex, Room 488A Frankfort, KY 40601



Date4/22/2016	Reporting	ng Month2014-02
	Carrier Information	
Company Name	Telrite Corporation dba Life Wireless	
Company Address	4113 Monticello St Covington, GA 3001	4
Telephone / Fax	678-202-0830/678-202-1362	
Vendor Number		
Classification Please Circle One	ILEC CLEC Cellular	PCS
	Monthly Access Line Dat	a
Total Access I	Lines in Service	38,870
2. Surcharge Per	Access Line	\$0.08
3. Amount of Su	rcharge Remitted to Kentucky USF	\$_3,108.60
4. Number of Ac	ccess Lines Receiving Lifeline Support	37,743
5. Amount of Re	imbursement Requested from Kentucky USF	\$_132,100.50
	Signature Block	
-	information reported herein is true and accurate to the b	
Company Official	Title(Printed)	Company Official(Signed)
Make check payable State Treasurer" and s		Send a copy of this report to:

211 Sower Blvd. P.O. Box 615

Frankfort, KY 40602

ATTN: Jim Stevens

Kentucky Public Service Commission

Capitol Annex, Room 488A Frankfort, KY 40601

Finance and Administration Cabinet

report to:

ATTN: KY USF

702 Capital Ave.



Date4/22/2016		Reporting Month20	14-03	
	Carrier I	nformation		
Company Name	Telrite Corporation dba Life W	/ireless		
Company Address	4113 Monticello St Covington	, GA 30014		
Telephone / Fax	678-202-0830/678-202-1362			
Vendor Number				
Classification Please Circle One	ILEC CLEC CE	ellular		
	Monthly Acc	cess Line Data		
Total Access I	Lines in Service	37,609		
2. Surcharge Per Access Line				
3. Amount of Su	3. Amount of Surcharge Remitted to Kentucky USF\$_3,008.72			
4. Number of Ac	cess Lines Receiving Lifeline Support	36,555		
5. Amount of Re	imbursement Requested from Kentucky U	JSF\$_127,942.:	50	
		ire Block		
I hereby attest that the i	nformation reported herein is true and acc	curate to the best of my knowledge.		
Company Official	Title (Printed)	Company Official	(Signed)	
Make check payable		Send a copy	y of this report to:	

Finance and Administration Cabinet ATTN: KY USF 702 Capital Ave. Capitol Annex, Room 488A Frankfort, KY 40601



Date4/22/2016		Reporting Month2014-04
	Carrier Inf	Cormation
	Carror III	
Company Name	Telrite Corporation dba Life Wi	reless
Company Address	4113 Monticello St Covington,	GA 30014
Telephone / Fax	678-202-0830/678-202-1362	
Vendor Number		
Classification Please Circle One	ILEC CLEC Cell	ular PCS
	Monthly Acce	ess Line Data
1. Total Access I	ines in Service	37,084
2. Surcharge Per	Access Line	\$0.08
3. Amount of Su	charge Remitted to Kentucky USF	\$_2,966.72
4. Number of Ac	cess Lines Receiving Lifeline Support	35,996
5. Amount of Re	imbursement Requested from Kentucky US	\$F\$_125,986.00
	Signature	e Block
I hereby attest that the i	nformation reported herein is true and accu	rate to the best of my knowledge.
Company Official	Title (Printed)	Company Official(Signed)
Make check payable		Send a copy of this report to:

Finance and Administration Cabinet ATTN: KY USF 702 Capital Ave.

Capitol Annex, Room 488A Frankfort, KY 40601



Date4/22/2016		Reporting Month2014-05
	Carrier Int	ormation
Company Name	Telrite Corporation dba Life Wi	reless
Company Address	4113 Monticello St Covington,	GA 30014
Telephone / Fax	678-202-0830/678-202-1362	
Vendor Number		
Classification Please Circle One	ILEC CLEC Cell	lular PCS
	Monthly Acce	ess Line Data
Total Access I	ines in Service	37,191
2. Surcharge Per	Access Line	\$0.08
3. Amount of Sur	charge Remitted to Kentucky USF	\$_2,975.28
4. Number of Ac	cess Lines Receiving Lifeline Support	36,198
5. Amount of Re	imbursement Requested from Kentucky US	\$F\$_126,693.00
	Signatur	e Block
I hereby attest that the i	nformation reported herein is true and accu	rate to the best of my knowledge.
Company Official	Title (Printed)	Company Official(Signed)
Make check payable state Treasurer" and		Send a copy of this report to:

Finance and Administration Cabinet ATTN: KY USF 702 Capital Ave.

Capitol Annex, Room 488A Frankfort, KY 40601



Date4/22/2016		Reporting Month2014	1-06	
	Carrier Ir	nformation		
Company Name	Telrite Corporation dba Life W	/ireless		
Company Address	4113 Monticello St Covington,	GA 30014		
Telephone / Fax	678-202-0830/678-202-1362			
Vendor Number				
Classification Please Circle One	ILEC CLEC Ce	PCS		
	Monthly Acc	eess Line Data		
Total Access I	Lines in Service	38,619		
2. Surcharge Per Access Line				
3. Amount of Su	3. Amount of Surcharge Remitted to Kentucky USF\$_3,089.52			
4. Number of Ac	cess Lines Receiving Lifeline Support	37,647	-	
5. Amount of Re	imbursement Requested from Kentucky U	SF\$_131,764.00		
		re Block		
I hereby attest that the i	nformation reported herein is true and acc	eurate to the best of my knowledge.		
Company Official	Title (Printed)	Company Official	(Signed)	
Make check payable		Send a copy o	of this report to:	

Make check payable to: "Kentucky State Treasurer" and send with this report to:

Finance and Administration Cabinet ATTN: KY USF 702 Capital Ave. Capitol Annex, Room 488A Frankfort, KY 40601



Date4/22/2016	Reporting N	Ionth2014-07	
	Carrier Information		
Company Name	Telrite Corporation dba Life Wireless		
Company Address	4113 Monticello St Covington, GA 30014		
Telephone / Fax	678-202-0830/678-202-1362		
Vendor Number			
Classification Please Circle One	ILEC CLEC Cellular	PCS	
	Monthly Access Line Data		
1. Total Access Lines in Service			
2. Surcharge Per Access Line			
3. Amount of Su	rcharge Remitted to Kentucky USF	\$3,174.32	
4. Number of Ac	cess Lines Receiving Lifeline Support	36,041	
5. Amount of Re	imbursement Requested from Kentucky USF	\$126,143.50	
	Signature Block		
I hereby attest that the i	information reported herein is true and accurate to the best	of my knowledge.	
Company Official		Company Official	
	(Printed)	(Signed)	
Make check payable State Treasurer" and s		Send a copy of this report to:	

Finance and Administration Cabinet

ATTN: KY USF 702 Capital Ave.

Capitol Annex, Room 488A Frankfort, KY 40601



Date4/22/2016		Reporting Month2014-08
	Carrier Infor	notion
	Carrier inform	nation
Company Name	Telrite Corporation dba Life Wire	ess
Company Address	4113 Monticello St Covington, GA	A 30014
Telephone / Fax	678-202-0830/678-202-1362	
Vendor Number		
Classification Please Circle One	ILEC CLEC Cellula	PCS
	Monthly Access	Line Data
Total Access 1	Lines in Service	39,813
2. Surcharge Per	Access Line	\$0.08
3. Amount of Su	rcharge Remitted to Kentucky USF	\$3,185.04
4. Number of Ac	cess Lines Receiving Lifeline Support	38,621
5. Amount of Re	imbursement Requested from Kentucky USF.	\$135,173.50
	Signature B	lock
I hereby attest that the	information reported herein is true and accurat	e to the best of my knowledge.
Company Official	Title	
	(Printed)	(Signed)
Make check payable State Treasurer" and		Send a copy of this report to:

Finance and Administration Cabinet ATTN: KY USF

702 Capital Ave.

report to:

Capitol Annex, Room 488A Frankfort, KY 40601



Date4/22/2016		Reporting Month2014-09
	Carrier Inforr	notion
	Carrier Infor	iauon
Company Name	Telrite Corporation dba Life Wirel	ess
Company Address	4113 Monticello St Covington, GA	x 30014
Telephone / Fax	678-202-0830/678-202-1362	
Vendor Number		
Classification Please Circle One	ILEC CLEC Cellula	r PCS
	Monthly Access	Line Data
1. Total Access 1	Lines in Service	41,977
2. Surcharge Per	Access Line	\$0.08
3. Amount of Su	rcharge Remitted to Kentucky USF	\$3,358.16
4. Number of Ac	cess Lines Receiving Lifeline Support	40,868
5. Amount of Re	imbursement Requested from Kentucky USF	\$143,038.00
	Signature B	lock
I hereby attest that the	information reported herein is true and accurate	e to the best of my knowledge.
Company Official	Title	
	(Printed)	(Signed)
Make check payable State Treasurer" and		Send a copy of this report to:

Finance and Administration Cabinet

ATTN: KY USF 702 Capital Ave.

report to:

Capitol Annex, Room 488A Frankfort, KY 40601



Date4/22/2016	Reporting	g Month2014-10
	Carrier Information	
Company Name	Telrite Corporation dba Life Wireless	
Company Address	4113 Monticello St Covington, GA 30014	4
Telephone / Fax	678-202-0830/678-202-1362	
Vendor Number		
Classification Please Circle One	ILEC CLEC Cellular	PCS
	Monthly Access Line Data	ı
Total Access I	Lines in Service	47,457
2. Surcharge Per	Access Line	\$0.08
3. Amount of Su	rcharge Remitted to Kentucky USF	\$3,796.56
4. Number of Ac	cess Lines Receiving Lifeline Support	46,344
5. Amount of Re	imbursement Requested from Kentucky USF	\$162,204.00
	Signature Block	
I hereby attest that the i	information reported herein is true and accurate to the b	est of my knowledge.
Company Official		
	(Printed)	(Signed)
Make check payable State Treasurer" and s		Send a copy of this report to:

report to:

Finance and Administration Cabinet ATTN: KY USF 702 Capital Ave.

Capitol Annex, Room 488A Frankfort, KY 40601



Date4/22/2016	Reporting	Month2014-11		
	Carrier Information			
Company Name	Telrite Corporation dba Life Wireless			
Company Address	4113 Monticello St Covington, GA 30014			
Telephone / Fax	678-202-0830/678-202-1362			
Vendor Number				
Classification Please Circle One	ILEC CLEC Cellular	PCS		
Monthly Access Line Data				
1. Total Access Lines in Service				
2. Surcharge Per Access Line				
3. Amount of Su	rcharge Remitted to Kentucky USF	\$3,968.00		
4. Number of Access Lines Receiving Lifeline Support48,454				
5. Amount of Reimbursement Requested from Kentucky USF\$169,589.00				
Signature Block				
I hereby attest that the information reported herein is true and accurate to the best of my knowledge.				
Company Official		_Company Official		
(Printed) (Signed)				
Make check payable State Treasurer" and s		Send a copy of this report to:		

Finance and Administration Cabinet

ATTN: KY USF 702 Capital Ave.

Capitol Annex, Room 488A Frankfort, KY 40601



Date4/22/2016_	S Reporting Month	2014-12		
	Carrier Information			
Company Name	Telrite Corporation dba Life Wireless	Telrite Corporation dba Life Wireless		
Company Address	4113 Monticello St Covington, GA 30014			
Telephone / Fax	678-202-0830/678-202-1362			
Vendor Number	r			
Classification Please Circle One	ILEC CLEC Cellular PCS			
Monthly Access Line Data				
1. Total Access	ss Lines in Service52,24	7		
2. Surcharge Pe	Per Access Line	8		
3. Amount of S	Surcharge Remitted to Kentucky USF\$4,17	9.76		
4. Number of Access Lines Receiving Lifeline Support50,950				
5. Amount of Reimbursement Requested from Kentucky USF\$178,325.00				
Signature Block				
I hereby attest that the	ne information reported herein is true and accurate to the best of my knowle	dge.		
Company Official	TitleCompany Offi (Printed)	cial(Signed)		
Make check payable State Treasurer" and		a copy of this report to:		

report to:

Finance and Administration Cabinet ATTN: KY USF 702 Capital Ave.

Capitol Annex, Room 488A Frankfort, KY 40601



Date4/22/2016	Reporting Mo	onth2015-01		
	Carrier Information			
Company Name	Telrite Corporation dba Life Wireless			
Company Address	4113 Monticello St Covington, GA 30014			
Telephone / Fax	678-202-0830/678-202-1362			
Vendor Number				
Classification Please Circle One	ILEC CLEC Cellular Po	CS		
Monthly Access Line Data				
1. Total Access Lines in Service				
2. Surcharge Per Access Line				
3. Amount of Surcharge Remitted to Kentucky USF\$3,945.12				
4. Number of Access Lines Receiving Lifeline Support48,049				
5. Amount of Reimbursement Requested from Kentucky USF\$168,171.50				
Signature Block				
I hereby attest that the information reported herein is true and accurate to the best of my knowledge.				
Company Official		company Official		
(Printed) (Signed)				
Make check payable State Treasurer" and s		Send a copy of this report to:		

Finance and Administration Cabinet

ATTN: KY USF 702 Capital Ave.

Capitol Annex, Room 488A Frankfort, KY 40601



Pate4/22/2016		Reporting Month2015-02	
	Carrier Info	rmation	
Company Name	Telrite Corporation dba Life Wireless		
Company Address	4113 Monticello St Covington, GA 30014		
Telephone / Fax	678-202-0830/678-202-1362		
Vendor Number			
Classification Please Circle One	ILEC CLEC Cellul	lar PCS	
	Monthly Access	s Line Data	
Total Access I	ines in Service	47,549	
2. Surcharge Per	Access Line	\$0.08	
3. Amount of Surcharge Remitted to Kentucky USF\$3,803.92		\$3,803.92	
4. Number of Access Lines Receiving Lifeline Support46,227			
5. Amount of Re	imbursement Requested from Kentucky USF	\$161,794.50	
	Signature		
I hereby attest that the i	nformation reported herein is true and accura	ite to the best of my knowledge.	
Company Official	Title(Printed)	Company Official(Signed)	
Make check payable		Send a copy of this report to:	

Finance and Administration Cabinet ATTN: KY USF 702 Capital Ave.

Capitol Annex, Room 488A Frankfort, KY 40601



Date4/22/2016	Reporting I	Month2015-03		
	Carrier Information			
Company Name	Telrite Corporation dba Life Wireless			
Company Address	4113 Monticello St Covington, GA 30014			
Telephone / Fax	678-202-0830/678-202-1362			
Vendor Number				
Classification Please Circle One	ILEC CLEC Cellular	PCS		
Monthly Access Line Data				
1. Total Access Lines in Service				
2. Surcharge Per Access Line				
3. Amount of Surcharge Remitted to Kentucky USF\$3,855.60				
4. Number of Access Lines Receiving Lifeline Support46,843				
5. Amount of Reimbursement Requested from Kentucky USF\$163,950.50				
Signature Block				
I hereby attest that the information reported herein is true and accurate to the best of my knowledge.				
Company Official	Title (Printed)	Company Official		
	(Filinea)	(Signed)		
Make check payable State Treasurer" and s		Send a copy of this report to:		

Finance and Administration Cabinet

ATTN: KY USF 702 Capital Ave.

Capitol Annex, Room 488A Frankfort, KY 40601



Pate4/22/2016		Reporting Month2015-04
	Coming Inf	
	Carrier Info	ormation
Company Name	Telrite Corporation dba Life Win	reless
Company Address	4113 Monticello St Covington, C	GA 30014
Telephone / Fax	678-202-0830/678-202-1362	
Vendor Number		
Classification Please Circle One	ILEC CLEC Cellu	ular PCS
	Monthly Acces	ss Line Data
Total Access I	Lines in Service	48,908
2. Surcharge Per	Access Line	\$0.08
3. Amount of Su	rcharge Remitted to Kentucky USF	\$3,912.64
4. Number of Ac	cess Lines Receiving Lifeline Support	46,497
5. Amount of Re	imbursement Requested from Kentucky US	F\$162,739.50
	Signature	Block
I hereby attest that the i	nformation reported herein is true and accur	ate to the best of my knowledge.
Company Official	Title (Printed)	Company Official(Signed)
Make check payable		Send a copy of this report to:

Finance and Administration Cabinet

ATTN: KY USF 702 Capital Ave.

Capitol Annex, Room 488A Frankfort, KY 40601



Date4/22/2016	Reporting	Month2015-05		
	Carrier Information			
Company Name	Telrite Corporation dba Life Wireless			
Company Address	4113 Monticello St Covington, GA 30014			
Telephone / Fax	678-202-0830/678-202-1362			
Vendor Number				
Classification Please Circle One	ILEC CLEC Cellular	PCS		
	Monthly Access Line Data			
Total Access I	Lines in Service	50,367		
2. Surcharge Per	2. Surcharge Per Access Line			
3. Amount of Su	rcharge Remitted to Kentucky USF	\$4,029.36		
4. Number of Ac	cess Lines Receiving Lifeline Support	49,122		
5. Amount of Re	5. Amount of Reimbursement Requested from Kentucky USF\$171,927.00			
	Signature Block			
I hereby attest that the i	information reported herein is true and accurate to the be	st of my knowledge.		
Company Official		_Company Official		
	(Printed)	(Signed)		
Make check payable State Treasurer" and		Send a copy of this report to:		

Finance and Administration Cabinet ATTN: KY USF 702 Capital Ave.

Capitol Annex, Room 488A Frankfort, KY 40601



Date4/22/2016	Reporting	g Month2015-06		
	Carrier Information			
Company Name	Telrite Corporation dba Life Wireless			
Company Address	4113 Monticello St Covington, GA 30014	1		
Telephone / Fax	678-202-0830/678-202-1362			
Vendor Number				
Classification Please Circle One	ILEC CLEC Cellular	PCS		
	Monthly Access Line Data			
Total Access I	Lines in Service	53,191		
2. Surcharge Per	Access Line	\$0.08		
3. Amount of Su	rcharge Remitted to Kentucky USF	\$4,255.28		
4. Number of Ac	cess Lines Receiving Lifeline Support	51,238		
5. Amount of Re	5. Amount of Reimbursement Requested from Kentucky USF\$179,333.00			
	Signature Block			
I hereby attest that the i	information reported herein is true and accurate to the be	est of my knowledge.		
Company Official				
	(Printed)	(Signed)		
Make check payable State Treasurer" and		Send a copy of this report to:		

Finance and Administration Cabinet ATTN: KY USF

702 Capital Ave.

Capitol Annex, Room 488A Frankfort, KY 40601



eate4/22/2016_		Reporting Month2015-07
	Carrier In	nformation
Company Name	Telrite Corporation dba Life W	ireless
Company Address		
Telephone / Fax	4113 Monticello St Covington, 678-202-0830/678-202-1362	GA 30014
Vendor Number	076-202-0630/076-202-1302	
Classification		
Please Circle One	ILEC CLEC Ce	llular PCS
	Monthly Acc	ess Line Data
1. Total Access	Lines in Service	54,805
2. Surcharge Per	Access Line	\$0.08
3. Amount of Su	rcharge Remitted to Kentucky USF	\$4,384.40
4. Number of Ac	ccess Lines Receiving Lifeline Support	53,372
5. Amount of Re	imbursement Requested from Kentucky U	SF\$186,802.00
	Signatu	re Block
I hereby attest that the	information reported herein is true and acc	
Company Official	Title (Printed)	Company Official(Signed)
	((Signed)
Make check payable	to: "Kentucky	Send a copy of this report to:

Finance and Administration Cabinet ATTN: KY USF 702 Capital Ave. Capitol Annex, Room 488A Frankfort, KY 40601



Date4/22/2016_	Reporting	ng Month2015-08			
	Carrier Information				
Company Name	Company Name Telrite Corporation dba Life Wireless				
Company Address	4113 Monticello St Covington, GA 3001	14			
Telephone / Fax	678-202-0830/678-202-1362				
Vendor Number					
Classification Please Circle One	ILEC CLEC Cellular	PCS			
	Monthly Access Line Da	ta			
Total Access	Lines in Service	57,954			
2. Surcharge Per	Access Line	\$0.08			
3. Amount of Su	urcharge Remitted to Kentucky USF	\$4,636.32			
4. Number of A	ccess Lines Receiving Lifeline Support	56,203			
5. Amount of Ro	5. Amount of Reimbursement Requested from Kentucky USF\$196,710.50				
	Signature Block				
I hereby attest that the	information reported herein is true and accurate to the	best of my knowledge.			
Company Official	Title(Printed)	Company Official(Signed)			
Make check payable State Treasurer" and		Send a copy of this report to:			

Finance and Administration Cabinet ATTN: KY USF

702 Capital Ave. Capitol Annex, Room 488A Frankfort, KY 40601



Date4/22/2016_	6 Reporting Month2015-09		
	Carrier Information		
Company Name	Telrite Corporation dba Life Wireless		
Company Address	4113 Monticello St Covington, GA 30014		
Telephone / Fax	678-202-0830/678-202-1362		
Vendor Number	r Table 1		
Classification Please Circle One	ILEC CLEC Cellular PCS		
	Monthly Access Line Data		
1. Total Access	ss Lines in Service		
2. Surcharge Pe	Per Access Line		
3. Amount of Su	Surcharge Remitted to Kentucky USF\$4,691.60		
4. Number of A	Access Lines Receiving Lifeline Support56,958		
5. Amount of Reimbursement Requested from Kentucky USF\$199,353.00			
	Signature Block		
I hereby attest that the	ne information reported herein is true and accurate to the best of my knowledge.		
Company Official	TitleCompany Official(Signed)		
Make check payable State Treasurer" and		o:	

Finance and Administration Cabinet ATTN: KY USF

702 Capital Ave.

report to:

Capitol Annex, Room 488A Frankfort, KY 40601



Date4/22/2016_	F	Reporting Month2015-10			
	Carrier Inform	ation			
Company Name	Telrite Corporation dba Life Wirele	ess			
Company Address	4113 Monticello St Covington, GA	30014			
Telephone / Fax	678-202-0830/678-202-1362				
Vendor Number					
Classification Please Circle One	ILEC CLEC Cellular	PCS			
	Monthly Access L	ine Data			
1. Total Access l	Lines in Service	60.961			
2. Surcharge Per	Access Line	\$0.08			
3. Amount of Su	rcharge Remitted to Kentucky USF	\$4,876.88			
4. Number of Ac	ccess Lines Receiving Lifeline Support	59,360			
5. Amount of Re	5. Amount of Reimbursement Requested from Kentucky USF\$207,760.00				
	Signature Blo	ock			
I hereby attest that the	information reported herein is true and accurate	to the best of my knowledge.			
Company Official	Title(Printed)	Company Official(Signed)			
	Make check payable to: "Kentucky State Treasurer" and send with this Send a copy of this report to:				

ATTN: KY USF

702 Capital Ave.

Finance and Administration Cabinet

Capitol Annex, Room 488A Frankfort, KY 40601 Frankfort, KY 40602

ATTN: Jim Stevens

211 Sower Blvd.

P.O. Box 615

Kentucky Public Service Commission



Date4/22/2016	Reporting M	Ionth2015-11		
	Carrier Information			
Company Name	Telrite Corporation dba Life Wireless			
Company Address	4113 Monticello St Covington, GA 30014			
Telephone / Fax	678-202-0830/678-202-1362			
Vendor Number				
Classification Please Circle One	ILEC CLEC Cellular	PCS		
	Monthly Access Line Data			
Total Access I	Lines in Service	62,551		
2. Surcharge Per	Access Line	\$0.08		
3. Amount of Su	rcharge Remitted to Kentucky USF	\$5,004.08		
4. Number of Ac	cess Lines Receiving Lifeline Support	60,849		
5. Amount of Re	5. Amount of Reimbursement Requested from Kentucky USF\$212,971.50			
	Signature Block			
I hereby attest that the i	information reported herein is true and accurate to the best	of my knowledge.		
Company Official		Company Official		
	(Printed)	(Signed)		
Make check payable State Treasurer" and s		Send a copy of this report to:		

Finance and Administration Cabinet

ATTN: KY USF 702 Capital Ave.

Capitol Annex, Room 488A Frankfort, KY 40601



Date	4/22/2016			
		Carrier Information		
	Company Name	Telrite Corporation dba Life Wireless		
Co	ompany Address	4113 Monticello St Covington, GA 30014		
,	Telephone / Fax	678-202-0830/678-202-1362		
	Vendor Number			
	ification e Circle One	ILEC CLEC Cellular PCS		
		Monthly Access Line Data		
1.	Total Access I	Lines in Service63,810		
2.	Surcharge Per	Access Line		
3.	Amount of Su	rcharge Remitted to Kentucky USF\$5,104.80		
4.	Number of Ac	ccess Lines Receiving Lifeline Support61,985		
5.	5. Amount of Reimbursement Requested from Kentucky USF\$216,947.50			
		Signature Block		
I here	eby attest that the i	information reported herein is true and accurate to the best of my knowledge.		
Comp	pany Official	TitleCompany Official(Signed)		
) / 1	111.1			
	check payable Treasurer" and			

report to:
Finance and Administration Cabinet

ATTN: KY USF 702 Capital Ave.

Capitol Annex, Room 488A Frankfort, KY 40601



Date4/22/2016	Reporting	Month2016-01		
	Carrier Information			
Company Name	Telrite Corporation dba Life Wireless			
Company Address	4113 Monticello St Covington, GA 30014			
Telephone / Fax	678-202-0830/678-202-1362			
Vendor Number				
Classification Please Circle One	ILEC CLEC Cellular	PCS		
	Monthly Access Line Data			
Total Access I	Lines in Service	61,344		
2. Surcharge Per	Access Line	\$0.08		
3. Amount of Su	rcharge Remitted to Kentucky USF	\$4,907.52		
4. Number of Ac	ccess Lines Receiving Lifeline Support	59,626		
5. Amount of Re	5. Amount of Reimbursement Requested from Kentucky USF\$208,691.00			
	Signature Block			
I hereby attest that the i	information reported herein is true and accurate to the bes	et of my knowledge.		
Company Official		_Company Official		
	(Printed)	(Signed)		
Make check payable State Treasurer" and s		Send a copy of this report to:		

Finance and Administration Cabinet

ATTN: KY USF 702 Capital Ave.

Capitol Annex, Room 488A Frankfort, KY 40601



Date4/22/2016	Reporting Month	2016-02
	Carrier Information	
Company Name	Telrite Corporation dba Life Wireless	
Company Address	4113 Monticello St Covington, GA 30014	
Telephone / Fax	678-202-0830/678-202-1362	
Vendor Number		
Classification Please Circle One	ILEC CLEC Cellular PCS	
	Monthly Access Line Data	
Total Access I	Lines in Service	2
2. Surcharge Per	er Access Line <u>\$0.0</u>	08
3. Amount of Su	urcharge Remitted to Kentucky USF\$4,88	88.96
4. Number of Ac	ccess Lines Receiving Lifeline Support59,272	<u>.</u>
5. Amount of Re	eimbursement Requested from Kentucky USF \$207.	452.00
	Signature Block	
I hereby attest that the i	information reported herein is true and accurate to the best of my knowle	dge.
Company Official	TitleCompany Offi (Printed)	(Signed)
Make check payable State Treasurer" and		a copy of this report to:

Finance and Administration Cabinet

ATTN: KY USF 702 Capital Ave.

Capitol Annex, Room 488A Frankfort, KY 40601



Date: 3/8/2	2016		Reporting Month:	2016-02
		Carrier Information		
Company Name	TELRITE CORPORATION DE	3A LIFE WIRELESS		
Company Address	4113 MONTICELLO ST COVI	NGTON, GA 30014		
Telephone/ Fax	678-202-0830 / 678-202-1362			
Vendor Number				
Classification Please Circle One	ILEC	CLEC	CELLULAR PO	CS
	N	Monthly Access Line Da	ata	
1. Total Access Line	es in Service			2
2. Surcharge Per Ac	ess Line		\$0.08	3
3. Amount of Surch	arge Remitted to Kentucky USF		\$4,888.	96
4. Number of Acces	ss Lines Receiving Lifeline Support		59,27	2
5. Amount of Reimbursement requested from Kentucky USF			\$207,452	2.00
		Signature Block		
I hereby attest that t	he information reported herein is true		of my knowledge.	
Company Official	Title (Printed)		- ·	igned)
Maka ahaak Dayahi	a to: "Vantualzy Stata		Send a copy of this report to).
Treasurer" and send	e to: "Kentucky State I with this report to:		bend a copy of this report to	••
Finance and Admin	-		Kentucky Public Service Co	ommission
ATTN: KY USF			ATTN: Excutive Director	
702 Capital Ave.			211 Sower Blvd.	
Capitol Annex, Roo	m 488A		P.O. Box 615	

Frankfort, KY 40602

Frankfort, KY 40601



Date:	4/11/2016	-		Reporting Month:	2016-03
			Carrier Information		
Company N	Name	TELRITE CORPORATION I	DBA LIFE WIRELESS		
Company A	Address	4113 MONTICELLO ST CO	VINGTON, GA 30014		
Telephone/	/ Fax	678-202-0830 / 678-202-1362	2		
Vendor Nu	ımber				
c				_	
Classificati Please Circ		ILEC	CLEC	CELLULAR PO	CS
riedse on	CIE OTIC	ILLO	CLLC	CLLCLAIN	
			Monthly Access Line Data		
1. Total Ac	ccess Lines in S	Service		19,98	6
2. Surcharg	ge Per Acess Li	ine		\$0.08	3
3. Amount	of Surcharge F	Remitted to Kentucky USF		. \$1,598.	.88
4. Number	of Access Line	es Receiving Lifeline Support.		. 19,86	2
5. Amount	of Reimburser	nent requested from Kentucky	USF	\$69,517	7.00
			Signature Block		
I hereby att	test that the inf	ormation reported herein is tru-	e and accurate to the best of my	y knowledge.	
Company Of	official	Title	Comp	· · · · · ·	
		(Printed)		(S	Signed)
	ck Payable to: ".' ' and send with			Send a copy of this report to):
	nd Administratio	*		Kentucky Public Service Co	ommission
ATTN: KY				ATTN: Excutive Director	
702 Capital	al Ave.			211 Sower Blvd.	

P.O. Box 615

Frankfort, KY 40602

Capitol Annex, Room 488A

Frankfort, KY 40601



Date: 4/11/201	6		Reporting Month:	2016-03
		Carrier Information		
Company Name	TELRITE CORPORATION D	BA LIFE WIRELESS		
Company Address	4113 MONTICELLO ST COV	INGTON, GA 30014		
Telephone/ Fax	678-202-0830 / 678-202-1362			_
Vendor Number				
Classification Please Circle One	ILEC	CLEC	CELLULAR PC	S
	-			-
]	Monthly Access Line Data		
1. Total Access Lines in	Service	•	45,267	,
2. Surcharge Per Acess 1	Line		\$0.14	
_	Remitted to Kentucky USF			38
4. Number of Access Lin	nes Receiving Lifeline Support		. 43,796	
	ement requested from Kentucky U			.00
		Signature Block		
I hereby attest that the ir	nformation reported herein is true	•	y knowledge.	
Company Official	Title	Come	pany Official	
Company Official	(Printed)	Comp	· · ·	gned)
			[
Make check Payable to:			Send a copy of this report to:	
Treasurer" and send with	•		W	
Finance and Administra	tion Cabinet		Kentucky Public Service Con	mmission
ATTN: KY USF			ATTN: Excutive Director	
702 Capital Ave.			211 Sower Blvd.	
Capitol Annex, Room 48	88A		P.O. Box 615	

Frankfort, KY 40601

Frankfort, KY 40602

EXHIBIT 2

	Δ	В	С	D	E	F	G	Н	ı	.I	к	1	М	N	0	Р
	Company Name:		TELRITE CORPORATION		_	Submission Date:		2/6/2014			IX.				Ŭ	+ -
2	Company Name:		TEERITE CORT ORATION			Data Month:		January 2014								+
	Mailing Address:		4113 MONTICELLO ST			Type of filing:		January 2014								+
4	mailing Address.		COVINGTON, GA 30014			✓ Original	Revisio									+
	Contact Name:		Caitlyn Lumpkin			U Original	I Kevisioi	<u>"</u> 								+
	Telephone Number:		678-389-6024													+
7	Fax Number:		770-594-3878													1
8	E-mail Address:		cmmurp@cgminc.com													+
9							LI	FELINE NON-T	RIBAL		LIFELINE	TRIBAL			TRIE	BAL LINI
10	(1)	(2)	(3)	(4)	(5)	(6)										1
11	USAC	SERVING	499 FILER ID		ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	16,316	\$9.25	\$150,923.00			\$0.00	\$150,923			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	17,787	\$9.25	\$164,529.75			\$0.00	\$164,530			
15	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	311	\$9.25	\$2,876.75			\$0.00	\$2,877			
16	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	96,749	\$9.25	\$894,928.25			\$0.00	\$894,928			
17	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	2,519	\$9.25	\$23,300.75			\$0.00	\$23,301			
18	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	73,633	\$9.25	\$681,105.25			\$0.00	\$681,105			
19	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	16,585	\$9.25	\$153,411.25			\$0.00	\$153,411			
20	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	2,732	\$9.25	\$25,271.00			\$0.00	\$25,271			
21	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	39,951	\$9.25	\$369,546.75			\$0.00	\$369,547			
22	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	19,028	\$9.25	\$176,009.00			\$0.00	\$176,009			
23	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	8,242	\$9.25	\$76,238.50			\$0.00	\$76,239			
24	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	3,788	\$9.25	\$35,039.00			\$0.00	\$35,039			
25	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	32,784	\$9.25	\$303,252.00			\$0.00	\$303,252			
26	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	22,745	\$9.25	\$210,391.25			\$0.00	\$210,391			
27	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	36,315	\$9.25	\$335,913.75			\$0.00	\$335,914			
28	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	5,748	\$9.25	\$53,169.00			\$0.00	\$53,169			
29	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	53,291	\$9.25	\$492,941.75			\$0.00	\$492,942			
30	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION		\$9.25	\$0.00	5,248	\$34.25	\$179,744.00	\$179,744			
31	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	638	\$9.25	\$5,901.50			\$0.00	\$5,902			
32	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	176,597	\$9.25	\$1,633,522.25			\$0.00	\$1,633,522			
33	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	11,914	\$9.25	\$110,204.50			\$0.00	\$110,205			
34	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	38,728	\$9.25	\$358,234.00			\$0.00	\$358,234			
35	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	554	\$9.25	\$5,124.50			\$0.00	\$5,125			
36	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	242	\$9.25	\$2,238.50			\$0.00	\$2,239			
37	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	1,098	\$9.25	\$10,156.50			\$0.00	\$10,157			
38	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	8,823	\$9.25	\$81,612.75			\$0.00	\$81,613			
39	Subtotals						687,118		\$6,355,841.50	5,248		\$179,744.00	\$6,535,589.00			

	Α	В	С	D	E	F	G	Н	ı	J	К	L	М	N	0	Р
1	Company Name:		TELRITE CORPORATION		_	Submission Date:		12/5/2014				_				
2	company rame.					Data Month:		November 2014								
	Mailing Address:		4113 MONTICELLO ST			Type of filing:		November 2014								
4	g		COVINGTON, GA 30014			✓ Original	☐ Revision	1								
5	Contact Name:		Caitlyn Lumpkin			Original		<u>-</u>								
6	Telephone Number:		678-389-6024													
7	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LI	FELINE NON-T	RIBAL		LIFELINE	TRIBAL			TRIB	BAL LINI
10	(1)	(2)	(3)	(4)	(5)	(6)										
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	18,895	\$9.25	\$174,778.75			\$0.00	\$174,779			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	18,600	\$9.25	\$172,050.00			\$0.00	\$172,050			
15	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	7,434	\$9.25	\$68,764.50			\$0.00	\$68,765			
16	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	74,798	\$9.25	\$691,881.50			\$0.00	\$691,882			
17	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	3,852	\$9.25	\$35,631.00			\$0.00	\$35,631			
18	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	42,630	\$9.25	\$394,327.50			\$0.00	\$394,328			
19	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	9,647	\$9.25	\$89,234.75			\$0.00	\$89,235			
20	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	1,549	\$9.25	\$14,328.25			\$0.00	\$14,328			
21	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	48,454	\$9.25	\$448,199.50			\$0.00	\$448,200			
22	143028229	279040 189014	823594	N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	24,307	\$9.25	\$224,839.75			\$0.00	\$224,840			
23	143028229	109014	823594	N N	LI ONLY	TELRITE CORPORATION	3,144 2,070	\$9.25	\$29,082.00			\$0.00	\$29,082			
25	143028229	319039	823594	N N	LI ONLY	TELRITE CORPORATION	20,974	\$9.25	\$19,147.50			\$0.00	\$19,148			
26	143028229 143028229	369016	823594 823594	N N	LI ONLY LI ONLY	TELRITE CORPORATION	27,586	\$9.25 \$9.25	\$194,009.50 \$255,170.50			\$0.00 \$0.00	\$194,010 \$255,171			
27	143028229	429015	823594 823594	N N	LI ONLY	TELRITE CORPORATION	23,067	\$9.25	\$255,170.50			\$0.00	\$255,171			
28	143028229	389017	823594	N N	LI ONLY	TELRITE CORPORATION	584	\$9.25	\$5,402.00			\$0.00	\$5,402			
29	143028229	559019	823594	N N	LI ONLY	TELRITE CORPORATION	2,986	\$9.25	\$27,620.50			\$0.00	\$27,621			
30	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	41,096	\$9.25	\$380.138.00			\$0.00	\$380,138			
31	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION	72	\$9.25	\$666.00	3,109	\$34.25	\$106,483.25	\$107,149			
32	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	14,760	\$9.25	\$136,530.00	2,.30	Ţ311 <u>2</u> 0	\$0.00	\$136,530			
33	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	222,462	\$9.25	\$2,057,773.50			\$0.00	\$2,057,774			
34	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	7,661	\$9.25	\$70,864.25			\$0.00	\$70,864			
35	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	28,706	\$9.25	\$265,530.50			\$0.00	\$265,531			
36	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	9,862	\$9.25	\$91,223.50			\$0.00	\$91,224			
37	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	1,464	\$9.25	\$13,542.00			\$0.00	\$13,542			
38	143028229	649004	823594	N	LI ONLY	TELRITE CORPORATION	1,009	\$9.25	\$9,333.25			\$0.00	\$9,333			
39	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	1,004	\$9.25	\$9,287.00			\$0.00	\$9,287			
40	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	2,697	\$9.25	\$24,947.25			\$0.00	\$24,947			
41	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	17,902	\$9.25	\$165,593.50			\$0.00	\$165,594			
42	Subtotals						679,272		\$6,283,266.00	3,109		\$106,483.25	\$6,389,755.00			

	Q	R	S	Т	U	V	W	l x	ΙΥ	Z
1										_
2										
3										
4										
5										
6										
7										
8										
9	UP		TL	S			ETC PA	YMEN	т	
10										
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$174,779	\$0	\$0	\$174,779	
14		\$0.00			\$0	\$172,050	\$0	\$0	\$172,050	
15		\$0.00			\$0	\$68,765	\$0	\$0	\$68,765	
16		\$0.00			\$0	\$691,882	\$0	\$0	\$691,882	
17		\$0.00			\$0	\$35,631	\$0	\$0	\$35,631	
18		\$0.00			\$0	\$394,328	\$0	\$0	\$394,328	
19		\$0.00			\$0	\$89,235	\$0	\$0	\$89,235	
20		\$0.00			\$0	\$14,328	\$0	\$0	\$14,328	
21		\$0.00			\$0	\$448,200	\$0	\$0	\$448,200	
22		\$0.00			\$0	\$224,840	\$0	\$0	\$224,840	
23		\$0.00			\$0	\$29,082	\$0	\$0	\$29,082	
24		\$0.00			\$0	\$19,148	\$0	\$0	\$19,148	
25		\$0.00			\$0	\$194,010	\$0	\$0	\$194,010	
26		\$0.00			\$0	\$255,171	\$0	\$0	\$255,171	
27		\$0.00			\$0	\$213,370	\$0	\$0	\$213,370	
28		\$0.00			\$0	\$5,402	\$0	\$0	\$5,402	
29		\$0.00			\$0	\$27,621	\$0	\$0	\$27,621	
30		\$0.00			\$0	\$380,138	\$0	\$0	\$380,138	
31		\$0.00			\$0	\$107,149	\$0	\$0	\$107,149	
32		\$0.00			\$0	\$136,530	\$0	\$0	\$136,530	
33		\$0.00			\$0	\$2,057,774	\$0	\$0	\$2,057,774	
34		\$0.00			\$0	\$70,864	\$0	\$0	\$70,864	
35		\$0.00			\$0	\$265,531	\$0	\$0	\$265,531	
36		\$0.00			\$0	\$91,224	\$0	\$0	\$91,224	
37		\$0.00			\$0	\$13,542	\$0	\$0	\$13,542	
38		\$0.00			\$0	\$9,333	\$0	\$0	\$9,333	
39		\$0.00			\$0	\$9,287	\$0	\$0	\$9,287	
40		\$0.00			\$0	\$24,947	\$0	\$0	\$24,947	
41		\$0.00			\$0	\$165,594	\$0	\$0	\$165,594	
42		\$0.00			\$0.00	\$6,389,755.00	\$0.00	\$0.00	\$6,389,755.00	

1		Q	R	S	Ιт	Ιυ	V	l w	l x	ΙΥ	Z
Q	1			-							
3											
A											
S Common											
Common											
The color of the											
9 UP											
Total Interest I	8										
Total Interest Total Interest Total Interest Interes	9	ÜP		TL:	S			FTC PA	YMEN	т	
The column The	10				Ĭ	1				•	
Table	11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
13	12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE				Comments
144 \$0.00 \$0 \$164,530 \$0 \$164,530 15 \$0.00 \$0 \$2,877 \$0 \$0 \$2,877 16 \$0.00 \$0 \$9,894,928 \$0 \$0 \$894,928 17 \$0.00 \$0 \$0 \$23,301 \$0 \$0 \$894,928 18 \$0.00 \$0 \$0 \$23,301 \$0 \$0 \$23,301 19 \$0.00 \$0 \$0 \$681,105 \$0 \$0 \$681,105 19 \$0.00 \$0 \$0 \$153,411 \$0 \$0 \$153,411 20 \$0.00 \$0 \$25,271 \$0 \$0 \$25,271 21 \$0.00 \$0 \$0 \$26,271 \$0 \$0 \$25,271 21 \$0.00 \$0 \$0 \$369,547 \$0 \$0 \$369,647 22 \$0.00 \$0 \$0 \$76,239 \$0 \$0 \$76,239 <td< td=""><td>13</td><td></td><td>\$0.00</td><td></td><td></td><td>\$0</td><td>\$150,923</td><td>\$0</td><td></td><td></td><td></td></td<>	13		\$0.00			\$0	\$150,923	\$0			
15 \$0.00 \$0 \$2,877 \$0 \$0 \$2,877 16 \$0.00 \$0 \$94,928 \$0 \$0 \$894,928 17 \$0.00 \$0 \$23,301 \$0 \$0 \$23,301 18 \$0.00 \$0 \$681,105 \$0 \$681,105 19 \$0.00 \$0 \$153,411 \$0 \$0 \$153,411 20 \$0.00 \$0 \$25,271 \$0 \$0 \$25,271 21 \$0.00 \$0 \$05,695,47 \$0 \$0 \$25,271 21 \$0.00 \$0 \$369,547 \$0 \$0 \$369,547 22 \$0.00 \$0 \$176,009 \$0 \$0 \$176,009 23 \$0.00 \$0 \$76,239 \$0 \$0 \$76,239 24 \$0.00 \$0 \$335,039 \$0 \$0 \$303,3252 26 \$0.00 \$0 \$335,314 \$0 \$0 \$303,514<	14		\$0.00			\$0	\$164,530	\$0	\$0		
16 \$0.00 \$0 \$894,928 \$0 \$0 \$894,928 17 \$0.00 \$0 \$23,301 \$0 \$0 \$23,301 18 \$0.00 \$0 \$681,105 \$0 \$0 \$681,105 19 \$0.00 \$0 \$0 \$153,411 \$0 \$0 \$153,411 20 \$0.00 \$0 \$25,271 \$0 \$0 \$25,271 21 \$0.00 \$0 \$369,547 \$0 \$0 \$369,547 22 \$0.00 \$0 \$176,009 \$0 \$0 \$176,009 23 \$0.00 \$0 \$35,039 \$0 \$0 \$360,09 24 \$0.00 \$0 \$330,325 \$0 \$350,099 25 \$0.00 \$0 \$303,252 \$0 \$0 \$330,252 26 \$0.00 \$0 \$335,914 \$0 \$0 \$335,914 27 \$0.00 \$0 \$335,914 \$0 \$0 <td>15</td> <td></td> <td>\$0.00</td> <td></td> <td></td> <td>\$0</td> <td>\$2,877</td> <td>\$0</td> <td>\$0</td> <td></td> <td></td>	15		\$0.00			\$0	\$2,877	\$0	\$0		
17 \$0.00 \$0 \$23,301 \$0 \$0 \$23,301 18 \$0.00 \$0 \$681,105 \$0 \$0 \$681,105 19 \$0.00 \$0 \$153,411 \$0 \$0 \$153,411 20 \$0.00 \$0 \$25,271 \$0 \$0 \$25,271 21 \$0.00 \$0 \$369,547 \$0 \$0 \$369,547 22 \$0.00 \$0 \$176,009 \$0 \$0 \$176,009 23 \$0.00 \$0 \$35,039 \$0 \$0 \$76,239 24 \$0.00 \$0 \$35,039 \$0 \$0 \$35,039 25 \$0.00 \$0 \$335,039 \$0 \$0 \$303,252 26 \$0.00 \$0 \$0 \$335,914 \$0 \$0 \$335,914 27 \$0.00 \$0 \$335,914 \$0 \$0 \$335,914 28 \$0.00 \$0 \$335,914 \$0	16		\$0.00			\$0	\$894,928	\$0	\$0		
19 \$0.00 \$0 \$153,411 \$0 \$0 \$0 \$153,411 \$0 \$0 \$0 \$153,411 \$0 \$0 \$0 \$153,411 \$0 \$0 \$0 \$0 \$153,411 \$0 \$0 \$0 \$0 \$25,271 \$0 \$0.00 \$0 \$0 \$369,547 \$0 \$0 \$0 \$369,547 \$0 \$0 \$0 \$369,547 \$0 \$0 \$0 \$369,547 \$0 \$0 \$0 \$369,547 \$0 \$0 \$0 \$176,009 \$0 \$0 \$0 \$176,009 \$0 \$0 \$0 \$176,009 \$0 \$0 \$0 \$176,009 \$0 \$0 \$0 \$176,009 \$0 \$0 \$0 \$176,009 \$0 \$0 \$0 \$176,009 \$0 \$0 \$0 \$176,009 \$0 \$0 \$0 \$176,009 \$0 \$0 \$0 \$176,009 \$0 \$0 \$0 \$176,009 \$0 \$0 \$0 \$176,009 \$0 \$0 \$0 \$176,009 \$0 \$0 \$0 \$176,009 \$0 \$0 \$0 \$176,009 \$0 \$0 \$0 \$176,009 \$0 \$0 \$0 \$176,009 \$0 \$0 \$0 \$176,009 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	17		\$0.00			\$0	\$23,301	\$0	\$0		
20 \$0.00 \$0 \$25,271 \$0 \$0 \$25,271 21 \$0.00 \$0 \$369,547 \$0 \$0 \$369,547 22 \$0.00 \$0 \$176,009 \$0 \$0 \$176,009 23 \$0.00 \$0 \$76,239 \$0 \$0 \$76,239 24 \$0.00 \$0 \$335,039 \$0 \$0 \$303,252 25 \$0.00 \$0 \$303,252 \$0 \$0 \$303,252 26 \$0.00 \$0 \$210,391 \$0 \$0 \$210,391 27 \$0.00 \$0 \$335,914 \$0 \$0 \$335,914 28 \$0.00 \$0 \$53,169 \$0 \$0 \$492,942 30 \$0.00 \$0 \$492,942 \$0 \$0 \$492,942 30 \$0.00 \$0 \$0 \$179,744 \$0 \$0 \$179,744 31 \$0.00 \$0 \$0 \$1,633,522<	18		\$0.00			\$0	\$681,105	\$0			
21 \$0.00 \$0 \$369,547 \$0 \$369,547 22 \$0.00 \$0 \$176,009 \$0 \$0 \$176,009 23 \$0.00 \$0 \$76,239 \$0 \$0 \$76,239 24 \$0.00 \$0 \$335,039 \$0 \$0 \$35,039 25 \$0.00 \$0 \$330,3252 \$0 \$0 \$330,252 26 \$0.00 \$0 \$210,391 \$0 \$0 \$210,391 27 \$0.00 \$0 \$335,914 \$0 \$0 \$335,914 28 \$0.00 \$0 \$53,169 \$0 \$0 \$335,914 29 \$0.00 \$0 \$492,942 \$0 \$0 \$492,942 30 \$0.00 \$0 \$179,744 \$0 \$0 \$179,744 31 \$0.00 \$0 \$1,633,522 \$0 \$0 \$1,633,522 32 \$0.00 \$0 \$1,633,522 \$0 \$0 <	19		\$0.00			\$0	\$153,411	\$0	\$0	\$153,411	
22 \$0.00 \$0 \$176,009 \$0 \$176,009 23 \$0.00 \$0 \$176,009 \$0 \$176,009 24 \$0.00 \$0 \$35,039 \$0 \$0 \$35,039 25 \$0.00 \$0 \$303,252 \$0 \$0 \$303,252 26 \$0.00 \$0 \$210,391 \$0 \$0 \$210,391 27 \$0.00 \$0 \$335,914 \$0 \$0 \$335,914 28 \$0.00 \$0 \$53,169 \$0 \$0 \$53,169 29 \$0.00 \$0 \$492,942 \$0 \$0 \$492,942 30 \$0.00 \$0 \$179,744 \$0 \$0 \$179,744 31 \$0.00 \$0 \$1,633,522 \$0 \$0 \$1,633,522 32 \$0.00 \$0 \$1,633,522 \$0 \$0 \$1,0205 34 \$0.00 \$0 \$535,234 \$0 \$0 \$5,125 <td>_</td> <td></td> <td>\$0.00</td> <td></td> <td></td> <td>\$0</td> <td>\$25,271</td> <td>\$0</td> <td>\$0</td> <td>\$25,271</td> <td></td>	_		\$0.00			\$0	\$25,271	\$0	\$0	\$25,271	
23 \$0.00 \$0 \$76,239 \$0 \$0 \$76,239 24 \$0.00 \$0 \$35,039 \$0 \$0 \$35,039 25 \$0.00 \$0 \$303,252 \$0 \$0 \$303,252 26 \$0.00 \$0 \$210,391 \$0 \$0 \$210,391 27 \$0.00 \$0 \$335,914 \$0 \$0 \$335,914 28 \$0.00 \$0 \$53,169 \$0 \$0 \$53,169 29 \$0.00 \$0 \$492,942 \$0 \$0 \$492,942 30 \$0.00 \$0 \$179,744 \$0 \$0 \$179,744 31 \$0.00 \$0 \$6,902 \$0 \$0 \$5,902 32 \$0.00 \$0 \$163,522 \$0 \$0 \$1,633,522 33 \$0.00 \$0 \$110,205 \$0 \$0 \$368,234 35 \$0.00 \$0 \$51,225 \$0 \$0	\rightarrow		\$0.00			\$0	\$369,547	\$0	\$0	\$369,547	
24 \$0.00 \$0 \$35,039 \$0 \$35,039 25 \$0.00 \$0 \$35,039 \$0 \$35,039 26 \$0.00 \$0 \$303,252 \$0 \$0 \$303,252 26 \$0.00 \$0 \$210,391 \$0 \$0 \$210,391 27 \$0.00 \$0 \$335,914 \$0 \$0 \$335,914 28 \$0.00 \$0 \$53,169 \$0 \$0 \$53,169 29 \$0.00 \$0 \$492,942 \$0 \$0 \$492,942 30 \$0.00 \$0 \$179,744 \$0 \$0 \$179,744 31 \$0.00 \$0 \$5,902 \$0 \$0 \$5,902 32 \$0.00 \$0 \$1,633,522 \$0 \$0 \$110,205 34 \$0.00 \$0 \$358,234 \$0 \$0 \$358,234 35 \$0.00 \$0 \$5,125 \$0 \$0 \$5,125	22		\$0.00			\$0	\$176,009	\$0	\$0	\$176,009	
25	$\overline{}$		\$0.00			\$0	\$76,239	\$0	\$0	\$76,239	
26 \$0.00 \$0 \$210,391 \$0 \$00,391 27 \$0.00 \$0 \$335,914 \$0 \$0 \$335,914 28 \$0.00 \$0 \$53,169 \$0 \$0 \$53,169 29 \$0.00 \$0 \$492,942 \$0 \$0 \$492,942 30 \$0.00 \$0 \$179,744 \$0 \$0 \$179,744 31 \$0.00 \$0 \$5,022 \$0 \$0 \$5,902 32 \$0.00 \$0 \$1,633,522 \$0 \$0 \$1,633,522 33 \$0.00 \$0 \$110,205 \$0 \$0 \$110,205 34 \$0.00 \$0 \$5,125 \$0 \$0 \$5,125			\$0.00			\$0	\$35,039	\$0	\$0	\$35,039	
27 \$0.00 \$0 \$335,914 \$0 \$0 \$335,914 28 \$0.00 \$0 \$53,169 \$0 \$0 \$335,914 29 \$0.00 \$0 \$492,942 \$0 \$0 \$492,942 30 \$0.00 \$0 \$179,744 \$0 \$0 \$179,744 31 \$0.00 \$0 \$5,902 \$0 \$0 \$5,902 32 \$0.00 \$0 \$1,633,522 \$0 \$0 \$110,205 34 \$0.00 \$0 \$358,234 \$0 \$0 \$358,234 35 \$0.00 \$0 \$5,125 \$0 \$0 \$5,125	$\overline{}$		\$0.00			\$0	\$303,252	\$0	\$0	\$303,252	
28 \$0.00 \$0 \$53,169 \$0 \$0 \$53,169 29 \$0.00 \$0 \$492,942 \$0 \$0 \$492,942 30 \$0.00 \$0 \$179,744 \$0 \$0 \$179,744 31 \$0.00 \$0 \$6,902 \$0 \$0 \$5,902 32 \$0.00 \$0 \$1633,522 \$0 \$0 \$1,633,522 33 \$0.00 \$0 \$110,205 \$0 \$0 \$110,205 34 \$0.00 \$0 \$358,234 \$0 \$0 \$358,234 35 \$0.00 \$0 \$5,125 \$0 \$0 \$5,125	$\overline{}$		\$0.00			\$0	\$210,391	\$0	\$0	\$210,391	
29 \$0.00 \$0 \$492,942 \$0 \$0 \$492,942 30 \$0.00 \$0 \$179,744 \$0 \$0 \$179,744 31 \$0.00 \$0 \$5,902 \$0 \$0 \$5,902 32 \$0.00 \$0 \$1,633,522 \$0 \$0 \$1,633,522 33 \$0.00 \$0 \$110,205 \$0 \$0 \$110,205 34 \$0.00 \$0 \$358,234 \$0 \$0 \$358,234 35 \$0.00 \$0 \$5,125 \$0 \$0 \$5,125	$\overline{}$		\$0.00			\$0	\$335,914	\$0	\$0	\$335,914	
30 \$0.00 \$0 \$179,744 \$0 \$0 \$179,744 31 \$0.00 \$0 \$6,902 \$0 \$0 \$5,902 32 \$0.00 \$0 \$1,633,522 \$0 \$0 \$1,633,522 33 \$0.00 \$0 \$110,205 \$0 \$110,205 34 \$0.00 \$0 \$358,234 \$0 \$0 \$358,234 35 \$0.00 \$0 \$5,125 \$0 \$0 \$5,125	_		\$0.00			\$0	\$53,169	\$0	\$0	\$53,169	
31 \$0.00 \$0 \$5,902 \$0 \$5,902 32 \$0.00 \$0 \$1,633,522 \$0 \$0 \$1,633,522 33 \$0.00 \$0 \$110,205 \$0 \$110,205 34 \$0.00 \$0 \$358,234 \$0 \$0 \$358,234 35 \$0.00 \$0 \$5,125 \$0 \$0 \$5,125	$\overline{}$		\$0.00			\$0	\$492,942	\$0	\$0	\$492,942	
32 \$0.00 \$0 \$1,633,522 \$0 \$0 \$1,633,522 \$33 \$0.00 \$0 \$110,205 \$0 \$0 \$110,205 \$0 \$0 \$358,234 \$0.00 \$0 \$50 \$5125 \$0 \$0 \$0 \$51,25						\$0	\$179,744	\$0	\$0	\$179,744	
33 \$0.00 \$0 \$110,205 \$0 \$110,205 34 \$0.00 \$0 \$358,234 \$0 \$0 \$358,234 35 \$0.00 \$0 \$5,125 \$0 \$0 \$5,125	$\overline{}$		\$0.00			\$0	\$5,902	\$0	\$0	\$5,902	
34 \$0.00 \$0 \$358,234 \$0 \$0 \$358,234 35 \$0.00 \$0 \$5,125 \$0 \$0 \$5,125	_					\$0	\$1,633,522	\$0	\$0	\$1,633,522	
35 \$0.00 \$0 \$5,125 \$0 \$0 \$5,125	_					\$0	\$110,205	\$0	\$0	\$110,205	
00 00,120			\$0.00			\$0	\$358,234	\$0	\$0	\$358,234	
			\$0.00			\$0	\$5,125	\$0	\$0	\$5,125	
Ψ2,233	36		\$0.00			\$0	\$2,239	\$0	\$0	\$2,239	
37 \$0.00 \$0 \$10,157 \$0 \$0 \$10,157	-		\$0.00			\$0	\$10,157	\$0	\$0	\$10,157	
38 \$0.00 \$0 \$81,613 \$0 \$0 \$81,613	-		\$0.00			\$0	\$81,613	\$0	\$0	\$81,613	
39 \$0.00 \$0.00 \$6,535,589.00 \$0.00 \$6,535,589.00	39		\$0.00			\$0.00	\$6,535,589.00	\$0.00	\$0.00	\$6,535,589.00	

	Α	В	С	D	E	F	G	Н	ı	J	К	L	М	N	0	Р
1	Company Name:		TELRITE CORPORATION		_	Submission Date:		3/5/2014	-			_				
2	company mamor					Data Month:		February 2014								+
3	Mailing Address:		4113 MONTICELLO ST			Type of filing:										
4	-		COVINGTON, GA 30014			✓ Original	Revision	n								
5	Contact Name:		Caitlyn Lumpkin													
-	Telephone Number:		678-389-6024													
	Fax Number:		770-594-3878													
\vdash	E-mail Address:		cmmurp@cgminc.com													
9							LII	FELINE NON-1	RIBAL		LIFELINE	TRIBAL	•		TRIE	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)										
11		SERVING	499 FILER ID		ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total		(b) Rate per Sub	(c) Total	Total		Rate per sub	
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	15,566	\$9.25	\$143,985.50			\$0.00	\$143,986			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	21,975	\$9.25	\$203,268.75			\$0.00	\$203,269			
15	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	1,339	\$9.25	\$12,385.75			\$0.00	\$12,386			
16	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	93,271	\$9.25	\$862,756.75			\$0.00	\$862,757			
17	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	2,291	\$9.25	\$21,191.75			\$0.00	\$21,192			
18	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	68,963	\$9.25	\$637,907.75			\$0.00	\$637,908			
19	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	15,285	\$9.25	\$141,386.25			\$0.00	\$141,386			
20	143028229	419035	823594 823594	N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	2,518 37,743	\$9.25 \$9.25	\$23,291.50			\$0.00 \$0.00	\$23,292			
22	143028229 143028229	269040 279040	823594 823594	N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	19,361	\$9.25	\$349,122.75			\$0.00				
23		189014	823594 823594	N N	LI ONLY	TELRITE CORPORATION	7,452		\$179,089.25			\$0.00	\$179,089			
24	143028229 143028229	109014	823594	N N	LI ONLY	TELRITE CORPORATION	3,444	\$9.25 \$9.25	\$68,931.00 \$31.857.00			\$0.00				
25	143028229	319039	823594	N N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	30,030	\$9.25	\$31,857.00			\$0.00	\$277,778			
26	143028229	369016	823594	N N	LI ONLY	TELRITE CORPORATION	22,336	\$9.25	\$206,608.00			\$0.00	· / / -			
27	143028229	429015	823594	N N	LI ONLY	TELRITE CORPORATION	34,252	\$9.25	\$316,831.00			\$0.00	\$316,831			
28	143028229	559019	823594	N N	LI ONLY	TELRITE CORPORATION	5,624	\$9.25	\$52.022.00			\$0.00	\$52.022			
29	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	48,407	\$9.25	\$447.764.75			\$0.00	\$447,765			
30	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION	.0, .07	\$9.25	\$0.00	4,792	\$34.25	\$164,126.00	\$164,126			
31	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	949	\$9.25	\$8,778.25	4,132	\$34.23	\$0.00	\$8,778			
32	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	185,369	\$9.25	\$1,714,663.25			\$0.00	\$1,714,663			
33	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	11,180	\$9.25	\$103,415.00			\$0.00	\$103,415			
34	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	37,546	\$9.25	\$347,300.50			\$0.00	\$347,301			
35	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	533	\$9.25	\$4,930.25			\$0.00	\$4,930			
36	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	248	\$9.25	\$2,294.00			\$0.00				
37	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	1,152	\$9.25	\$10,656.00			\$0.00				
38	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	8,319	\$9.25	\$76,950.75			\$0.00	\$76,951			
_	Subtotals						675,153		\$6,245,165.25	4,792		\$164,126.00	\$6,409,294.00			

	Q	R	S	Ιт	Ιυ	l v	W	X	Υ	Z
1									·	
2										
3										
4										
5										
6										
7										
8										
9	UP		TLS	S			ETC PA	YMEN	T	
10										
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$143,986	\$0	\$0	\$143,986	
14		\$0.00			\$0	\$203,269	\$0	\$0	\$203,269	
15		\$0.00			\$0	\$12,386	\$0	\$0	\$12,386	
16		\$0.00			\$0	\$862,757	\$0	\$0	\$862,757	
17		\$0.00			\$0	\$21,192	\$0	\$0	\$21,192	
18		\$0.00			\$0	\$637,908	\$0	\$0	\$637,908	
19		\$0.00			\$0	\$141,386	\$0	\$0	\$141,386	
20		\$0.00			\$0	\$23,292	\$0	\$0	\$23,292	
21		\$0.00			\$0	\$349,123	\$0	\$0	\$349,123	
22		\$0.00			\$0	\$179,089	\$0	\$0	\$179,089	
23		\$0.00			\$0	\$68,931	\$0	\$0	\$68,931	
24		\$0.00			\$0	\$31,857	\$0	\$0	\$31,857	
25		\$0.00			\$0	\$277,778	\$0	\$0	\$277,778	
26		\$0.00			\$0	\$206,608	\$0	\$0	\$206,608	
27		\$0.00			\$0	\$316,831	\$0	\$0	\$316,831	
28		\$0.00			\$0	\$52,022	\$0	\$0	\$52,022	
29		\$0.00			\$0	\$447,765	\$0	\$0	\$447,765	
30		\$0.00			\$0	\$164,126	\$0	\$0	\$164,126	
31		\$0.00			\$0	\$8,778	\$0	\$0	\$8,778	
32		\$0.00			\$0	\$1,714,663	\$0	\$0	\$1,714,663	
33		\$0.00			\$0	\$103,415	\$0	\$0	\$103,415	
34		\$0.00			\$0	\$347,301	\$0	\$0	\$347,301	
35		\$0.00			\$0	\$4,930	\$0	\$0	\$4,930	
36		\$0.00			\$0	\$2,294	\$0	\$0	\$2,294	
37		\$0.00			\$0	\$10,656	\$0	\$0	\$10,656	
38		\$0.00			\$0	\$76,951	\$0	\$0	\$76,951	
39		\$0.00			\$0.00	\$6,409,294.00	\$0.00	\$0.00	\$6,409,294.00	

	А	В	С	D	E	F	G	Н	I	J	K	L	М	N	0	Р
1	Company Name:		TELRITE CORPORATION			Submission Date:		4/7/2014								
2						Data Month:		March 2014								
3	Mailing Address:		4113 MONTICELLO ST			Type of filing:										
4			COVINGTON, GA 30014			✓ Original	Revisio	n								
5	Contact Name:		Caitlyn Lumpkin													
6	Telephone Number:		678-389-6024													
	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LI	FELINE NON-T	RIBAL		LIFELINE	TRIBAL			TRIE	BAL LINE
10	(1)	(2)	(3)	(4)	(5)	(6)										
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	16,238	\$9.25	\$150,201.50			\$0.00	\$150,202			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	23,884	\$9.25	\$220,927.00			\$0.00	\$220,927			
15	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	2,509	\$9.25	\$23,208.25			\$0.00	\$23,208			
16	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	90,405	\$9.25	\$836,246.25			\$0.00	\$836,246			
17	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	2,085	\$9.25	\$19,286.25			\$0.00	\$19,286			
18	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	65,234	\$9.25	\$603,414.50			\$0.00	\$603,415			
19	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	14,403	\$9.25	\$133,227.75			\$0.00	\$133,228			
20	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	2,352	\$9.25	\$21,756.00			\$0.00	\$21,756			
21	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	36,555	\$9.25	\$338,133.75			\$0.00	\$338,134			
22	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	19,940	\$9.25	\$184,445.00			\$0.00	\$184,445			
23	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	6,884	\$9.25	\$63,677.00			\$0.00	\$63,677			
24	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	3,168	\$9.25	\$29,304.00			\$0.00	\$29,304			
25	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	27,926	\$9.25	\$258,315.50			\$0.00	\$258,316			
26	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	22,190	\$9.25	\$205,257.50			\$0.00	\$205,258			
27	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	32,250	\$9.25	\$298,312.50			\$0.00	\$298,313			
28	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	5,677	\$9.25	\$52,512.25			\$0.00	\$52,512			
29	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	44,578	\$9.25	\$412,346.50			\$0.00	\$412,347			
30	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION		\$9.25	\$0.00	4,662	\$34.25	\$159,673.50	\$159,674			
31	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	1,196	\$9.25	\$11,063.00			\$0.00	\$11,063			
32	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	195,196	\$9.25	\$1,805,563.00			\$0.00	\$1,805,563			
33	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	10,812	\$9.25	\$100,011.00			\$0.00	\$100,011			
34	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	36,335	\$9.25	\$336,098.75			\$0.00	\$336,099			
35	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	513	\$9.25	\$4,745.25			\$0.00	\$4,745			
36	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	248	\$9.25	\$2,294.00			\$0.00	\$2,294			
37	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	1,193	\$9.25	\$11,035.25			\$0.00	\$11,035			
38	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	7,767	\$9.25	\$71,844.75			\$0.00	\$71,845			
39	Subtotals						669,538		\$6,193,226.50	4,662		\$159,673.50	\$6,352,903.00			

	Q	R	S	Т	Ιυ	V	W	X	Υ	Z
1									·	
2										
3										
4										
5										
6										
7										
8										
9	UP		TLS	S			ETC PA	YMEN	Т	
10				1					•	
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$150,202	\$0	\$0	\$150,202	
14		\$0.00			\$0	\$220,927	\$0	\$0	\$220,927	
15		\$0.00			\$0	\$23,208	\$0	\$0	\$23,208	
16		\$0.00			\$0	\$836,246	\$0	\$0	\$836,246	
17		\$0.00			\$0	\$19,286	\$0	\$0	\$19,286	
18		\$0.00			\$0	\$603,415	\$0	\$0	\$603,415	
19		\$0.00			\$0	\$133,228	\$0	\$0	\$133,228	
20		\$0.00			\$0	\$21,756	\$0	\$0	\$21,756	
21		\$0.00			\$0	\$338,134	\$0	\$0	\$338,134	
22		\$0.00			\$0	\$184,445	\$0	\$0	\$184,445	
23		\$0.00			\$0	\$63,677	\$0	\$0	\$63,677	
24		\$0.00			\$0	\$29,304	\$0	\$0	\$29,304	
25		\$0.00			\$0	\$258,316	\$0	\$0	\$258,316	
26		\$0.00			\$0	\$205,258	\$0	\$0	\$205,258	
27		\$0.00			\$0	\$298,313	\$0	\$0	\$298,313	
28		\$0.00			\$0	\$52,512	\$0	\$0	\$52,512	
29		\$0.00			\$0	\$412,347	\$0	\$0	\$412,347	
30		\$0.00			\$0	\$159,674	\$0	\$0	\$159,674	
31		\$0.00			\$0	\$11,063	\$0	\$0	\$11,063	
32		\$0.00			\$0	\$1,805,563	\$0	\$0	\$1,805,563	
33		\$0.00			\$0	\$100,011	\$0	\$0	\$100,011	
34		\$0.00			\$0	\$336,099	\$0	\$0	\$336,099	
35		\$0.00			\$0	\$4,745	\$0	\$0	\$4,745	
36		\$0.00			\$0	\$2,294	\$0	\$0	\$2,294	
37		\$0.00			\$0	\$11,035	\$0	\$0	\$11,035	
38		\$0.00			\$0	\$71,845	\$0	\$0	\$71,845	
39		\$0.00			\$0.00	\$6,352,903.00	\$0.00	\$0.00	\$6,352,903.00	

	Α	В	С	D	Е	F	G	Н	1	J	К	ı	М	N	0	Р
1	Company Name:		TELRITE CORPORATION		_	Submission Date:		5/7/2014				_				
2						Data Month:		April 2014								$\overline{}$
	Mailing Address:		4113 MONTICELLO ST			Type of filing:										
4	3		COVINGTON, GA 30014				☐ Revision	1								
5	Contact Name:		Caitlyn Lumpkin				ı									
6	Telephone Number:		678-389-6024													
7	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LII	FELINE NON-T	RIBAL		LIFELINE	TRIBAL			TRIB	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)										
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	16,595	\$9.25	\$153,503.75			\$0.00	\$153,504			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	23,628	\$9.25	\$218,559.00			\$0.00	\$218,559			
15	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	3,702	\$9.25	\$34,243.50			\$0.00	\$34,244			
16	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	86,583	\$9.25	\$800,892.75			\$0.00	\$800,893			
17	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	2,319	\$9.25	\$21,450.75			\$0.00	\$21,451			
18	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	60,293	\$9.25	\$557,710.25			\$0.00	\$557,710			
19	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	13,616	\$9.25	\$125,948.00			\$0.00	\$125,948			
20	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	2,130	\$9.25	\$19,702.50			\$0.00	\$19,703			
21	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	35,996	\$9.25	\$332,963.00			\$0.00	\$332,963			
22	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	20,069	\$9.25	\$185,638.25			\$0.00	\$185,638			
23	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	6,205	\$9.25	\$57,396.25			\$0.00	\$57,396			
24	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	2,844	\$9.25	\$26,307.00			\$0.00	\$26,307			
25	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	25,593	\$9.25	\$236,735.25			\$0.00	\$236,735			
26	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	22,216	\$9.25	\$205,498.00			\$0.00	\$205,498			
27	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	30,515	\$9.25	\$282,263.75			\$0.00	\$282,264			
28	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	5,319	\$9.25	\$49,200.75			\$0.00	\$49,201			
29	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	40,655	\$9.25	\$376,058.75			\$0.00	\$376,059			
30	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION		\$9.25	\$0.00	4,340	\$34.25	\$148,645.00	\$148,645			
31	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	1,946	\$9.25	\$18,000.50			\$0.00	\$18,001			
32	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	202,914	\$9.25	\$1,876,954.50			\$0.00	\$1,876,955			
33	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	11,042	\$9.25	\$102,138.50			\$0.00	\$102,139			
34	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	35,432	\$9.25	\$327,746.00			\$0.00	\$327,746			
35	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	468	\$9.25	\$4,329.00			\$0.00	\$4,329			
36	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	227	\$9.25	\$2,099.75			\$0.00	\$2,100			
37	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	25	\$9.25	\$231.25			\$0.00	\$231			
38	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	1,162	\$9.25	\$10,748.50			\$0.00	\$10,749			
39	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	7,759	\$9.25	\$71,770.75			\$0.00	\$71,771			
40	Subtotals						659,253		\$6,098,090.25	4,340		\$148,645.00	\$6,246,739.00			

	l Q	R	S	Т	Ιυ	l v	l w	X	1 V	
_	_ ~	- 1	3	<u>'</u>	0	V	VV	_ ^	Y	Z
1 2										
3										
4										
5										
6										
7										
8										
	ÜP		TLS	2			ETC PA	VMEN	-	
10		ı	12.	i	ı	'	EICFA	TIVIEN	•	
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	I 004440	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS \$	LIFELINE	LINK UP			Commonto
13	merest	\$0.00	(WAX \$5.00 2012)	Subs	\$0	\$153,504		TLS	TOTAL	Comments
14		\$0.00			\$0	\$153,504	\$0 \$0	\$0	\$153,504	
15		\$0.00			\$0	\$34,244	\$0	\$0 \$0	\$218,559	
16		\$0.00			\$0	\$800,893	\$0	\$0	\$34,244 \$800,893	
17		\$0.00			\$0	\$21,451	\$0	\$0	\$21,451	
18		\$0.00			\$0	\$557,710	\$0	\$0	\$557,710	
19		\$0.00			\$0	\$125,948	\$0	\$0	\$125,948	
20		\$0.00			\$0	\$19,703	\$0	\$0	\$19,703	
21		\$0.00			\$0	\$332,963	\$0	\$0	\$332,963	
22		\$0.00			\$0	\$185,638	\$0	\$0	\$185,638	
23		\$0.00			\$0	\$57,396	\$0	\$0	\$57,396	
24		\$0.00			\$0	\$26,307	\$0	\$0	\$26,307	
25		\$0.00			\$0	\$236,735	\$0	\$0	\$236,735	
26		\$0.00			\$0	\$205,498	\$0	\$0	\$205,498	
27		\$0.00			\$0	\$282,264	\$0	\$0	\$282,264	
28		\$0.00			\$0	\$49,201	\$0	\$0	\$49,201	
29		\$0.00			\$0	\$376,059	\$0	\$0	\$376,059	
30		\$0.00			\$0	\$148,645	\$0	\$0	\$148,645	
31		\$0.00			\$0	\$18,001	\$0	\$0	\$18,001	
32		\$0.00			\$0	\$1,876,955	\$0	\$0	\$1,876,955	
33		\$0.00			\$0	\$102,139	\$0	\$0	\$102,139	
34		\$0.00			\$0	\$327,746	\$0	\$0	\$327,746	
35		\$0.00			\$0	\$4,329	\$0	\$0	\$4,329	
36		\$0.00			\$0	\$2,100	\$0	\$0	\$2,100	
37		\$0.00			\$0	\$231	\$0	\$0	\$231	
38		\$0.00			\$0	\$10,749	\$0	\$0	\$10,749	
39		\$0.00			\$0	\$71,771	\$0	\$0	\$71,771	
40		\$0.00			\$0.00	\$6,246,739.00	\$0.00	\$0.00	\$6,246,739.00	

	А	В	С	D	Е	F	G	Н	1	l J	К	ı	М	N	0	Р
1	Company Name:		TELRITE CORPORATION		_	Submission Date:		6/9/2014		_		_				
2						Data Month:		May 2014								
	Mailing Address:		4113 MONTICELLO ST			Type of filing:		,								
4	3		COVINGTON, GA 30014				☐ Revision	1								
5	Contact Name:		Caitlyn Lumpkin				ı									
6	Telephone Number:		678-389-6024													
7	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LII	FELINE NON-T	RIBAL		LIFELINE	TRIBAL			TRIB	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)										
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	17,067	\$9.25	\$157,869.75			\$0.00	\$157,870		<u> </u>	
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	22,620	\$9.25	\$209,235.00			\$0.00	\$209,235			
15	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	4,760	\$9.25	\$44,030.00			\$0.00	\$44,030			
16	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	84,085	\$9.25	\$777,786.25			\$0.00	\$777,786			
17	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	3,434	\$9.25	\$31,764.50			\$0.00	\$31,765			
18	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	56,586	\$9.25	\$523,420.50			\$0.00	\$523,421			
19	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	13,439	\$9.25	\$124,310.75			\$0.00	\$124,311			
20	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	1,969	\$9.25	\$18,213.25			\$0.00	\$18,213			
21	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	36,198	\$9.25	\$334,831.50			\$0.00	\$334,832			
22	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	21,080	\$9.25	\$194,990.00			\$0.00	\$194,990			
23	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	5,058	\$9.25	\$46,786.50			\$0.00	\$46,787			
24	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	2,731	\$9.25	\$25,261.75			\$0.00	\$25,262			
25	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	24,432	\$9.25	\$225,996.00			\$0.00	\$225,996			
26	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	23,183	\$9.25	\$214,442.75			\$0.00	\$214,443			
27	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	29,800	\$9.25	\$275,650.00			\$0.00	\$275,650			
28	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	5,383	\$9.25	\$49,792.75			\$0.00	\$49,793			
29	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	39,061	\$9.25	\$361,314.25			\$0.00	\$361,314			
30	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION	1	\$9.25	\$9.25	4,264	\$34.25	\$146,042.00	\$146,051			
31	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	2,123	\$9.25	\$19,637.75			\$0.00	\$19,638			
32	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	210,622	\$9.25	\$1,948,253.50			\$0.00	\$1,948,254			
33	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	11,776	\$9.25	\$108,928.00			\$0.00	\$108,928			
34	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	35,619	\$9.25	\$329,475.75			\$0.00	\$329,476			
35	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	422	\$9.25	\$3,903.50			\$0.00	\$3,904			
36	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	361	\$9.25	\$3,339.25			\$0.00	\$3,339			
37	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	24	\$9.25	\$222.00			\$0.00	\$222			
38	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	1,192	\$9.25	\$11,026.00			\$0.00	\$11,026			
39	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	8,686	\$9.25	\$80,345.50			\$0.00	\$80,346			
40	Subtotals						661,712		\$6,120,836.00	4,264		\$146,042.00	\$6,266,882.00			

	l Q	R	S	Т	Ιυ	l v	W	X	Υ	Z
1			-							
2										
3										
4										
5										
6										
7										
8										
9	UP		TLS	S			ETC PA	YMEN	Т	
10				ÌΙΙ					•	
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$157,870	\$0	\$0	\$157,870	Commonto
14		\$0.00			\$0	\$209,235	\$0	\$0	\$209,235	
15		\$0.00			\$0	\$44,030	\$0	\$0	\$44,030	
16		\$0.00			\$0	\$777,786	\$0	\$0	\$777,786	
17		\$0.00			\$0	\$31,765	\$0	\$0	\$31,765	
18		\$0.00			\$0	\$523,421	\$0	\$0	\$523,421	
19		\$0.00			\$0	\$124,311	\$0	\$0	\$124,311	
20		\$0.00			\$0	\$18,213	\$0	\$0	\$18,213	
21		\$0.00			\$0	\$334,832	\$0	\$0	\$334,832	
22		\$0.00			\$0	\$194,990	\$0	\$0	\$194,990	
23		\$0.00			\$0	\$46,787	\$0	\$0	\$46,787	
24		\$0.00			\$0	\$25,262	\$0	\$0	\$25,262	
25		\$0.00			\$0	\$225,996	\$0	\$0	\$225,996	
26		\$0.00			\$0	\$214,443	\$0	\$0	\$214,443	
27		\$0.00			\$0	\$275,650	\$0	\$0	\$275,650	
28		\$0.00			\$0	\$49,793	\$0	\$0	\$49,793	
29		\$0.00			\$0	\$361,314	\$0	\$0	\$361,314	
30		\$0.00			\$0	\$146,051	\$0	\$0	\$146,051	
31		\$0.00			\$0	\$19,638	\$0	\$0	\$19,638	
32		\$0.00			\$0	\$1,948,254	\$0	\$0	\$1,948,254	
33		\$0.00			\$0	\$108,928	\$0	\$0	\$108,928	
34		\$0.00			\$0	\$329,476	\$0	\$0	\$329,476	
35		\$0.00			\$0	\$3,904	\$0	\$0	\$3,904	
36		\$0.00			\$0	\$3,339	\$0	\$0	\$3,339	
37		\$0.00			\$0	\$222	\$0	\$0	\$222	
38		\$0.00			\$0	\$11,026	\$0	\$0	\$11,026	
39		\$0.00			\$0	\$80,346	\$0	\$0	\$80,346	
40		\$0.00			\$0.00	\$6,266,882.00	\$0.00	\$0.00	\$6,266,882.00	

	Α	В	С	D	Е	F	G	Н	1	l J	К	ı	М	N	0	Р
1	Company Name:		TELRITE CORPORATION		_	Submission Date:		7/8/2014		_		_				
2						Data Month:		June 2014								$\overline{}$
	Mailing Address:		4113 MONTICELLO ST			Type of filing:		04.10 2011								
4	•		COVINGTON, GA 30014				Revision	1								
5	Contact Name:		Caitlyn Lumpkin				ı									
6	Telephone Number:		678-389-6024													
7	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LII	FELINE NON-T	RIBAL		LIFELINE	TRIBAL			TRIB	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)										
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	17,226	\$9.25	\$159,340.50			\$0.00	\$159,341			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	21,090	\$9.25	\$195,082.50			\$0.00	\$195,083			
15	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	5,477	\$9.25	\$50,662.25			\$0.00	\$50,662			
16	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	76,181	\$9.25	\$704,674.25			\$0.00	\$704,674			
17	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	4,339	\$9.25	\$40,135.75			\$0.00	\$40,136			
18	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	52,768	\$9.25	\$488,104.00			\$0.00	\$488,104			
19	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	12,950	\$9.25	\$119,787.50			\$0.00	\$119,788			
20	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	1,876	\$9.25	\$17,353.00			\$0.00	\$17,353			
21	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	37,647	\$9.25	\$348,234.75			\$0.00	\$348,235			
22	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	20,520	\$9.25	\$189,810.00			\$0.00	\$189,810			
23	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	4,178	\$9.25	\$38,646.50			\$0.00	\$38,647			
24	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	2,298	\$9.25	\$21,256.50			\$0.00	\$21,257			
25	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	22,535	\$9.25	\$208,448.75			\$0.00	\$208,449			
26	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	23,956	\$9.25	\$221,593.00			\$0.00	\$221,593			
27	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	28,000	\$9.25	\$259,000.00			\$0.00	\$259,000			
28	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	5,138	\$9.25	\$47,526.50			\$0.00	\$47,527			
29	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	33,801	\$9.25	\$312,659.25			\$0.00	\$312,659			
30	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION	1	\$9.25	\$9.25	3,874	\$34.25	\$132,684.50	\$132,694			
31	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	2,220	\$9.25	\$20,535.00			\$0.00	\$20,535			
32	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	217,679	\$9.25	\$2,013,530.75			\$0.00	\$2,013,531			
33	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	11,641	\$9.25	\$107,679.25			\$0.00	\$107,679			
34	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	34,294	\$9.25	\$317,219.50			\$0.00	\$317,220			
35	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	384	\$9.25	\$3,552.00			\$0.00	\$3,552			
36	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	598	\$9.25	\$5,531.50			\$0.00	\$5,532			
37	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	739	\$9.25	\$6,835.75			\$0.00	\$6,836			
38	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	1,387	\$9.25	\$12,829.75			\$0.00	\$12,830			
39	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	10,186	\$9.25	\$94,220.50			\$0.00	\$94,221			
40	Subtotals						649,109		\$6,004,258.25	3,874		\$132,684.50	\$6,136,948.00			

	Q	R	S	Т	Ιυ	V	l w	X	Υ	Z
1			-				- **		•	
2										
3										
4										
5										
6										
7										
8										
9	UP		TLS	S			ETC PA	YMEN	T	
10				ĺΙ					•	
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$159,341	\$0	\$0	\$159,341	Commonto
14		\$0.00			\$0	\$195,083	\$0	\$0	\$195,083	
15		\$0.00			\$0	\$50,662	\$0	\$0	\$50,662	
16		\$0.00			\$0	\$704,674	\$0	\$0	\$704,674	
17		\$0.00			\$0	\$40,136	\$0	\$0	\$40,136	
18		\$0.00			\$0	\$488,104	\$0	\$0	\$488,104	
19		\$0.00			\$0	\$119,788	\$0	\$0	\$119,788	
20		\$0.00			\$0	\$17,353	\$0	\$0	\$17,353	
21		\$0.00			\$0	\$348,235	\$0	\$0	\$348,235	
22		\$0.00			\$0	\$189,810	\$0	\$0	\$189,810	
23		\$0.00			\$0	\$38,647	\$0	\$0	\$38,647	
24		\$0.00			\$0	\$21,257	\$0	\$0	\$21,257	
25		\$0.00			\$0	\$208,449	\$0	\$0	\$208,449	
26		\$0.00			\$0	\$221,593	\$0	\$0	\$221,593	
27		\$0.00			\$0	\$259,000	\$0	\$0	\$259,000	
28		\$0.00			\$0	\$47,527	\$0	\$0	\$47,527	
29		\$0.00			\$0	\$312,659	\$0	\$0	\$312,659	
30		\$0.00			\$0	\$132,694	\$0	\$0	\$132,694	
31		\$0.00			\$0	\$20,535	\$0	\$0	\$20,535	
32		\$0.00			\$0	\$2,013,531	\$0	\$0	\$2,013,531	
33		\$0.00			\$0	\$107,679	\$0	\$0	\$107,679	
34		\$0.00			\$0	\$317,220	\$0	\$0	\$317,220	
35		\$0.00			\$0	\$3,552	\$0	\$0	\$3,552	
36		\$0.00			\$0	\$5,532	\$0	\$0	\$5,532	
37		\$0.00			\$0	\$6,836	\$0	\$0	\$6,836	
38		\$0.00			\$0	\$12,830	\$0	\$0	\$12,830	
39		\$0.00			\$0	\$94,221	\$0	\$0	\$94,221	
40		\$0.00			\$0.00	\$6,136,948.00	\$0.00	\$0.00	\$6,136,948.00	

	A	В	С	D	Е	F	G	Н	I	J	К	L	М	N	0	Р
1	Company Name:		TELRITE CORPORATION			Submission Date:		8/6/2014								
2						Data Month:		July 2014								
3	Mailing Address:		4113 MONTICELLO ST			Type of filing:										
4			COVINGTON, GA 30014			✓ Original	Revision	n								
5	Contact Name:		Caitlyn Lumpkin													
	Telephone Number:		678-389-6024													
	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LII	FELINE NON-1	RIBAL		LIFELINE	TRIBAL	-		TRIB	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)										
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	18,183	\$9.25	\$168,192.75			\$0.00	\$168,193			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	19,416	\$9.25	\$179,598.00			\$0.00	\$179,598			
15	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	6,063	\$9.25	\$56,082.75			\$0.00	\$56,083			
16	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	71,180	\$9.25	\$658,415.00			\$0.00	\$658,415			
17	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	4,506	\$9.25	\$41,680.50			\$0.00	\$41,681			
18	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	50,799	\$9.25	\$469,890.75			\$0.00	\$469,891			
19	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	12,469	\$9.25	\$115,338.25			\$0.00	\$115,338			
20	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	2,111	\$9.25	\$19,526.75			\$0.00	\$19,527			
21	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	36,041	\$9.25	\$333,379.25			\$0.00	\$333,379			
22	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	22,679	\$9.25	\$209,780.75			\$0.00	\$209,781			
23	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	3,896	\$9.25	\$36,038.00			\$0.00	\$36,038			
24	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	2,050	\$9.25	\$18,962.50			\$0.00	\$18,963			
25	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	19,961	\$9.25	\$184,639.25			\$0.00	\$184,639			
26	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	25,688	\$9.25	\$237,614.00			\$0.00	\$237,614			
27	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	26,612	\$9.25	\$246,161.00			\$0.00	\$246,161			
28	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	4,732	\$9.25	\$43,771.00			\$0.00	\$43,771			
29	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	37,673	\$9.25	\$348,475.25			\$0.00	\$348,475			
30	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION	1	\$9.25	\$9.25	3,670	\$34.25	\$125,697.50	\$125,707			
31	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	2,837	\$9.25	\$26,242.25			\$0.00	\$26,242			
32	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	221,007	\$9.25	\$2,044,314.75			\$0.00	\$2,044,315			
33	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	10,922	\$9.25	\$101,028.50			\$0.00	\$101,029			
34	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	33,492	\$9.25	\$309,801.00			\$0.00	\$309,801			
35	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	339	\$9.25	\$3,135.75			\$0.00	\$3,136			
36	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	859	\$9.25	\$7,945.75			\$0.00	\$7,946			
37	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	1,505	\$9.25	\$13,921.25			\$0.00	\$13,921			
38	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	1,499	\$9.25	\$13,865.75			\$0.00	\$13,866			
39	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	13,056	\$9.25	\$120,768.00			\$0.00	\$120,768			
40	Subtotals						649,576		\$6,008,578.00	3,670		\$125,697.50	\$6,134,278.00			

	l Q	R	S	Т	Ιυ	l v	l w	X	1 V	
_	_ ~	- 1	3	<u>'</u>	0	V	VV	_ ^	Y	Z
1 2										
3										
4										
5										
6										
7										
8										
	ÜP		TLS	2			ETC PA	VMEN	-	
10	. 0.	1	12.	ĺ	ı	'	EICFA	TIVIEN	•	
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	I 004440	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS \$	LIFELINE	LINK UP			Commonto
13	merest	\$0.00	(WAX \$5.00 2012)	Subs	\$0	\$168,193		TLS	TOTAL	Comments
14		\$0.00			\$0	\$179,598	\$0 \$0	\$0	\$168,193	
15		\$0.00			\$0	\$56,083	\$0	\$0 \$0	\$179,598	
16		\$0.00			\$0	\$658,415	\$0	\$0	\$56,083 \$658,415	
17		\$0.00			\$0	\$41,681	\$0	\$0	\$41,681	
18		\$0.00			\$0	\$469,891	\$0	\$0	\$469,891	
19		\$0.00			\$0	\$115,338	\$0	\$0	\$115,338	
20		\$0.00			\$0	\$19,527	\$0	\$0	\$19,527	
21		\$0.00			\$0	\$333,379	\$0	\$0	\$333,379	
22		\$0.00			\$0	\$209,781	\$0	\$0	\$209,781	
23		\$0.00			\$0	\$36,038	\$0	\$0	\$36,038	
24		\$0.00			\$0	\$18,963	\$0	\$0	\$18,963	
25		\$0.00			\$0	\$184,639	\$0	\$0	\$184,639	
26		\$0.00			\$0	\$237,614	\$0	\$0	\$237,614	
27		\$0.00			\$0	\$246,161	\$0	\$0	\$246,161	
28		\$0.00			\$0	\$43,771	\$0	\$0	\$43,771	
29		\$0.00			\$0	\$348,475	\$0	\$0	\$348,475	
30		\$0.00			\$0	\$125,707	\$0	\$0	\$125,707	
31		\$0.00			\$0	\$26,242	\$0	\$0	\$26,242	
32		\$0.00			\$0	\$2,044,315	\$0	\$0	\$2,044,315	
33		\$0.00			\$0	\$101,029	\$0	\$0	\$101,029	
34		\$0.00			\$0	\$309,801	\$0	\$0	\$309,801	
35		\$0.00			\$0	\$3,136	\$0	\$0	\$3,136	
36		\$0.00			\$0	\$7,946	\$0	\$0	\$7,946	
37		\$0.00			\$0	\$13,921	\$0	\$0	\$13,921	
38		\$0.00			\$0	\$13,866	\$0	\$0	\$13,866	
39		\$0.00			\$0	\$120,768	\$0	\$0	\$120,768	
40		\$0.00			\$0.00	\$6,134,278.00	\$0.00	\$0.00	\$6,134,278.00	

	Α	В	С	D	E	F	G	Н	ı	Л	К	ı	М	N	0	Р
1	Company Name:		TELRITE CORPORATION		_	Submission Date:		9/5/2014		_		_				
2						Data Month:		August 2014								
	Mailing Address:		4113 MONTICELLO ST			Type of filing:		ragaer ze								
4	•		COVINGTON, GA 30014				☐ Revision	1								
5	Contact Name:		Caitlyn Lumpkin					<u> </u>								
6	Telephone Number:		678-389-6024													
7	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LII	FELINE NON-T	RIBAL		LIFELINE	TRIBAL			TRIB	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)										
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	18,670	\$9.25	\$172,697.50			\$0.00	\$172,698			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	17,879	\$9.25	\$165,380.75			\$0.00	\$165,381			
15	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	6,691	\$9.25	\$61,891.75			\$0.00	\$61,892			
16	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	71,814	\$9.25	\$664,279.50			\$0.00	\$664,280			
17	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	4,670	\$9.25	\$43,197.50			\$0.00	\$43,198			
18	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	46,443	\$9.25	\$429,597.75			\$0.00	\$429,598			
19	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	10,705	\$9.25	\$99,021.25			\$0.00	\$99,021			
20	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	1,925	\$9.25	\$17,806.25			\$0.00	\$17,806			
21	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	38,621	\$9.25	\$357,244.25			\$0.00	\$357,244			
22	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	23,701	\$9.25	\$219,234.25			\$0.00	\$219,234			
23	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	3,659	\$9.25	\$33,845.75			\$0.00	\$33,846			
24	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	2,062	\$9.25	\$19,073.50			\$0.00	\$19,074			
25	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	21,111	\$9.25	\$195,276.75			\$0.00	\$195,277			
26	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	26,594	\$9.25	\$245,994.50			\$0.00	\$245,995			
27	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	25,957	\$9.25	\$240,102.25			\$0.00	\$240,102			
28	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	4,059	\$9.25	\$37,545.75			\$0.00	\$37,546			
29	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	42,575	\$9.25	\$393,818.75			\$0.00	\$393,819			
30	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION	1	\$9.25	\$9.25	3,860	\$34.25	\$132,205.00	\$132,214			
31	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	4,811	\$9.25	\$44,501.75			\$0.00	\$44,502			
32	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	223,534	\$9.25	\$2,067,689.50			\$0.00	\$2,067,690			
33	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	9,965	\$9.25	\$92,176.25			\$0.00	\$92,176			
34	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	27,844	\$9.25	\$257,557.00			\$0.00	\$257,557			
35	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	312	\$9.25	\$2,886.00			\$0.00	\$2,886			
36 37	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	1,159	\$9.25	\$10,720.75			\$0.00	\$10,721			
_	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	1,530	\$9.25	\$14,152.50			\$0.00	\$14,153			
38	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	1,735	\$9.25	\$16,048.75			\$0.00	\$16,049			
39	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	15,458	\$9.25	\$142,986.50			\$0.00	\$142,987			
40	Subtotals						653,485		\$6,044,736.25	3,860		\$132,205.00	\$6,176,946.00			

	Q	R	S	Ιт	Ιυ	l v	1 147	l x	1 1/	
<u> </u>	<u> </u>	I IX		'	U	V	W	_ ^	Y	Z
1										
3										
4										
5										
6										
7										
8										
	UP		TL:	2			ETC DA	VAACAI	_	
10	. 01		16.	ı	I		ETC PA	TIVIEN	•	
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	l 	TOTAL	I	
12	Interest	LinkUp \$	(Max \$3.00 2012)		TLS \$	ll .	TOTAL			0
13	IIILETESI	\$0.00	(Wax \$5.00 2012)	Subs	_	LIFELINE	LINK UP	TLS	TOTAL	Comments
14		\$0.00			\$0	\$172,698	\$0	\$0	\$172,698	
15		\$0.00			\$0 \$0	\$165,381	\$0	\$0	\$165,381	
16		\$0.00			\$0	\$61,892 \$664,280	\$0	\$0 \$0	\$61,892	
17		\$0.00			\$0	\$43,198	\$0 \$0		\$664,280	
18		\$0.00			\$0	\$429,598	\$0	\$0 \$0	\$43,198 \$429,598	
19		\$0.00			\$0	\$99,021	\$0	\$0		
20		\$0.00			\$0	\$17,806	\$0	\$0	\$99,021 \$17,806	
21		\$0.00			\$0	\$357,244	\$0	\$0	\$357,244	
22		\$0.00			\$0	\$219,234	\$0	\$0	\$219,234	
23		\$0.00			\$0	\$33,846	\$0	\$0	\$33,846	
24		\$0.00			\$0	\$19,074	\$0	\$0	\$19,074	
25		\$0.00			\$0	\$195,277	\$0	\$0	\$195,277	
26		\$0.00			\$0	\$245,995	\$0	\$0	\$245,995	
27		\$0.00			\$0	\$240,102	\$0	\$0	\$240,102	
28		\$0.00			\$0	\$37,546	\$0	\$0	\$37,546	
29		\$0.00			\$0	\$393,819	\$0	\$0	\$393,819	
30		\$0.00			\$0	\$132,214	\$0	\$0	\$132,214	
31		\$0.00			\$0	\$44,502	\$0	\$0	\$44,502	
32		\$0.00			\$0	\$2,067,690	\$0	\$0	\$2,067,690	
33		\$0.00			\$0	\$92,176	\$0	\$0	\$92,176	
34		\$0.00			\$0	\$257,557	\$0	\$0	\$257,557	
35		\$0.00			\$0	\$2,886	\$0	\$0	\$2,886	
36		\$0.00			\$0	\$10,721	\$0	\$0	\$10,721	
37		\$0.00			\$0	\$14,153	\$0	\$0	\$14,153	
38		\$0.00			\$0	\$16,049	\$0	\$0	\$16,049	
39		\$0.00			\$0	\$142,987	\$0	\$0	\$142,987	
40		\$0.00			\$0.00	\$6,176,946.00	\$0.00	\$0.00	\$6,176,946.00	

	Α	В	С	D	E	F	G	Н	ı	Л	К	ı	М	N	0	Р
1	Company Name:		TELRITE CORPORATION		_	Submission Date:		9/5/2014		_		_				
2						Data Month:		August 2014								
	Mailing Address:		4113 MONTICELLO ST			Type of filing:		ragaer ze								
4	•		COVINGTON, GA 30014				Revision	1								
5	Contact Name:		Caitlyn Lumpkin					<u> </u>								
6	Telephone Number:		678-389-6024													
7	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LII	FELINE NON-T	RIBAL		LIFELINE	TRIBAL			TRIB	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)										
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	18,670	\$9.25	\$172,697.50			\$0.00	\$172,698			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	17,879	\$9.25	\$165,380.75			\$0.00	\$165,381			
15	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	6,691	\$9.25	\$61,891.75			\$0.00	\$61,892			
16	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	71,814	\$9.25	\$664,279.50			\$0.00	\$664,280			
17	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	4,670	\$9.25	\$43,197.50			\$0.00	\$43,198			
18	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	46,443	\$9.25	\$429,597.75			\$0.00	\$429,598			
19	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	10,705	\$9.25	\$99,021.25			\$0.00	\$99,021			
20	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	1,925	\$9.25	\$17,806.25			\$0.00	\$17,806			
21	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	38,621	\$9.25	\$357,244.25			\$0.00	\$357,244			
22	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	23,701	\$9.25	\$219,234.25			\$0.00	\$219,234			
23	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	3,659	\$9.25	\$33,845.75			\$0.00	\$33,846			
24	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	2,062	\$9.25	\$19,073.50			\$0.00	\$19,074			
25	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	21,111	\$9.25	\$195,276.75			\$0.00	\$195,277			
26	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	26,594	\$9.25	\$245,994.50			\$0.00	\$245,995			
27	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	25,957	\$9.25	\$240,102.25			\$0.00	\$240,102			
28	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	4,059	\$9.25	\$37,545.75			\$0.00	\$37,546			
29	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	42,575	\$9.25	\$393,818.75			\$0.00	\$393,819			
30	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION	1	\$9.25	\$9.25	3,860	\$34.25	\$132,205.00	\$132,214			
31	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	4,811	\$9.25	\$44,501.75			\$0.00	\$44,502			
32	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	223,534	\$9.25	\$2,067,689.50			\$0.00	\$2,067,690			
33	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	9,965	\$9.25	\$92,176.25			\$0.00	\$92,176			
34	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	27,844	\$9.25	\$257,557.00			\$0.00	\$257,557			
35	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	312	\$9.25	\$2,886.00			\$0.00	\$2,886			
36 37	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	1,159	\$9.25	\$10,720.75			\$0.00	\$10,721			
_	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	1,530	\$9.25	\$14,152.50			\$0.00	\$14,153			
38	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	1,735	\$9.25	\$16,048.75			\$0.00	\$16,049			
39	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	15,458	\$9.25	\$142,986.50			\$0.00	\$142,987			
40	Subtotals						653,485		\$6,044,736.25	3,860		\$132,205.00	\$6,176,946.00			

	l Q	R	S	Т	Ιυ	V	W	X	Υ	Z
1			-				- **		•	
2										
3										
4										
5										
6										
7										
8										
9	ÜP		TLS	S			ETC PA	YMFN	т	
10				ĺΙ					•	
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00	(0	\$0	\$172,698	\$0	\$0	\$172,698	Comments
14		\$0.00			\$0	\$165,381	\$0	\$0	\$165,381	
15		\$0.00			\$0	\$61,892	\$0	\$0	\$61,892	
16		\$0.00			\$0	\$664,280	\$0	\$0	\$664,280	
17		\$0.00			\$0	\$43,198	\$0	\$0	\$43,198	
18		\$0.00			\$0	\$429,598	\$0	\$0	\$429,598	
19		\$0.00			\$0	\$99,021	\$0	\$0	\$99,021	
20		\$0.00			\$0	\$17,806	\$0	\$0	\$17,806	
21		\$0.00			\$0	\$357,244	\$0	\$0	\$357,244	
22		\$0.00			\$0	\$219,234	\$0	\$0	\$219,234	
23		\$0.00			\$0	\$33,846	\$0	\$0	\$33,846	
24		\$0.00			\$0	\$19,074	\$0	\$0	\$19,074	
25		\$0.00			\$0	\$195,277	\$0	\$0	\$195,277	
26		\$0.00			\$0	\$245,995	\$0	\$0	\$245,995	
27		\$0.00			\$0	\$240,102	\$0	\$0	\$240,102	
28		\$0.00			\$0	\$37,546	\$0	\$0	\$37,546	
29		\$0.00			\$0	\$393,819	\$0	\$0	\$393,819	
30		\$0.00			\$0	\$132,214	\$0	\$0	\$132,214	
31		\$0.00			\$0	\$44,502	\$0	\$0	\$44,502	
32		\$0.00			\$0	\$2,067,690	\$0	\$0	\$2,067,690	
33		\$0.00			\$0	\$92,176	\$0	\$0	\$92,176	
34		\$0.00			\$0	\$257,557	\$0	\$0	\$257,557	
35		\$0.00			\$0	\$2,886	\$0	\$0	\$2,886	
36		\$0.00			\$0	\$10,721	\$0	\$0	\$10,721	
37		\$0.00			\$0	\$14,153	\$0	\$0	\$14,153	
38		\$0.00			\$0	\$16,049	\$0	\$0	\$16,049	
39		\$0.00			\$0	\$142,987	\$0	\$0	\$142,987	
40		\$0.00			\$0.00	\$6,176,946.00	\$0.00	\$0.00	\$6,176,946.00	

	A	В	С	D	E	F	G	Н	1	J	К	L	М	N	0	Р
1	Company Name:		TELRITE CORPORATION			Submission Date:		10/6/2014				_			-	
2						Data Month:		September 2014	4							+
	Mailing Address:		4113 MONTICELLO ST			Type of filing:										
4	Ü		COVINGTON, GA 30014				Revision	า								
5	Contact Name:		Caitlyn Lumpkin				1									
6	Telephone Number:		678-389-6024													
7	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LI	FELINE NON-T	RIBAL		LIFELINI	E TRIBAL			TRIB	BAL LINK
10		(2)	(3)	(4)	(5)	(6)										
11		SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of		(c) Total	Total	Tribal	Rate per sub	Amount
12		AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	19,159	\$9.25	\$177,220.75			\$0.00	\$177,221			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	17,491	\$9.25	\$161,791.75			\$0.00	\$161,792			
15	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	7,003	\$9.25	\$64,777.75			\$0.00	\$64,778			
16	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	73,426	\$9.25	\$679,190.50			\$0.00	\$679,191			
17	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	4,351	\$9.25	\$40,246.75			\$0.00	\$40,247			
18	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	45,893	\$9.25	\$424,510.25			\$0.00	\$424,510			
19	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	10,522	\$9.25	\$97,328.50			\$0.00	\$97,329			
20	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	1,884	\$9.25	\$17,427.00			\$0.00	\$17,427			
21	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	40,868	\$9.25	\$378,029.00			\$0.00	\$378,029			
22	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	24,083	\$9.25	\$222,767.75			\$0.00	\$222,768			
23	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	3,373	\$9.25	\$31,200.25			\$0.00	\$31,200			
24	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	2,180	\$9.25	\$20,165.00			\$0.00	\$20,165			
25	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	21,711	\$9.25	\$200,826.75			\$0.00	\$200,827			
26	143028229	369016 429015	823594	N	LI ONLY	TELRITE CORPORATION	27,460	\$9.25	\$254,005.00			\$0.00	\$254,005			
27	143028229		823594	N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	24,985	\$9.25	\$231,111.25			\$0.00	\$231,111			
28 29	143028229	389017 559019	823594	N N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	299 3,414	\$9.25	\$2,765.75			\$0.00	\$2,766			
30	143028229 143028229	309018	823594 823594	N N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	43,974	\$9.25 \$9.25	\$31,579.50 \$406.759.50			\$0.00 \$0.00	\$31,580 \$406,760			
31	143028229	439056	823594 823594	N N	LI ONLY LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	43,974	\$9.25 \$9.25	\$406,759.50	3,389	¢24.05	\$116,073.25	\$406,760			
32	143028229	179021	823594 823594	N N	LI ONLY LI ONLY	TELRITE CORPORATION	8,901	\$9.25 \$9.25	\$37.00	3,389	\$34.25	\$116,073.25	\$116,110			
33	143028229	639010	823594	N N	LI ONLY	TELRITE CORPORATION	225,029	\$9.25	\$2,081,518.25			\$0.00	\$2,081,518			
34	143028229	589008	823594	N N	LI ONLY	TELRITE CORPORATION	9,034	\$9.25	\$83,564,50			\$0.00	\$2,061,516			
35	143028229	249021	823594	N N	LI ONLY	TELRITE CORPORATION	27,561	\$9.25	\$254,939,25			\$0.00	\$254,939			
36	143028229	449077	823594	N N	LI ONLY	TELRITE CORPORATION	300	\$9.25	\$2,775.00			\$0.00	\$254,939			
37	143028229	509010	823594	N N	LI ONLY	TELRITE CORPORATION	1,311	\$9.25	\$12,126,75			\$0.00	\$12,127			
38	143028229	529019	823594	N N	LI ONLY	TELRITE CORPORATION	1,348	\$9.25	\$12,120.73			\$0.00	\$12,127			
39	143028229	339043	823594	N N	LI ONLY	TELRITE CORPORATION	2,453	\$9.25	\$22,690.25			\$0.00	\$22,690			
40	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	17,054	\$9.25	\$157,749.50			\$0.00	\$157,750			
41	Subtotals	203010	02339	- ''	EI ONE!		665.071	ψ9.20	\$6,151,906.75	3,389		\$116.073.25				
41	Subiolais			<u> </u>	l		170,000		φ0,101,900./5	3,369	l	\$110,073.25	φθ,207,963.00			

	ΙQ	R	S	Ιт	Ιυ	l v	W	l x	Υ	Z
1							**			
2										
3										
4										
5										
6										
7										
8										
9	UP		TLS	S	ı		ETC PA	YMEN	Т	
10				ĺ					•	
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$177,221	\$0	\$0	\$177,221	
14		\$0.00			\$0	\$161,792	\$0	\$0	\$161,792	
15		\$0.00			\$0	\$64,778	\$0	\$0	\$64,778	
16		\$0.00			\$0	\$679,191	\$0	\$0	\$679,191	
17		\$0.00			\$0	\$40,247	\$0	\$0	\$40,247	
18		\$0.00			\$0	\$424,510	\$0	\$0	\$424,510	
19		\$0.00			\$0	\$97,329	\$0	\$0	\$97,329	
20		\$0.00			\$0	\$17,427	\$0	\$0	\$17,427	
21		\$0.00			\$0	\$378,029	\$0	\$0	\$378,029	
22		\$0.00			\$0	\$222,768	\$0	\$0	\$222,768	
23		\$0.00			\$0	\$31,200	\$0	\$0	\$31,200	
24		\$0.00			\$0	\$20,165	\$0	\$0	\$20,165	
25		\$0.00			\$0	\$200,827	\$0	\$0	\$200,827	
26		\$0.00			\$0	\$254,005	\$0	\$0	\$254,005	
27		\$0.00			\$0	\$231,111	\$0	\$0	\$231,111	
28		\$0.00			\$0	\$2,766	\$0	\$0	\$2,766	
29		\$0.00			\$0	\$31,580	\$0	\$0	\$31,580	
30		\$0.00			\$0	\$406,760	\$0	\$0	\$406,760	
31		\$0.00			\$0	\$116,110	\$0	\$0	\$116,110	
32		\$0.00			\$0	\$82,334	\$0	\$0	\$82,334	
33		\$0.00			\$0	\$2,081,518	\$0	\$0	\$2,081,518	
34		\$0.00			\$0	\$83,565	\$0	\$0	\$83,565	
35		\$0.00			\$0	\$254,939	\$0	\$0	\$254,939	
36		\$0.00			\$0	\$2,775	\$0	\$0	\$2,775	
37		\$0.00			\$0	\$12,127	\$0	\$0	\$12,127	
38		\$0.00			\$0	\$12,469	\$0	\$0	\$12,469	
39		\$0.00			\$0	\$22,690	\$0	\$0	\$22,690	
40		\$0.00			\$0	\$157,750	\$0	\$0	\$157,750	
41		\$0.00			\$0.00	\$6,267,983.00	\$0.00	\$0.00	\$6,267,983.00	

	А	В	С	D	Е	F	G	Н	I	J	К	L	М	N	0	Р
1	Company Name:		TELRITE CORPORATION			Submission Date:		11/5/2014								
2						Data Month:		October 2014								
3	Mailing Address:		4113 MONTICELLO ST			Type of filing:										
4	-		COVINGTON, GA 30014			✓ Original	Revisio	n								
5	Contact Name:		Caitlyn Lumpkin				ı	1								
	Telephone Number:		678-389-6024													
	Fax Number:		770-594-3878													
_	E-mail Address:		cmmurp@cgminc.com													
9	(4)	(0)		400	(=)	(0)	LI	FELINE NON-1	RIBAL		LIFELINE	TRIBAL	1		TRIB	AL LINE
10	(1)	(2)	(3)	(4)	(5)	(6)										
11		SERVING	499 FILER ID		ETC DESIGNATION		(a) No. of		(c) Total	(a) No. of	· , ,	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	19,405	\$9.25	\$179,496.25			\$0.00	\$179,496			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	17,697	\$9.25	\$163,697.25			\$0.00	\$163,697			
15	143028229	469024 229017	823594	N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	7,297	\$9.25	\$67,497.25			\$0.00	\$67,497			
16	143028229		823594	N	LI ONLY	TELRITE CORPORATION	74,911	\$9.25	\$692,926.75			\$0.00	\$692,927			
17 18	143028229 143028229	359138	823594 823594	N N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	4,114 45,185	\$9.25 \$9.25	\$38,054.50 \$417,961.25			\$0.00 \$0.00	\$38,055 \$417,961			
19	143028229	349030 329018	823594		LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	10,238	\$9.25				\$0.00	\$94,702			
20	143028229	419035	823594 823594	N N	LI ONLY LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	1,736	\$9.25 \$9.25	\$94,701.50 \$16,058.00			\$0.00	\$94,702 \$16.058			
21	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	46,344	\$9.25	\$428,682.00			\$0.00	\$428,682			
22	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	25,079	\$9.25	\$231,980.75			\$0.00	\$231,981			
23	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	3,426	\$9.25	\$31,690.50			\$0.00	\$31,691			
24	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	2,183	\$9.25	\$20,192,75			\$0.00	\$20,193			
25	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	21,695	\$9.25	\$200,678.75			\$0.00	\$200,679			
26	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	27,663	\$9.25	\$255.882.75			\$0.00	\$255.883			
27	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	24,158	\$9.25	\$223,461.50			\$0.00	\$223,462			
28	143028229	389017	823594	N	LI ONLY	TELRITE CORPORATION	456	\$9.25	\$4,218.00			\$0.00	\$4,218			
29	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	3,198	\$9.25	\$29,581.50			\$0.00	\$29,582			
30	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	43,444	\$9.25	\$401,857.00			\$0.00	\$401,857			
31	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION	6	\$9.25	\$55.50	3,393	\$34.25	\$116,210.25	\$116,266			
32	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	13,133	\$9.25	\$121,480.25			\$0.00	\$121,480			
33	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	225,055	\$9.25	\$2,081,758.75			\$0.00	\$2,081,759			
34	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	8,268	\$9.25	\$76,479.00			\$0.00	\$76,479			
35	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	28,595	\$9.25	\$264,503.75			\$0.00	\$264,504			
36	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	336	\$9.25	\$3,108.00			\$0.00	\$3,108			
37	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	1,503	\$9.25	\$13,902.75			\$0.00	\$13,903			
38	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	1,117	\$9.25	\$10,332.25			\$0.00	\$10,332			
39	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	2,633	\$9.25	\$24,355.25			\$0.00	\$24,355			
40	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	17,792	\$9.25	\$164,576.00			\$0.00	\$164,576			
41	Subtotals						676,667		\$6,259,169.75	3,393		\$116,210.25	\$6,375,383.00			

	l Q	R	S	Ιт	Ιυ	V	W	Х	Υ	Z
1			-				- **			
2										
3										
4										
5										
6										
7										
8										
9	ÜP		TL	S			ETC PA	YMEN	F	
10									-	
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$179,496	\$0	\$0	\$179,496	
14		\$0.00			\$0	\$163,697	\$0	\$0	\$163,697	
15		\$0.00			\$0	\$67,497	\$0	\$0	\$67,497	
16		\$0.00			\$0	\$692,927	\$0	\$0	\$692,927	
17		\$0.00			\$0	\$38,055	\$0	\$0	\$38,055	
18		\$0.00			\$0	\$417,961	\$0	\$0	\$417,961	
19		\$0.00			\$0	\$94,702	\$0	\$0	\$94,702	
20		\$0.00			\$0	\$16,058	\$0	\$0	\$16,058	
21		\$0.00			\$0	\$428,682	\$0	\$0	\$428,682	
22		\$0.00			\$0	\$231,981	\$0	\$0	\$231,981	
23		\$0.00			\$0	\$31,691	\$0	\$0	\$31,691	
24		\$0.00			\$0	\$20,193	\$0	\$0	\$20,193	
25		\$0.00			\$0	\$200,679	\$0	\$0	\$200,679	
26		\$0.00			\$0	\$255,883	\$0	\$0	\$255,883	
27		\$0.00			\$0	\$223,462	\$0	\$0	\$223,462	
28		\$0.00			\$0	\$4,218	\$0	\$0	\$4,218	
29		\$0.00			\$0	\$29,582	\$0	\$0	\$29,582	
30		\$0.00			\$0	\$401,857	\$0	\$0	\$401,857	
31		\$0.00			\$0	\$116,266	\$0	\$0	\$116,266	
32		\$0.00			\$0	\$121,480	\$0	\$0	\$121,480	
33		\$0.00			\$0	\$2,081,759	\$0	\$0	\$2,081,759	
34		\$0.00			\$0	\$76,479	\$0	\$0	\$76,479	
35		\$0.00			\$0	\$264,504	\$0	\$0	\$264,504	
36		\$0.00			\$0	\$3,108	\$0	\$0	\$3,108	
37		\$0.00			\$0	\$13,903	\$0	\$0	\$13,903	
38		\$0.00			\$0	\$10,332	\$0	\$0	\$10,332	
39		\$0.00			\$0	\$24,355	\$0	\$0	\$24,355	
40		\$0.00			\$0	\$164,576	\$0	\$0	\$164,576	
41		\$0.00			\$0.00	\$6,375,383.00	\$0.00	\$0.00	\$6,375,383.00	

	А	В	С	D	E	F	G	Н	I	J	K	L	М	N	0	Р
1	Company Name:		TELRITE CORPORATION			Submission Date:		12/5/2014								
2						Data Month:		November 2014								
3	Mailing Address:		4113 MONTICELLO ST			Type of filing:										
4			COVINGTON, GA 30014			☑ Original	☐ Revision	1								
5	Contact Name:		Caitlyn Lumpkin													
	Telephone Number:		678-389-6024													
	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LII	FELINE NON-T	RIBAL		LIFELINE	ETRIBAL			TRIE	AL LINE
10	(1)	(2)	(3)	(4)	(5)	(6)										
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	18,895	\$9.25	\$174,778.75			\$0.00	\$174,779			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	18,600	\$9.25	\$172,050.00			\$0.00	\$172,050			
15	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	7,434	\$9.25	\$68,764.50			\$0.00				
16	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	74,798	\$9.25	\$691,881.50			\$0.00				
17	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	3,852	\$9.25	\$35,631.00			\$0.00	\$35,631			
18	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	42,630	\$9.25	\$394,327.50			\$0.00				
19	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	9,647	\$9.25	\$89,234.75			\$0.00				
20	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	1,549	\$9.25	\$14,328.25			\$0.00	\$14,328			
21	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	48,454	\$9.25	\$448,199.50			\$0.00	\$448,200			
22	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	24,307	\$9.25	\$224,839.75			\$0.00	\$224,840			
23	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	3,144	\$9.25	\$29,082.00			\$0.00	\$29,082			
24	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	2,070	\$9.25	\$19,147.50			\$0.00				
25	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	20,974	\$9.25	\$194,009.50			\$0.00	\$194,010			
26	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	27,586	\$9.25	\$255,170.50			\$0.00	\$255,171			
27	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	23,067	\$9.25	\$213,369.75			\$0.00	,			
28	143028229	389017	823594	N	LI ONLY	TELRITE CORPORATION	584	\$9.25	\$5,402.00			\$0.00	*-, -			
29	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	2,986 41,096	\$9.25	\$27,620.50			\$0.00	\$27,621			
30	143028229	309018	823594	N 	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	41,096	\$9.25	\$380,138.00	0.460	001.05	\$0.00	\$380,138			
32	143028229 143028229	439056 179021	823594 823594	N	LI ONLY LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	14,760	\$9.25 \$9.25	\$666.00 \$136,530.00	3,109	\$34.25	\$106,483.25 \$0.00	\$107,149 \$136,530			
33	143028229	639010	823594 823594	N N		TELRITE CORPORATION TELRITE CORPORATION	222,462	\$9.25	\$136,530.00			\$0.00	\$136,530			
34	143028229 143028229	589008	823594 823594	N N	LI ONLY	TELRITE CORPORATION	7,661	\$9.25 \$9.25				\$0.00	\$2,057,774 \$70,864			
35		249021			LI ONLY	TELRITE CORPORATION	28,706	\$9.25 \$9.25	\$70,864.25			\$0.00	1 1			
36	143028229 143028229	449021	823594 823594	N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	9,862	\$9.25 \$9.25	\$265,530.50 \$91,223.50			\$0.00	\$265,531 \$91,224			
37	143028229 143028229	509010	823594 823594	N	LI ONLY	TELRITE CORPORATION	1,464	\$9.25 \$9.25	\$91,223.50 \$13,542.00			\$0.00	\$91,224 \$13,542			
38	143028229 143028229	649004	823594 823594	N N	LI ONLY	TELRITE CORPORATION	1,464	\$9.25 \$9.25	\$13,542.00 \$9.333.25			\$0.00	\$13,542 \$9,333			
39	143028229	529019	823594 823594	N N	LI ONLY LI ONLY	TELRITE CORPORATION	1,009	\$9.25 \$9.25	\$9,333.25			\$0.00	\$9,333			
40	143028229	339043	823594	N N	LI ONLY	TELRITE CORPORATION	2,697	\$9.25	\$9,287.00			\$0.00	\$9,267			
41	143028229	209016	823594 823594	N N	LI ONLY LI ONLY	TELRITE CORPORATION	17,902	\$9.25 \$9.25	\$24,947.25 \$165,593.50			\$0.00	\$24,947 \$165.594			
_		203010	823594	IN	LI UNLT	TELRITE CORPORATION	679,272	φ9.25		3,109			*			
42	Subtotals						6/9,2/2		\$6,283,266.00	3,109		\$106,483.25	\$6,389,755.00			

	Q	R	s	Т	U	V	W	l x	ΙΥ	Z
1										_
2										
3										
4										
5										
6										
7										
8										
9	UP		TL	S			ETC PA	YMFN	Г	
10				ĺ	1				•	
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$174,779	\$0	\$0	\$174,779	Commonto
14		\$0.00			\$0	\$172,050	\$0	\$0	\$172,050	
15		\$0.00			\$0	\$68,765	\$0	\$0	\$68,765	
16		\$0.00			\$0	\$691,882	\$0	\$0	\$691,882	
17		\$0.00			\$0	\$35,631	\$0	\$0	\$35,631	
18		\$0.00			\$0	\$394,328	\$0	\$0	\$394,328	
19		\$0.00			\$0	\$89,235	\$0	\$0	\$89,235	
20		\$0.00			\$0	\$14,328	\$0	\$0	\$14,328	
21		\$0.00			\$0	\$448,200	\$0	\$0	\$448,200	
22		\$0.00			\$0	\$224,840	\$0	\$0	\$224,840	
23		\$0.00			\$0	\$29,082	\$0	\$0	\$29,082	
24		\$0.00			\$0	\$19,148	\$0	\$0	\$19,148	
25		\$0.00			\$0	\$194,010	\$0	\$0	\$194,010	
26		\$0.00			\$0	\$255,171	\$0	\$0	\$255,171	
27		\$0.00			\$0	\$213,370	\$0	\$0	\$213,370	
28		\$0.00			\$0	\$5,402	\$0	\$0	\$5,402	
29		\$0.00			\$0	\$27,621	\$0	\$0	\$27,621	
30		\$0.00			\$0	\$380,138	\$0	\$0	\$380,138	
31		\$0.00			\$0	\$107,149	\$0	\$0	\$107,149	
32		\$0.00			\$0	\$136,530	\$0	\$0	\$136,530	
33		\$0.00			\$0	\$2,057,774	\$0	\$0	\$2,057,774	
34		\$0.00			\$0	\$70,864	\$0	\$0	\$70,864	
35		\$0.00			\$0	\$265,531	\$0	\$0	\$265,531	
36		\$0.00			\$0	\$91,224	\$0	\$0	\$91,224	
37		\$0.00			\$0	\$13,542	\$0	\$0	\$13,542	
38		\$0.00			\$0	\$9,333	\$0	\$0	\$9,333	
39		\$0.00			\$0	\$9,287	\$0	\$0	\$9,287	
40		\$0.00			\$0	\$24,947	\$0	\$0	\$24,947	
41		\$0.00			\$0	\$165,594	\$0	\$0	\$165,594	
42		\$0.00			\$0.00	\$6,389,755.00	\$0.00	\$0.00	\$6,389,755.00	

	Α	В	С	D	Е	F	G	Н	I	J	K	L	М	N	0	Р
1	Company Name:		TELRITE CORPORATION			Submission Date:		1/7/2015								
2						Data Month:		December 2014								
3	Mailing Address:		4113 MONTICELLO ST			Type of filing:										
4			COVINGTON, GA 30014			☑ Original	Revision	1								
5	Contact Name:		Caitlyn Lumpkin													
	Telephone Number:		678-389-6024													
	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LI	FELINE NON-T	RIBAL		LIFELINE	ETRIBAL		١.	TRIE	AL LINE
10	(1)	(2)	(3)	(4)	(5)	(6)										
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	18,204	\$9.25	\$168,387.00			\$0.00	\$168,387			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	20,972	\$9.25	\$193,991.00			\$0.00	\$193,991			
15	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	7,677	\$9.25	\$71,012.25			\$0.00				
16	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	76,161	\$9.25	\$704,489.25			\$0.00				
17	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	3,700	\$9.25	\$34,225.00			\$0.00	\$34,225			
18	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	39,626	\$9.25	\$366,540.50			\$0.00				
19	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	9,022	\$9.25	\$83,453.50			\$0.00				
20	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	1,389	\$9.25	\$12,848.25			\$0.00	\$12,848			
21	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	50,950	\$9.25	\$471,287.50			\$0.00	\$471,288			
22	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	22,662	\$9.25	\$209,623.50			\$0.00	\$209,624			
23 24	143028229	189014 109016	823594 823594	N 	LI ONLY		2,874 1,908	\$9.25 \$9.25	\$26,584.50			\$0.00	\$26,585			
25	143028229	319039		N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	20,790		\$17,649.00			\$0.00				
26	143028229 143028229	369016	823594 823594	N 	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	27,250	\$9.25 \$9.25	\$192,307.50			\$0.00 \$0.00	\$192,308 \$252,063			
27	143028229	429015	823594 823594	N N	LI ONLY LI ONLY	TELRITE CORPORATION	21,570	\$9.25 \$9.25	\$252,062.50 \$199.522.50			\$0.00				
28	143028229	389017	823594	N N	LI ONLY	TELRITE CORPORATION	593	\$9.25	\$5,485,25			\$0.00				
29	143028229	559019	823594	N N	LI ONLY	TELRITE CORPORATION	2,746	\$9.25	\$5,465.25			\$0.00	\$5,465			
30	143028229	309018	823594	N N	LI ONLY	TELRITE CORPORATION	38,834	\$9.25	\$359,214.50			\$0.00	\$359,215			
31	143028229	439056	823594	N N	LI ONLY	TELRITE CORPORATION	55,554	\$9.25	\$0.00	2.812	\$34.25		\$96.311			
32	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	14,543	\$9.25	\$134,522.75	2,012	ψ34.20	\$0.00	\$134,523			
33	143028229	639010	823594	N N	LI ONLY	TELRITE CORPORATION	222,266	\$9.25	\$2,055,960.50			\$0.00	\$2,055,961			
34	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	6,922	\$9.25	\$64,028.50			\$0.00	\$64,029			
35	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	29,450	\$9.25	\$272,412.50			\$0.00	\$272.413			
36	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	24,252	\$9.25	\$224.331.00			\$0.00	\$224.331			
37	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	1,415	\$9.25	\$13,088.75			\$0.00	\$13,089			
38	143028229	649004	823594	N N	LI ONLY	TELRITE CORPORATION	1,675	\$9.25	\$15,493.75			\$0.00	\$15,494			
39	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	938	\$9.25	\$8,676.50			\$0.00	\$8,677			
40	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	2,769	\$9.25	\$25,613.25			\$0.00	\$25,613			
41	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	18,840	\$9.25	\$174,270.00			\$0.00	\$174,270			
42	Subtotals						689,998		\$6,382,481.50	2,812		\$96,311.00	\$6,478,799.00			

	Q	R	S	Т	U	V	W	l x	ΙΥ	Z
1										_
2										
3										
4										
5										
6										
7										
8										
9	ÜP		TLS	S			ETC PA	YMFN	Г	
10				ĺ	1				•	
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$168,387	\$0	\$0	\$168,387	Commonto
14		\$0.00			\$0	\$193,991	\$0	\$0	\$193,991	
15		\$0.00			\$0	\$71,012	\$0	\$0	\$71,012	
16		\$0.00			\$0	\$704,489	\$0	\$0	\$704,489	
17		\$0.00			\$0	\$34,225	\$0	\$0	\$34,225	
18		\$0.00			\$0	\$366,541	\$0	\$0	\$366,541	
19		\$0.00			\$0	\$83,454	\$0	\$0	\$83,454	
20		\$0.00			\$0	\$12,848	\$0	\$0	\$12,848	
21		\$0.00			\$0	\$471,288	\$0	\$0	\$471,288	
22		\$0.00			\$0	\$209,624	\$0	\$0	\$209,624	
23		\$0.00			\$0	\$26,585	\$0	\$0	\$26,585	
24		\$0.00			\$0	\$17,649	\$0	\$0	\$17,649	
25		\$0.00			\$0	\$192,308	\$0	\$0	\$192,308	
26		\$0.00			\$0	\$252,063	\$0	\$0	\$252,063	
27		\$0.00			\$0	\$199,523	\$0	\$0	\$199,523	
28		\$0.00			\$0	\$5,485	\$0	\$0	\$5,485	
29		\$0.00			\$0	\$25,401	\$0	\$0	\$25,401	
30		\$0.00			\$0	\$359,215	\$0	\$0	\$359,215	
31		\$0.00			\$0	\$96,311	\$0	\$0	\$96,311	
32		\$0.00			\$0	\$134,523	\$0	\$0	\$134,523	
33		\$0.00			\$0	\$2,055,961	\$0	\$0	\$2,055,961	
34		\$0.00			\$0	\$64,029	\$0	\$0	\$64,029	
35		\$0.00			\$0	\$272,413	\$0	\$0	\$272,413	
36		\$0.00			\$0	\$224,331	\$0	\$0	\$224,331	
37		\$0.00			\$0	\$13,089	\$0	\$0	\$13,089	
38		\$0.00			\$0	\$15,494	\$0	\$0	\$15,494	
39		\$0.00			\$0	\$8,677	\$0	\$0	\$8,677	
40		\$0.00			\$0	\$25,613	\$0	\$0	\$25,613	
41		\$0.00			\$0	\$174,270	\$0	\$0	\$174,270	
42		\$0.00			\$0.00	\$6,478,799.00	\$0.00	\$0.00	\$6,478,799.00	

	Α	В	С	D	Е	F	G	Н	ı	J	K	L	М	N	0	Р
1	Company Name:		TELRITE CORPORATION			Submission Date:		2/7/2015								
2						Data Month:		January 2015								
3	Mailing Address:		4113 MONTICELLO ST			Type of filing:		•								
4	-		COVINGTON, GA 30014			✓ Original	Revision									
5	Contact Name:		Caitlyn Lumpkin				1									
6	Telephone Number:		678-389-6024													
7	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LIF	ELINE NON-TR	IBAL		LIFELINE	TRIBAL			TRIB	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)										
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	15,609	\$9.25	\$144,383.25			\$0.00	\$144,383			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	26,447	\$9.25	\$244,634.75			\$0.00	\$244,635			
15	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	7,872	\$9.25	\$72,816.00			\$0.00	\$72,816			
16	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	64,666	\$9.25	\$598,160.50			\$0.00	\$598,161			
17	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	3,104	\$9.25	\$28,712.00			\$0.00	\$28,712			
18	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	28,575	\$9.25	\$264,318.75			\$0.00	\$264,319			
19	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	6,192	\$9.25	\$57,276.00			\$0.00	\$57,276			
20	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	874	\$9.25	\$8,084.50			\$0.00	\$8,085			
21	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	48,049	\$9.25	\$444,453.25			\$0.00	\$444,453			
22	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	20,178	\$9.25	\$186,646.50			\$0.00	\$186,647			
23	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	2,293	\$9.25	\$21,210.25			\$0.00	\$21,210			
24	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	1,009	\$9.25	\$9,333.25			\$0.00	\$9,333			
25	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	16,766	\$9.25	\$155,085.50			\$0.00	\$155,086			
26	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	22,459	\$9.25	\$207,745.75			\$0.00	\$207,746			
27	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	15,254	\$9.25	\$141,099.50			\$0.00	\$141,100			
28	143028229	389017	823594	N	LI ONLY	TELRITE CORPORATION	576	\$9.25	\$5,328.00			\$0.00	\$5,328			
29	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	2,767	\$9.25	\$25,594.75			\$0.00	\$25,595			
30	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	30,622	\$9.25	\$283,253.50			\$0.00	\$283,254			
31	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION		\$9.25	\$0.00	2,230	\$34.25	\$76,377.50	\$76,378			
32	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	13,283	\$9.25	\$122,867.75			\$0.00	\$122,868			
33	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	199,683	\$9.25	\$1,847,067.75			\$0.00	\$1,847,068			
34	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	4,354	\$9.25	\$40,274.50			\$0.00	\$40,275			
35	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	27,253	\$9.25	\$252,090.25			\$0.00	\$252,090			
36	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	38,275	\$9.25	\$354,043.75			\$0.00	\$354,044			
37	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	1,334	\$9.25	\$12,339.50			\$0.00	\$12,340			
38	143028229	649004	823594	N	LI ONLY	TELRITE CORPORATION	2,057	\$9.25	\$19,027.25			\$0.00	\$19,027			
39	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	836	\$9.25	\$7,733.00			\$0.00	\$7,733			
40	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	2,833	\$9.25	\$26,205.25			\$0.00	\$26,205			
41	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	18,410	\$9.25	\$170,292.50			\$0.00	\$170,293			
42	Subtotals						621,630		\$5,750,077.50	2,230		\$76,377.50	\$5,826,460.00			oxdot

	Q	R	S	Т	U	V	W	Х	Υ	Z
1										_
2										
3										
4										
5										
6										
7										
8										
_	UP		TL	S			ETC PA	YMEN	Г	
10										
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$144,383	\$0	\$0	\$144,383	
14		\$0.00			\$0	\$244,635	\$0	\$0	\$244,635	
15		\$0.00			\$0	\$72,816	\$0	\$0	\$72,816	
16		\$0.00			\$0	\$598,161	\$0	\$0	\$598,161	
17		\$0.00			\$0	\$28,712	\$0	\$0	\$28,712	
18		\$0.00			\$0	\$264,319	\$0	\$0	\$264,319	
19		\$0.00			\$0	\$57,276	\$0	\$0	\$57,276	
20		\$0.00			\$0	\$8,085	\$0	\$0	\$8,085	
21		\$0.00			\$0	\$444,453	\$0	\$0	\$444,453	
22		\$0.00			\$0	\$186,647	\$0	\$0	\$186,647	
23		\$0.00			\$0	\$21,210	\$0	\$0	\$21,210	
24		\$0.00			\$0	\$9,333	\$0	\$0	\$9,333	
25		\$0.00			\$0	\$155,086	\$0	\$0	\$155,086	
26		\$0.00			\$0	\$207,746	\$0	\$0	\$207,746	
27		\$0.00			\$0	\$141,100	\$0	\$0	\$141,100	
28		\$0.00			\$0	\$5,328	\$0	\$0	\$5,328	
29		\$0.00			\$0	\$25,595	\$0	\$0	\$25,595	
30		\$0.00			\$0	\$283,254	\$0	\$0	\$283,254	
31		\$0.00			\$0	\$76,378	\$0	\$0	\$76,378	
32		\$0.00			\$0	\$122,868	\$0	\$0	\$122,868	
33		\$0.00			\$0	\$1,847,068	\$0	\$0	\$1,847,068	
34		\$0.00			\$0	\$40,275	\$0	\$0	\$40,275	
35		\$0.00			\$0	\$252,090	\$0	\$0	\$252,090	
36		\$0.00			\$0	\$354,044	\$0	\$0	\$354,044	
37		\$0.00			\$0	\$12,340	\$0	\$0	\$12,340	
38		\$0.00			\$0	\$19,027	\$0	\$0	\$19,027	
39		\$0.00			\$0	\$7,733	\$0	\$0	\$7,733	
40		\$0.00			\$0	\$26,205	\$0	\$0	\$26,205	
41		\$0.00			\$0	\$170,293	\$0	\$0	\$170,293	
42		\$0.00			\$0.00	\$5,826,460.00	\$0.00	\$0.00	\$5,826,460.00	

	Α	В	С	D	E	_	G	Н			V		М	N	0	Р
_		ь	TELRITE CORPORATION	D		0.1	G	3/6/2015	'	J	K	L	IVI	IN		F
1	Company Name:		TELRITE CORPORATION			Submission Date:		0,0,00							\vdash	
2	Mailing Address:		4113 MONTICELLO ST			Data Month: Type of filing:		February 2015							\vdash	
1	Mailing Address:		COVINGTON, GA 30014				☐ Revision								\vdash	
5	Contact Name:		Caitlyn Lumpkin			☑ Original	☐ Revision								 	
_	Telephone Number:		678-389-6024												 	
	Fax Number:		770-594-3878													
	E-mail Address:		cmmurp@cgminc.com													
9							LIF	ELINE NON-TR	RIBAL		LIFELINE	TRIBAL			TRIB	BAL LINE
10	(1)	(2)	(3)	(4)	(5)	(6)		 	 						1	
11	USAC	SERVING	499 FILER ID		ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	14,561	\$9.25	\$134,689.25		,,,,	\$0.00	\$134,689		7	
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	29,574	\$9.25	\$273,559.50			\$0.00	\$273,560			
15	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	8,119	\$9.25	\$75,100.75			\$0.00	\$75,101			
16	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	63,294	\$9.25	\$585,469.50			\$0.00	\$585,470			
17	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	2,813	\$9.25	\$26,020.25			\$0.00	\$26,020			
18	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	27,648	\$9.25	\$255,744.00			\$0.00	\$255,744			
19	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	5,936	\$9.25	\$54,908.00			\$0.00	\$54,908			
20	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	806	\$9.25	\$7,455.50			\$0.00	\$7,456			
21	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	46,227	\$9.25	\$427,599.75			\$0.00	\$427,600			
22	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	20,709	\$9.25	\$191,558.25			\$0.00	\$191,558			
23	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	2,639	\$9.25	\$24,410.75			\$0.00	\$24,411			
24	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	947	\$9.25	\$8,759.75			\$0.00	\$8,760			
25	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	15,997	\$9.25	\$147,972.25			\$0.00	\$147,972			
26	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	21,696	\$9.25	\$200,688.00			\$0.00	\$200,688			
27	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	14,388	\$9.25	\$133,089.00			\$0.00	\$133,089			
28	143028229	389017	823594	N	LI ONLY	TELRITE CORPORATION	560	\$9.25	\$5,180.00			\$0.00	\$5,180			
29	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	2,967	\$9.25	\$27,444.75			\$0.00	\$27,445			
30	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	28,503	\$9.25	\$263,652.75			\$0.00	\$263,653			
31	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION		\$9.25	\$0.00	2,234	\$34.25	\$76,514.50	\$76,515			
32	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	11,821	\$9.25	\$109,344.25			\$0.00	\$109,344			
33	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	205,410	\$9.25	\$1,900,042.50			\$0.00	\$1,900,043			
34	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	4,063	\$9.25	\$37,582.75			\$0.00	\$37,583			
35	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	28,115	\$9.25	\$260,063.75			\$0.00	\$260,064			
36	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	48,697	\$9.25	\$450,447.25			\$0.00	\$450,447			
37	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	1,250	\$9.25	\$11,562.50			\$0.00	\$11,563			
38	143028229	649004	823594	N	LI ONLY	TELRITE CORPORATION	2,165	\$9.25	\$20,026.25			\$0.00	\$20,026			
39	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	747	\$9.25	\$6,909.75			\$0.00	\$6,910			
40	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	2,574	\$9.25	\$23,809.50			\$0.00	\$23,810			
41	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	18,237	\$9.25	\$168,692.25			\$0.00	\$168,692			
42	Subtotals]		630,463		\$5,831,782.75	2,234		\$76,514.50	\$5,908,301.00			

	Q	R	S	Т	U	V	W	Х	Υ	Z
1										_
2										
3										
4										
5										
6										
7										
8										
	UP		TL	S			ETC PA	YMEN	т	
10										
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$134,689	\$0	\$0	\$134,689	
14		\$0.00			\$0	\$273,560	\$0	\$0	\$273,560	
15		\$0.00			\$0	\$75,101	\$0	\$0	\$75,101	
16		\$0.00			\$0	\$585,470	\$0	\$0	\$585,470	
17		\$0.00			\$0	\$26,020	\$0	\$0	\$26,020	
18		\$0.00			\$0	\$255,744	\$0	\$0	\$255,744	
19		\$0.00			\$0	\$54,908	\$0	\$0	\$54,908	
20		\$0.00			\$0	\$7,456	\$0	\$0	\$7,456	
21		\$0.00			\$0	\$427,600	\$0	\$0	\$427,600	
22		\$0.00			\$0	\$191,558	\$0	\$0	\$191,558	
23		\$0.00			\$0	\$24,411	\$0	\$0	\$24,411	
24		\$0.00			\$0	\$8,760	\$0	\$0	\$8,760	
25		\$0.00			\$0	\$147,972	\$0	\$0	\$147,972	
26		\$0.00			\$0	\$200,688	\$0	\$0	\$200,688	
27		\$0.00			\$0	\$133,089	\$0	\$0	\$133,089	
28		\$0.00			\$0	\$5,180	\$0	\$0	\$5,180	
29		\$0.00			\$0	\$27,445	\$0	\$0	\$27,445	
30		\$0.00			\$0	\$263,653	\$0	\$0	\$263,653	
31		\$0.00			\$0	\$76,515	\$0	\$0	\$76,515	
32		\$0.00			\$0	\$109,344	\$0	\$0	\$109,344	
33		\$0.00			\$0	\$1,900,043	\$0	\$0	\$1,900,043	
34		\$0.00			\$0	\$37,583	\$0	\$0	\$37,583	
35		\$0.00			\$0	\$260,064	\$0	\$0	\$260,064	
36		\$0.00			\$0	\$450,447	\$0	\$0	\$450,447	
37		\$0.00			\$0	\$11,563	\$0	\$0	\$11,563	
38		\$0.00			\$0	\$20,026	\$0	\$0	\$20,026	
39		\$0.00			\$0	\$6,910	\$0	\$0	\$6,910	
40		\$0.00			\$0	\$23,810	\$0	\$0	\$23,810	
41		\$0.00			\$0	\$168,692	\$0	\$0	\$168,692	
42		\$0.00			\$0.00	\$5,908,301.00	\$0.00	\$0.00	\$5,908,301.00	

	Α	В	С	D	Е	F	G	Н	I	J	K	L	М	N	0	Р
1	Company Name:		TELRITE CORPORATION			Submission Date:		4/7/2015								
2						Data Month:		March 2015								
3	Mailing Address:		4113 MONTICELLO ST			Type of filing:										
4	•		COVINGTON, GA 30014			✓ Original	Revision									
5	Contact Name:		Caitlyn Lumpkin				<u> </u>									
6	Telephone Number:		678-389-6024													
	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LIF	ELINE NON-TR	IBAL		LIFELINE	TRIBAL			TRIB	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)										
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	14,628	\$9.25	\$135,309.00			\$0.00	\$135,309			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	31,342	\$9.25	\$289,913.50			\$0.00	\$289,914			
15	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	9,374	\$9.25	\$86,709.50			\$0.00	\$86,710			
16	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	63,284	\$9.25	\$585,377.00			\$0.00	\$585,377			
17	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	3,538	\$9.25	\$32,726.50			\$0.00	\$32,727			
18	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	28,142	\$9.25	\$260,313.50			\$0.00	\$260,314			
19	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	6,345	\$9.25	\$58,691.25			\$0.00	\$58,691			
20	143028229	419035	823594	N		TELRITE CORPORATION	1314	\$9.25	\$12,154.50			\$0.00	\$12,155			
21	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	46,843	\$9.25	\$433,297.75			\$0.00	\$433,298			
22	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	22,514	\$9.25	\$208,254.50			\$0.00	\$208,255			
23	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	2,920	\$9.25	\$27,010.00			\$0.00	\$27,010			
24	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	1,017	\$9.25	\$9,407.25			\$0.00	\$9,407			
25	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	15,875	\$9.25	\$146,843.75			\$0.00	\$146,844			
26	143028229	369016	823594	N		TELRITE CORPORATION	21,473	\$9.25	\$198,625.25			\$0.00	\$198,625			
27	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	15,107	\$9.25	\$139,739.75			\$0.00	\$139,740			
28	143028229	389017	823594	N	LI ONLY	TELRITE CORPORATION	547	\$9.25	\$5,059.75			\$0.00	\$5,060			
29	143028229	559019	823594	N		TELRITE CORPORATION	3,364	\$9.25	\$31,117.00			\$0.00	\$31,117			
30	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	26,740	\$9.25	\$247,345.00			\$0.00	\$247,345			
31	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION	40.777	\$9.25	\$0.00	2,225	\$34.25	\$76,206.25	\$76,206			
32	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	10,982	\$9.25	\$101,583.50			\$0.00	\$101,584			
33	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	210,923	\$9.25	\$1,951,037.75			\$0.00	\$1,951,038			
34	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	3,819	\$9.25	\$35,325.75			\$0.00	\$35,326			
35	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	29,932	\$9.25	\$276,871.00			\$0.00	\$276,871			
36	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	59,398	\$9.25	\$549,431.50			\$0.00	\$549,432			
37	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	1,240	\$9.25	\$11,470.00			\$0.00	\$11,470			
38	143028229	649004	823594	N	LI ONLY		2,322	\$9.25	\$21,478.50			\$0.00	\$21,479			
39	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	705	\$9.25	\$6,521.25			\$0.00	\$6,521			
40	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	2,352	\$9.25	\$21,756.00			\$0.00	\$21,756			
41	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	18,853	\$9.25	\$174,390.25			\$0.00	\$174,390			
42	Subtotals						654,893		\$6,057,760.25	2,225		\$76,206.25	\$6,133,971.00			

	Q	R	S	Т	Ιυ	V	W	Х	Υ	Z
1										_
2										
3										
4										
5										
6										
7										
8										
9	UP		TL	S			ETC PA	YMEN.	T	
10										
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$135,309	\$0	\$0	\$135,309	
14		\$0.00			\$0	\$289,914	\$0	\$0	\$289,914	
15		\$0.00			\$0	\$86,710	\$0	\$0	\$86,710	
16		\$0.00			\$0	\$585,377	\$0	\$0	\$585,377	
17		\$0.00			\$0	\$32,727	\$0	\$0	\$32,727	
18		\$0.00			\$0	\$260,314	\$0	\$0	\$260,314	
19		\$0.00			\$0	\$58,691	\$0	\$0	\$58,691	
20		\$0.00			\$0	\$12,155	\$0	\$0	\$12,155	
21		\$0.00			\$0	\$433,298	\$0	\$0	\$433,298	
22		\$0.00			\$0	\$208,255	\$0	\$0	\$208,255	
23		\$0.00			\$0	\$27,010	\$0	\$0	\$27,010	
24		\$0.00			\$0	\$9,407	\$0	\$0	\$9,407	
25		\$0.00			\$0	\$146,844	\$0	\$0	\$146,844	
26		\$0.00			\$0	\$198,625	\$0	\$0	\$198,625	
27		\$0.00			\$0	\$139,740	\$0	\$0	\$139,740	
28		\$0.00			\$0	\$5,060	\$0	\$0	\$5,060	
29		\$0.00			\$0	\$31,117	\$0	\$0	\$31,117	
30		\$0.00			\$0	\$247,345	\$0	\$0	\$247,345	
31		\$0.00			\$0	\$76,206	\$0	\$0	\$76,206	
32		\$0.00			\$0	\$101,584	\$0	\$0	\$101,584	
33		\$0.00			\$0	\$1,951,038	\$0	\$0	\$1,951,038	
34		\$0.00			\$0	\$35,326	\$0	\$0	\$35,326	
35		\$0.00			\$0	\$276,871	\$0	\$0	\$276,871	
36		\$0.00			\$0	\$549,432	\$0	\$0	\$549,432	
37		\$0.00			\$0	\$11,470	\$0	\$0	\$11,470	
38		\$0.00			\$0	\$21,479	\$0	\$0	\$21,479	
39		\$0.00			\$0	\$6,521	\$0	\$0	\$6,521	
40		\$0.00			\$0	\$21,756	\$0	\$0	\$21,756	
41		\$0.00			\$0	\$174,390	\$0	\$0	\$174,390	
42		\$0.00			\$0.00	\$6,133,971.00	\$0.00	\$0.00	\$6,133,971.00	

	Α	В	С	D	Е	F	G	Н	I	J	K	L	М	N	0	Р
1	Company Name:		TELRITE CORPORATION			Submission Date:		5/5/2015								
2						Data Month:		April 2015								
3	Mailing Address:		4113 MONTICELLO ST			Type of filing:		•								
4			COVINGTON, GA 30014			✓ Original	Revision									
5	Contact Name:		Caitlyn Lumpkin				_									
6	Telephone Number:		678-389-6024													
	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LIF	ELINE NON-TR	IBAL		LIFELINE	TRIBAL			TRIB	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)										
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	14,471	\$9.25	\$133,856.75			\$0.00	\$133,857			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	32,198	\$9.25	\$297,831.50			\$0.00	\$297,832			
15	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	11,043	\$9.25	\$102,147.75			\$0.00	\$102,148			
16	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	62,210	\$9.25	\$575,442.50			\$0.00	\$575,443			
17	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	4,393	\$9.25	\$40,635.25			\$0.00	\$40,635			
18	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	30,831	\$9.25	\$285,186.75			\$0.00	\$285,187			
19	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	7,150	\$9.25	\$66,137.50			\$0.00	\$66,138			
20	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	1,416	\$9.25	\$13,098.00			\$0.00	\$13,098			
21	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	46,497	\$9.25	\$430,097.25			\$0.00	\$430,097			
22	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	22,427	\$9.25	\$207,449.75			\$0.00	\$207,450			
23	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	2,409	\$9.25	\$22,283.25			\$0.00	\$22,283			
24	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	1,270	\$9.25	\$11,747.50			\$0.00	\$11,748			
25	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	17,625	\$9.25	\$163,031.25			\$0.00	\$163,031			
26	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	20,911	\$9.25	\$193,426.75			\$0.00	\$193,427			
27	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	14,906	\$9.25	\$137,880.50			\$0.00	\$137,881			
28	143028229	389017	823594	N	LI ONLY	TELRITE CORPORATION	527	\$9.25	\$4,874.75			\$0.00	\$4,875			
29	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	3,551	\$9.25	\$32,846.75			\$0.00	\$32,847			
30	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	26,659	\$9.25	\$246,595.75			\$0.00	\$246,596			
31	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION		\$9.25	\$0.00	2,074	\$34.25	\$71,034.50	\$71,035			
32	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	10,105	\$9.25	\$93,471.25			\$0.00	\$93,471			
33	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	214,556	\$9.25	\$1,984,643.00			\$0.00	\$1,984,643			
34	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	3,323	\$9.25	\$30,737.75			\$0.00	\$30,738			
35	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	30,689	\$9.25	\$283,873.25			\$0.00	\$283,873			
36	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	73,025	\$9.25	\$675,481.25			\$0.00	\$675,481			
37	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	1,149	\$9.25	\$10,628.25			\$0.00	\$10,628			
38	143028229	649004	823594	N	LI ONLY	TELRITE CORPORATION	2,158	\$9.25	\$19,961.50			\$0.00	\$19,962			
39	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	653	\$9.25	\$6,040.25			\$0.00	\$6,040			
40	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	2,033	\$9.25	\$18,805.25			\$0.00	\$18,805			
41	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	19,340	\$9.25	\$178,895.00			\$0.00	\$178,895			
42	Subtotals						677,525		\$6,267,106.25	2,074		\$71,034.50	\$6,338,144.00			

	Q	R	S	Т	Ιυ	V	W	l x	Υ	Z
1										
2										
3										
4										
5										
6										
7										
8										
9	ÜP		TLS	S			ETC PA	YMEN.	Т	
10				ĺ					•	
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$133,857	\$0	\$0	\$133,857	
14		\$0.00			\$0	\$297,832	\$0	\$0	\$297,832	
15		\$0.00			\$0	\$102,148	\$0	\$0	\$102,148	
16		\$0.00			\$0	\$575,443	\$0	\$0	\$575,443	
17		\$0.00			\$0	\$40,635	\$0	\$0	\$40,635	
18		\$0.00			\$0	\$285,187	\$0	\$0	\$285,187	
19		\$0.00			\$0	\$66,138	\$0	\$0	\$66,138	
20		\$0.00			\$0	\$13,098	\$0	\$0	\$13,098	
21		\$0.00			\$0	\$430,097	\$0	\$0	\$430,097	
22		\$0.00			\$0	\$207,450	\$0	\$0	\$207,450	
23		\$0.00			\$0	\$22,283	\$0	\$0	\$22,283	
24		\$0.00			\$0	\$11,748	\$0	\$0	\$11,748	
25		\$0.00			\$0	\$163,031	\$0	\$0	\$163,031	
26		\$0.00			\$0	\$193,427	\$0	\$0	\$193,427	
27		\$0.00			\$0	\$137,881	\$0	\$0	\$137,881	
28		\$0.00			\$0	\$4,875	\$0	\$0	\$4,875	
29		\$0.00			\$0	\$32,847	\$0	\$0	\$32,847	
30		\$0.00			\$0	\$246,596	\$0	\$0	\$246,596	
31		\$0.00			\$0	\$71,035	\$0	\$0	\$71,035	
32		\$0.00			\$0	\$93,471	\$0	\$0	\$93,471	
33		\$0.00			\$0	\$1,984,643	\$0	\$0	\$1,984,643	
34		\$0.00			\$0	\$30,738	\$0	\$0	\$30,738	
35		\$0.00			\$0	\$283,873	\$0	\$0	\$283,873	
36		\$0.00			\$0	\$675,481	\$0	\$0	\$675,481	
37		\$0.00			\$0	\$10,628	\$0	\$0	\$10,628	
38		\$0.00			\$0	\$19,962	\$0	\$0	\$19,962	
39		\$0.00			\$0	\$6,040	\$0	\$0	\$6,040	
40		\$0.00			\$0	\$18,805	\$0	\$0	\$18,805	
41		\$0.00			\$0	\$178,895	\$0	\$0	\$178,895	
42		\$0.00			\$0.00	\$6,338,144.00	\$0.00	\$0.00	\$6,338,144.00	

	A	В	С	D	Е	F	G	Н	I	J	K	L	М	N	0	Р
1	Company Name:		TELRITE CORPORATION			Submission Date:		6/5/2015								
2						Data Month:		May 2015								
3	Mailing Address:		4113 MONTICELLO ST			Type of filing:		,								
4			COVINGTON, GA 30014				Revision									
5	Contact Name:		Caitlyn Lumpkin		·											
6	Telephone Number:		678-389-6024													
7	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LIF	ELINE NON-TR	IBAL		LIFELINE	TRIBAL			TRIB	AL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)										1
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	15,091	\$9.25	\$139,591.75			\$0.00	\$139,592			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	33,060	\$9.25	\$305,805.00			\$0.00	\$305,805			
15	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	12,959	\$9.25	\$119,870.75			\$0.00	\$119,871			
16	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	62,474	\$9.25	\$577,884.50			\$0.00	\$577,885			
17	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	4,783	\$9.25	\$44,242.75			\$0.00	\$44,243			
18	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	38,338	\$9.25	\$354,626.50			\$0.00	\$354,627			
19	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	8,927	\$9.25	\$82,574.75			\$0.00	\$82,575			
20	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	1,497	\$9.25	\$13,847.25			\$0.00	\$13,847			
21	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	49,122	\$9.25	\$454,378.50			\$0.00	\$454,379			
22	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	23,254	\$9.25	\$215,099.50			\$0.00	\$215,100			
23	143028229	189014	823594	N	,,_,	TELRITE CORPORATION	1,913	\$9.25	\$17,695.25			\$0.00	\$17,695			
24	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	1,499	\$9.25	\$13,865.75			\$0.00	\$13,866			
25	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	21,522	\$9.25	\$199,078.50			\$0.00	\$199,079			
26	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	20,447	\$9.25	\$189,134.75			\$0.00	\$189,135			
27	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	14,766	\$9.25	\$136,585.50			\$0.00	\$136,586			
28	143028229	389017	823594	N	LI ONLY	TELRITE CORPORATION	540	\$9.25	\$4,995.00			\$0.00	\$4,995			
29	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	4,461	\$9.25	\$41,264.25			\$0.00	\$41,264			
30	143028229	309018	823594	N	,,_,	TELRITE CORPORATION	32,870	\$9.25	\$304,047.50			\$0.00	\$304,048			
31	143028229	439056	823594	N		TELRITE CORPORATION		\$9.25	\$0.00	1,943	\$34.25	\$66,547.75	\$66,548			
32	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	11,175	\$9.25	\$103,368.75			\$0.00	\$103,369			
33	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	216,482	\$9.25	\$2,002,458.50			\$0.00	\$2,002,459			
34	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	3,051	\$9.25	\$28,221.75			\$0.00	\$28,222			
35	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	32,768	\$9.25	\$303,104.00			\$0.00	\$303,104			
36	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	83,308	\$9.25	\$770,599.00			\$0.00	\$770,599			
37	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	1,120	\$9.25	\$10,360.00			\$0.00	\$10,360			
38	143028229	649004	823594	N	LI ONLY	TELRITE CORPORATION	2,027	\$9.25	\$18,749.75			\$0.00	\$18,750			
39	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	607	\$9.25	\$5,614.75			\$0.00	\$5,615			
40	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	1,928	\$9.25	\$17,834.00			\$0.00	\$17,834			
41	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	20,268	\$9.25	\$187,479.00			\$0.00	\$187,479			
42	Subtotals						720,257		\$6,662,377.25	1,943		\$66,547.75	\$6,728,931.00		,	

	Q	R	S	Т	U	V	W	l x	Υ	Z
1										_
2										
3										
4										
5										
6										
7										
8										
9	UP		TLS	S			ETC PA	YMEN	Т	
10										
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$139,592	\$0	\$0	\$139,592	
14		\$0.00			\$0	\$305,805	\$0	\$0	\$305,805	
15		\$0.00			\$0	\$119,871	\$0	\$0	\$119,871	
16		\$0.00			\$0	\$577,885	\$0	\$0	\$577,885	
17		\$0.00			\$0	\$44,243	\$0	\$0	\$44,243	
18		\$0.00			\$0	\$354,627	\$0	\$0	\$354,627	
19		\$0.00			\$0	\$82,575	\$0	\$0	\$82,575	
20		\$0.00			\$0	\$13,847	\$0	\$0	\$13,847	
21		\$0.00			\$0	\$454,379	\$0	\$0	\$454,379	
22		\$0.00			\$0	\$215,100	\$0	\$0	\$215,100	
23		\$0.00			\$0	\$17,695	\$0	\$0	\$17,695	
24		\$0.00			\$0	\$13,866	\$0	\$0	\$13,866	
25		\$0.00			\$0	\$199,079	\$0	\$0	\$199,079	
26		\$0.00			\$0	\$189,135	\$0	\$0	\$189,135	
27		\$0.00			\$0	\$136,586	\$0	\$0	\$136,586	
28		\$0.00			\$0	\$4,995	\$0	\$0	\$4,995	
29		\$0.00			\$0	\$41,264	\$0	\$0	\$41,264	
30		\$0.00			\$0	\$304,048	\$0	\$0	\$304,048	
31		\$0.00			\$0	\$66,548	\$0	\$0	\$66,548	
32		\$0.00			\$0	\$103,369	\$0	\$0	\$103,369	
33		\$0.00			\$0	\$2,002,459	\$0	\$0	\$2,002,459	
34		\$0.00			\$0	\$28,222	\$0	\$0	\$28,222	
35		\$0.00			\$0	\$303,104	\$0	\$0	\$303,104	
36		\$0.00			\$0	\$770,599	\$0	\$0	\$770,599	
37		\$0.00			\$0	\$10,360	\$0	\$0	\$10,360	
38		\$0.00			\$0	\$18,750	\$0	\$0	\$18,750	
39		\$0.00			\$0	\$5,615	\$0	\$0	\$5,615	
40		\$0.00			\$0	\$17,834	\$0	\$0	\$17,834	
41		\$0.00			\$0	\$187,479	\$0	\$0	\$187,479	
42		\$0.00			\$0.00	\$6,728,931.00	\$0.00	\$0.00	\$6,728,931.00	

	Α	В	С	D	Е	F	G	Н	1	J	К	L	M	N	0	Р
1	Company Name:		TELRITE CORPORATION			Submission Date:		7/7/2015								
2						Data Month:		June 2015								
3	Mailing Address:		4113 MONTICELLO ST			Type of filing:										
4	·		COVINGTON, GA 30014				Revision									
5	Contact Name:		Caitlyn Lumpkin													
6	Telephone Number:		678-389-6024													
7	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LIF	ELINE NON-TR	RIBAL		LIFELINE	TRIBAL			TRIB	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)										
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	15,440	\$9.25	\$142,820.00			\$0.00	\$142,820			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	33,619	\$9.25	\$310,975.75			\$0.00	\$310,976			
15	143028229	549025	823594	N	LI ONLY	TELRITE CORPORATION	15,802	\$9.25	\$146,168.50			\$0.00	\$146,169			
16	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	14,619	\$9.25	\$135,225.75			\$0.00	\$135,226			
17	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	61,547	\$9.25	\$569,309.75			\$0.00	\$569,310			
18	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	5,060	\$9.25	\$46,805.00			\$0.00	\$46,805			
19	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	45,386	\$9.25	\$419,820.50			\$0.00	\$419,821			
20	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	11,500	\$9.25	\$106,375.00			\$0.00	\$106,375			
21	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	1,617	\$9.25	\$14,957.25			\$0.00	\$14,957			
22	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	51,238	\$9.25	\$473,951.50			\$0.00	\$473,952			
23	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	23,386	\$9.25	\$216,320.50			\$0.00	\$216,321			
24	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	2,164	\$9.25	\$20,017.00			\$0.00	\$20,017			
25	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	1,421	\$9.25	\$13,144.25			\$0.00	\$13,144			
26	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	27,429	\$9.25	\$253,718.25			\$0.00	\$253,718			
27	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	19,674	\$9.25	\$181,984.50			\$0.00	\$181,985			
28	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	14,752	\$9.25	\$136,456.00			\$0.00	\$136,456			
29	143028229	389017	823594	N	LI ONLY	TELRITE CORPORATION	524	\$9.25	\$4,847.00			\$0.00	\$4,847			
30	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	5,017	\$9.25	\$46,407.25			\$0.00	\$46,407			
31	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	38,375	\$9.25	\$354,968.75			\$0.00	\$354,969			
32	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION		\$9.25	\$0.00	2,213	\$34.25	\$75,795.25	\$75,795			
33	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	11,941	\$9.25	\$110,454.25			\$0.00	\$110,454			
34	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	220,768	\$9.25	\$2,042,104.00			\$0.00	\$2,042,104			
35	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	3,417	\$9.25	\$31,607.25			\$0.00	\$31,607			
36	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	34,028	\$9.25	\$314,759.00			\$0.00	\$314,759			
37	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	87,109	\$9.25	\$805,758.25			\$0.00	\$805,758			
38	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	1,124	\$9.25	\$10,397.00			\$0.00	\$10,397			
39	143028229	649004	823594	N	LI ONLY	TELRITE CORPORATION	1,861	\$9.25	\$17,214.25			\$0.00	\$17,214			
40	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	543	\$9.25	\$5,022.75			\$0.00	\$5,023			
41	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	1,707	\$9.25	\$15,789.75			\$0.00	\$15,790			
42	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	20,570	\$9.25	\$190,272.50			\$0.00	\$190,273			
43	Subtotals						771,638		\$7,137,651.50	2,213		\$75,795.25	\$7,213,449.00			

	Q	R	S	Т	Ιυ	V	W	Х	Υ	Z
1									·	
2										
3										
4										
5										
6										
7										
8										
9	UP		TLS	S			ETC PA	YMEN.	T	
10										
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$142,820	\$0	\$0	\$142,820	
14		\$0.00			\$0	\$310,976	\$0	\$0	\$310,976	
15		\$0.00			\$0	\$146,169	\$0	\$0	\$146,169	
16		\$0.00			\$0	\$135,226	\$0	\$0	\$135,226	
17		\$0.00			\$0	\$569,310	\$0	\$0	\$569,310	
18		\$0.00			\$0	\$46,805	\$0	\$0	\$46,805	
19		\$0.00			\$0	\$419,821	\$0	\$0	\$419,821	
20		\$0.00			\$0	\$106,375	\$0	\$0	\$106,375	
21		\$0.00			\$0	\$14,957	\$0	\$0	\$14,957	
22		\$0.00			\$0	\$473,952	\$0	\$0	\$473,952	
23		\$0.00			\$0	\$216,321	\$0	\$0	\$216,321	
24		\$0.00			\$0	\$20,017	\$0	\$0	\$20,017	
25		\$0.00			\$0	\$13,144	\$0	\$0	\$13,144	
26		\$0.00			\$0	\$253,718	\$0	\$0	\$253,718	
27		\$0.00			\$0	\$181,985	\$0	\$0	\$181,985	
28		\$0.00			\$0	\$136,456	\$0	\$0	\$136,456	
29		\$0.00			\$0	\$4,847	\$0	\$0	\$4,847	
30		\$0.00			\$0	\$46,407	\$0	\$0	\$46,407	
31		\$0.00			\$0	\$354,969	\$0	\$0	\$354,969	
32		\$0.00			\$0	\$75,795	\$0	\$0	\$75,795	
33		\$0.00			\$0	\$110,454	\$0	\$0	\$110,454	
34		\$0.00			\$0	\$2,042,104	\$0	\$0	\$2,042,104	
35		\$0.00			\$0	\$31,607	\$0	\$0	\$31,607	
36		\$0.00			\$0	\$314,759	\$0	\$0	\$314,759	
37		\$0.00			\$0	\$805,758	\$0	\$0	\$805,758	
38		\$0.00			\$0	\$10,397	\$0	\$0	\$10,397	
39		\$0.00			\$0	\$17,214	\$0	\$0	\$17,214	
40		\$0.00			\$0	\$5,023	\$0	\$0	\$5,023	
41		\$0.00			\$0	\$15,790	\$0	\$0	\$15,790	
42		\$0.00			\$0	\$190,273	\$0	\$0	\$190,273	
43		\$0.00			\$0.00	\$7,213,449.00	\$0.00	\$0.00	\$7,213,449.00	

	Α	В	С	D	Е	F	G	Н	ı	J	К	L	M	N	0	Р
1	Company Name:		TELRITE CORPORATION			Submission Date:		8/10/2015							1	
2						Data Month:		July 2015								
3	Mailing Address:		4113 MONTICELLO ST			Type of filing:										
4	-		COVINGTON, GA 30014			✓ Original	Revision									
5	Contact Name:		Caitlyn Lumpkin				I									
6	Telephone Number:		678-389-6024													
7	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LIF	ELINE NON-TR	IBAL		LIFELINE	TRIBAL			TRIB	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)									į į	
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	15,670	\$9.25	\$144,947.50			\$0.00	\$144,948			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	32,548	\$9.25	\$301,069.00			\$0.00	\$301,069			
15	143028229	549025	823594	N	LI ONLY	TELRITE CORPORATION	38,668	\$9.25	\$357,679.00			\$0.00	\$357,679			
16	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	15,824	\$9.25	\$146,372.00			\$0.00	\$146,372			
17	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	61,658	\$9.25	\$570,336.50			\$0.00	\$570,337			
18	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	5,270	\$9.25	\$48,747.50			\$0.00	\$48,748			
19	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	46,321	\$9.25	\$428,469.25			\$0.00	\$428,469			
20	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	12,911	\$9.25	\$119,426.75			\$0.00	\$119,427			
21	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	1,577	\$9.25	\$14,587.25			\$0.00	\$14,587			
22	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	53,372	\$9.25	\$493,691.00			\$0.00	\$493,691			
23	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	24,314	\$9.25	\$224,904.50			\$0.00	\$224,905			
24	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	2,479	\$9.25	\$22,930.75			\$0.00	\$22,931		\longrightarrow	
25	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	1,484	\$9.25	\$13,727.00			\$0.00	\$13,727			
26	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	30,844	\$9.25	\$285,307.00			\$0.00	\$285,307		\longrightarrow	
27	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	19,458	\$9.25	\$179,986.50			\$0.00	\$179,987			
28	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	15,028	\$9.25	\$139,009.00			\$0.00	\$139,009			
29	143028229	389017	823594	N	LI ONLY	TELRITE CORPORATION	507	\$9.25	\$4,689.75			\$0.00	\$4,690		\longrightarrow	
30	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	5,559	\$9.25	\$51,420.75			\$0.00	\$51,421			
31	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	45,195	\$9.25	\$418,053.75	0.575	00 1 00	\$0.00	\$418,054			
33	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	40.000	\$9.25	\$0.00	2,575	\$34.25	\$88,193.75	\$88,194			
	143028229	179021	823594	N	LI ONLY		13,037	\$9.25	\$120,592.25			\$0.00	\$120,592			
34	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	224,825	\$9.25	\$2,079,631.25			\$0.00	\$2,079,631			
35 36	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	4,048	\$9.25	\$37,444.00			\$0.00	\$37,444			
36	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	36,255	\$9.25	\$335,358.75			\$0.00	\$335,359			
38	143028229	449077 509010	823594	N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	90,549	\$9.25	\$837,578.25			\$0.00	\$837,578			
39	143028229 143028229	649004	823594 823594	N N	LI ONLY	TELRITE CORPORATION	1,242 1,745	\$9.25 \$9.25	\$11,488.50 \$16,141.25			\$0.00 \$0.00	\$11,489 \$16,141			
40		529019			LI ONLY	TELRITE CORPORATION	1,745					\$0.00				
40	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION		\$9.25	\$4,699.00				\$4,699			
41	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	1,609	\$9.25	\$14,883.25			\$0.00	\$14,883			
-	143028229	209016	823594	N	LI ONLY	TELRITE CURPURATION	21,650	\$9.25	\$200,262.50	0.5==		\$0.00	\$200,263			
43	Subtotals						824,155		\$7,623,433.75	2,575		\$88,193.75	\$7,711,631.00			

	Q	R	S	Т	Ιυ	V	W	Х	Υ	Z
1										
2										
3										
4										
5										
6										
7										
8										
9	UP		TL	S			ETC PA	YMEN.	т	
10									-	
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$144,948	\$0	\$0	\$144,948	
14		\$0.00			\$0	\$301,069	\$0	\$0	\$301,069	
15		\$0.00			\$0	\$357,679	\$0	\$0	\$357,679	
16		\$0.00			\$0	\$146,372	\$0	\$0	\$146,372	
17		\$0.00			\$0	\$570,337	\$0	\$0	\$570,337	
18		\$0.00			\$0	\$48,748	\$0	\$0	\$48,748	
19		\$0.00			\$0	\$428,469	\$0	\$0	\$428,469	
20		\$0.00			\$0	\$119,427	\$0	\$0	\$119,427	
21		\$0.00			\$0	\$14,587	\$0	\$0	\$14,587	
22		\$0.00			\$0	\$493,691	\$0	\$0	\$493,691	
23		\$0.00			\$0	\$224,905	\$0	\$0	\$224,905	
24		\$0.00			\$0	\$22,931	\$0	\$0	\$22,931	
25		\$0.00			\$0	\$13,727	\$0	\$0	\$13,727	
26		\$0.00			\$0	\$285,307	\$0	\$0	\$285,307	
27		\$0.00			\$0	\$179,987	\$0	\$0	\$179,987	
28		\$0.00			\$0	\$139,009	\$0	\$0	\$139,009	
29		\$0.00			\$0	\$4,690	\$0	\$0	\$4,690	
30		\$0.00			\$0	\$51,421	\$0	\$0	\$51,421	
31		\$0.00			\$0	\$418,054	\$0	\$0	\$418,054	
32		\$0.00			\$0	\$88,194	\$0	\$0	\$88,194	
33		\$0.00			\$0	\$120,592	\$0	\$0	\$120,592	
34		\$0.00			\$0	\$2,079,631	\$0	\$0	\$2,079,631	
35		\$0.00			\$0	\$37,444	\$0	\$0	\$37,444	
36		\$0.00			\$0	\$335,359	\$0	\$0	\$335,359	
37		\$0.00			\$0	\$837,578	\$0	\$0	\$837,578	
38		\$0.00			\$0	\$11,489	\$0	\$0	\$11,489	
39 40		\$0.00			\$0	\$16,141	\$0	\$0	\$16,141	
		\$0.00			\$0	\$4,699	\$0	\$0	\$4,699	
41		\$0.00			\$0	\$14,883	\$0	\$0	\$14,883	
42		\$0.00			\$0	\$200,263	\$0	\$0	\$200,263	
43		\$0.00			\$0.00	\$7,711,631.00	\$0.00	\$0.00	\$7,711,631.00	

	Α	В	С	D	Е	F	G	Н	I	J	К	L	M	N	0	Р
1	Company Name:		TELRITE CORPORATION			Submission Date:	1	9/8/2015								
2	, , , , ,					Data Month:		August 2015								
3	Mailing Address:		4113 MONTICELLO ST			Type of filing:		ruguet 20.0								
4			COVINGTON, GA 30014				Revision									
5	Contact Name:		Caitlyn Lumpkin													
6	Telephone Number:		678-389-6024													
7	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LIF	ELINE NON-TR	IBAL		LIFELINE	TRIBAL			TRIB	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)										
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	15,573	\$9.25	\$144,050.25			\$0.00	\$144,050			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	30,388	\$9.25	\$281,089.00			\$0.00	\$281,089			
15	143028229	549025	823594	N	LI ONLY	TELRITE CORPORATION	68,066	\$9.25	\$629,610.50			\$0.00	\$629,611			
16	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	16,380	\$9.25	\$151,515.00			\$0.00	\$151,515			
17	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	61,079	\$9.25	\$564,980.75			\$0.00	\$564,981			
18	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	5,496	\$9.25	\$50,838.00			\$0.00	\$50,838			
19	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	44,273	\$9.25	\$409,525.25			\$0.00	\$409,525			
20	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	13,901	\$9.25	\$128,584.25			\$0.00	\$128,584			
21	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	1,441	\$9.25	\$13,329.25			\$0.00	\$13,329			
22	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	56,203	\$9.25	\$519,877.75			\$0.00	\$519,878			
23	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	24,792	\$9.25	\$229,326.00			\$0.00	\$229,326			
24	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	2,837	\$9.25	\$26,242.25			\$0.00	\$26,242			
25	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	1,578	\$9.25	\$14,596.50			\$0.00	\$14,597			
26	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	32,652	\$9.25	\$302,031.00			\$0.00	\$302,031			
27	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	18,825	\$9.25	\$174,131.25			\$0.00	\$174,131			
28	143028229	429015	823594	N		TELRITE CORPORATION	14,620	\$9.25	\$135,235.00			\$0.00	\$135,235			
29	143028229	389017	823594	N	LI ONLY	TELRITE CORPORATION	492	\$9.25	\$4,551.00			\$0.00	\$4,551			
30	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	5,768	\$9.25	\$53,354.00			\$0.00	\$53,354			
31	143028229	309018	823594	N	***-	TELRITE CORPORATION	50,904	\$9.25	\$470,862.00			\$0.00	\$470,862			
32	143028229	439056	823594	N		TELRITE CORPORATION		\$9.25	\$0.00	2,845	\$34.25	\$97,441.25	\$97,441			
33	143028229	179021	823594	N	EI ONE!	TELRITE CORPORATION	13,169	\$9.25	\$121,813.25			\$0.00	\$121,813			
34	143028229	639010	823594	N		TELRITE CORPORATION	225,644	\$9.25	\$2,087,207.00			\$0.00	\$2,087,207			
35	143028229	589008	823594	N		TELRITE CORPORATION	4,402	\$9.25	\$40,718.50			\$0.00	\$40,719			
36	143028229	249021	823594	N	***-	TELRITE CORPORATION	38,164	\$9.25	\$353,017.00			\$0.00	\$353,017			
37	143028229	449077	823594	N		TELRITE CORPORATION	90,247	\$9.25	\$834,784.75			\$0.00	\$834,785			
38	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	1,291	\$9.25	\$11,941.75			\$0.00	\$11,942			
39	143028229	649004	823594	N	LI ONLY	TELRITE CORPORATION	1,679	\$9.25	\$15,530.75			\$0.00	\$15,531			
40	143028229	529019	823594	N	EI OILE.	TELRITE CORPORATION	482	\$9.25	\$4,458.50			\$0.00	\$4,459			
41	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	1,486	\$9.25	\$13,745.50			\$0.00	\$13,746			
42	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	22,510	\$9.25	\$208,217.50			\$0.00	\$208,218			
43	Subtotals						864,342		\$7,995,163.50	2,845		\$97,441.25	\$8,092,607.00			

	Q	R	S	Т	Ιυ	V	W	Х	Υ	Z
1										
2										
3										
4										
5										
6										
7										
8										
9	UP		TLS	S			ETC PA	YMEN.	т	
10				1	1				-	
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$144,050	\$0	\$0	\$144,050	
14		\$0.00			\$0	\$281,089	\$0	\$0	\$281,089	
15		\$0.00			\$0	\$629,611	\$0	\$0	\$629,611	
16		\$0.00			\$0	\$151,515	\$0	\$0	\$151,515	
17		\$0.00			\$0	\$564,981	\$0	\$0	\$564,981	
18		\$0.00			\$0	\$50,838	\$0	\$0	\$50,838	
19		\$0.00			\$0	\$409,525	\$0	\$0	\$409,525	
20		\$0.00			\$0	\$128,584	\$0	\$0	\$128,584	
21		\$0.00			\$0	\$13,329	\$0	\$0	\$13,329	
22		\$0.00			\$0	\$519,878	\$0	\$0	\$519,878	
23		\$0.00			\$0	\$229,326	\$0	\$0	\$229,326	
24		\$0.00			\$0	\$26,242	\$0	\$0	\$26,242	
25		\$0.00			\$0	\$14,597	\$0	\$0	\$14,597	
26		\$0.00			\$0	\$302,031	\$0	\$0	\$302,031	
27		\$0.00			\$0	\$174,131	\$0	\$0	\$174,131	
28		\$0.00			\$0	\$135,235	\$0	\$0	\$135,235	
29		\$0.00			\$0	\$4,551	\$0	\$0	\$4,551	
30		\$0.00			\$0	\$53,354	\$0	\$0	\$53,354	
31		\$0.00			\$0	\$470,862	\$0	\$0	\$470,862	
32		\$0.00			\$0	\$97,441	\$0	\$0	\$97,441	
33		\$0.00			\$0	\$121,813	\$0	\$0	\$121,813	
34		\$0.00			\$0	\$2,087,207	\$0	\$0	\$2,087,207	
35		\$0.00			\$0	\$40,719	\$0	\$0	\$40,719	
36		\$0.00			\$0	\$353,017	\$0	\$0	\$353,017	
37		\$0.00			\$0	\$834,785	\$0	\$0	\$834,785	
38		\$0.00			\$0	\$11,942	\$0	\$0	\$11,942	
39		\$0.00			\$0	\$15,531	\$0	\$0	\$15,531	
40		\$0.00			\$0	\$4,459	\$0	\$0	\$4,459	
41		\$0.00			\$0	\$13,746	\$0	\$0	\$13,746	
42		\$0.00			\$0	\$208,218	\$0	\$0	\$208,218	
43		\$0.00			\$0.00	\$8,092,607.00	\$0.00	\$0.00	\$8,092,607.00	·

	Α	В	С	D	Е	F	G	Н	I	J	K	L	M	N	0	Р
1	Company Name:		TELRITE CORPORATION			Submission Date:	1	10/8/2015								
2						Data Month:		September 2015							-	
3	Mailing Address:		4113 MONTICELLO ST			Type of filing:										
4	J		COVINGTON, GA 30014				Revision								-	
5	Contact Name:		Caitlyn Lumpkin		·											
6	Telephone Number:		678-389-6024													
7	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LIF	ELINE NON-TR	IBAL		LIFELINE	TRIBAL			TRIB	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)										
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	15,491	\$9.25	\$143,291.75			\$0.00	\$143,292			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	27,901	\$9.25	\$258,084.25			\$0.00	\$258,084			
15	143028229	549025	823594	N	LI ONLY	TELRITE CORPORATION	102,852	\$9.25	\$951,381.00			\$0.00	\$951,381			
16	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	16,302	\$9.25	\$150,793.50			\$0.00	\$150,794			
17	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	59,803	\$9.25	\$553,177.75			\$0.00	\$553,178			
18	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	5,221	\$9.25	\$48,294.25			\$0.00	\$48,294			
19	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	40,287	\$9.25	\$372,654.75			\$0.00	\$372,655			
20	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	14,338	\$9.25	\$132,626.50			\$0.00	\$132,627			
21	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	1,223	\$9.25	\$11,312.75			\$0.00	\$11,313			
22	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	56,958	\$9.25	\$526,861.50			\$0.00	\$526,862			
23	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	26,388	\$9.25	\$244,089.00			\$0.00	\$244,089			
24	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	3,019	\$9.25	\$27,925.75			\$0.00	\$27,926			
25	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	1,656	\$9.25	\$15,318.00			\$0.00	\$15,318			
26	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	32,068	\$9.25	\$296,629.00			\$0.00	\$296,629			
27	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	17,947	\$9.25	\$166,009.75			\$0.00	\$166,010			
28	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	14,722	\$9.25	\$136,178.50			\$0.00	\$136,179			
29	143028229	389017	823594	N	LI ONLY	TELRITE CORPORATION	476	\$9.25	\$4,403.00			\$0.00	\$4,403			
30	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	6,028	\$9.25	\$55,759.00			\$0.00	\$55,759			
31	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	53,853	\$9.25	\$498,140.25			\$0.00	\$498,140			
32	143028229	439056	823594	N		TELRITE CORPORATION	0	\$9.25	\$0.00	3,122	\$34.25	\$106,928.50	\$106,929			
33	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	13,512	\$9.25	\$124,986.00			\$0.00	\$124,986			
34	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	228,049	\$9.25	\$2,109,453.25			\$0.00	\$2,109,453			
35	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	4,078	\$9.25	\$37,721.50			\$0.00	\$37,722			
36	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	40,835	\$9.25	\$377,723.75			\$0.00	\$377,724			
37	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	89,217	\$9.25	\$825,257.25			\$0.00	\$825,257			
38	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	1,293	\$9.25	\$11,960.25			\$0.00	\$11,960			
39	143028229	649004	823594	N	LI ONLY	TELRITE CORPORATION	1,596	\$9.25	\$14,763.00			\$0.00	\$14,763			
40	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	438	\$9.25	\$4,051.50			\$0.00	\$4,052			
41	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	1,354	\$9.25	\$12,524.50			\$0.00	\$12,525			
42	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	22,358	\$9.25	\$206,811.50			\$0.00	\$206,812			
43	Subtotals						899,263		\$8,318,182.75	3,122		\$106,928.50	\$8,425,116.00			

	Q	R	S	Т	Ιυ	V	W	Х	Υ	Z
1									·	
2										
3										
4										
5										
6										
7										
8										
9	UP		TLS	S			ETC PA	YMEN	Т	
10				1	1				•	
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$143,292	\$0	\$0	\$143,292	
14		\$0.00			\$0	\$258,084	\$0	\$0	\$258,084	
15		\$0.00			\$0	\$951,381	\$0	\$0	\$951,381	
16		\$0.00			\$0	\$150,794	\$0	\$0	\$150,794	
17		\$0.00			\$0	\$553,178	\$0	\$0	\$553,178	
18		\$0.00			\$0	\$48,294	\$0	\$0	\$48,294	
19		\$0.00			\$0	\$372,655	\$0	\$0	\$372,655	
20		\$0.00			\$0	\$132,627	\$0	\$0	\$132,627	
21		\$0.00			\$0	\$11,313	\$0	\$0	\$11,313	
22		\$0.00			\$0	\$526,862	\$0	\$0	\$526,862	
23		\$0.00			\$0	\$244,089	\$0	\$0	\$244,089	
24		\$0.00			\$0	\$27,926	\$0	\$0	\$27,926	
25		\$0.00			\$0	\$15,318	\$0	\$0	\$15,318	
26		\$0.00			\$0	\$296,629	\$0	\$0	\$296,629	
27		\$0.00			\$0	\$166,010	\$0	\$0	\$166,010	
28		\$0.00			\$0	\$136,179	\$0	\$0	\$136,179	
29		\$0.00			\$0	\$4,403	\$0	\$0	\$4,403	
30		\$0.00			\$0	\$55,759	\$0	\$0	\$55,759	
31		\$0.00			\$0	\$498,140	\$0	\$0	\$498,140	
32		\$0.00			\$0	\$106,929	\$0	\$0	\$106,929	
33		\$0.00			\$0	\$124,986	\$0	\$0	\$124,986	
34		\$0.00			\$0	\$2,109,453	\$0	\$0	\$2,109,453	
35		\$0.00			\$0	\$37,722	\$0	\$0	\$37,722	
36		\$0.00			\$0	\$377,724	\$0	\$0	\$377,724	
37		\$0.00			\$0	\$825,257	\$0	\$0	\$825,257	
38		\$0.00			\$0	\$11,960	\$0	\$0	\$11,960	
39		\$0.00			\$0	\$14,763	\$0	\$0	\$14,763	
40		\$0.00			\$0	\$4,052	\$0	\$0	\$4,052	
41		\$0.00			\$0	\$12,525	\$0	\$0	\$12,525	
42		\$0.00			\$0	\$206,812	\$0	\$0	\$206,812	
43		\$0.00			\$0.00	\$8,425,116.00	\$0.00	\$0.00	\$8,425,116.00	·

	A	В	С	D	Е	F	G	Н	1	J	К	L	M	N	0	Р
1	Company Name:		TELRITE CORPORATION			Submission Date:		11/9/2015								
2						Data Month:		October 2015								
3	Mailing Address:		4113 MONTICELLO ST			Type of filing:										
4	·		COVINGTON, GA 30014				Revision									
5	Contact Name:		Caitlyn Lumpkin													
6	Telephone Number:		678-389-6024													
7	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LIF	ELINE NON-TR	RIBAL		LIFELINE	TRIBAL			TRIB	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)										
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	15,237	\$9.25	\$140,942.25			\$0.00	\$140,942			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	27,118	\$9.25	\$250,841.50			\$0.00	\$250,842			
15	143028229	549025	823594	N	LI ONLY	TELRITE CORPORATION	145,985	\$9.25	\$1,350,361.25			\$0.00	\$1,350,361			
16	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	16,320	\$9.25	\$150,960.00			\$0.00	\$150,960			
17	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	60,576	\$9.25	\$560,328.00			\$0.00	\$560,328			
18	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	4,871	\$9.25	\$45,056.75			\$0.00	\$45,057			
19	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	39,844	\$9.25	\$368,557.00			\$0.00	\$368,557			
20	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	14,280	\$9.25	\$132,090.00			\$0.00	\$132,090			
21	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	1,078	\$9.25	\$9,971.50			\$0.00	\$9,972			
22	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	59,360	\$9.25	\$549,080.00			\$0.00	\$549,080			
23	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	29,151	\$9.25	\$269,646.75			\$0.00	\$269,647			
24	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	2,900	\$9.25	\$26,825.00			\$0.00	\$26,825			
25	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	1,547	\$9.25	\$14,309.75			\$0.00	\$14,310			
26	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	31,874	\$9.25	\$294,834.50			\$0.00	\$294,835			
27	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	17,248	\$9.25	\$159,544.00			\$0.00	\$159,544			
28	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	15,659	\$9.25	\$144,845.75			\$0.00	\$144,846			
29	143028229	389017	823594	N	LI ONLY	TELRITE CORPORATION	463	\$9.25	\$4,282.75			\$0.00	\$4,283			
30	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	6,488	\$9.25	\$60,014.00			\$0.00	\$60,014			
31	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	58,017	\$9.25	\$536,657.25			\$0.00	\$536,657			
32	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION		\$9.25	\$0.00	3,321	\$34.25	\$113,744.25	\$113,744			
33	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	13,749	\$9.25	\$127,178.25			\$0.00	\$127,178			
34	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	229,392	\$9.25	\$2,121,876.00			\$0.00	\$2,121,876			
35	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	3,734	\$9.25	\$34,539.50			\$0.00	\$34,540			
36	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	43,756	\$9.25	\$404,743.00			\$0.00	\$404,743			
37	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	90,020	\$9.25	\$832,685.00			\$0.00	\$832,685			
38	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	1,202	\$9.25	\$11,118.50			\$0.00	\$11,119			
39	143028229	649004	823594	N	LI ONLY	TELRITE CORPORATION	1,538	\$9.25	\$14,226.50			\$0.00	\$14,227			
40	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	400	\$9.25	\$3,700.00			\$0.00	\$3,700			
41	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	1,227	\$9.25	\$11,349.75			\$0.00	\$11,350			
42	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	23,110	\$9.25	\$213,767.50			\$0.00	\$213,768			
43	Subtotals						956,144		\$8,844,332.00	3,321		\$113,744.25	\$8,958,080.00			

	Q	R	S	Т	U	V	W	l x	ΙΥ	Z
1									·	
2										
3										
4										
5										
6										
7										
8										
9	UP		TLS	S			ETC PA	YMEN.	Т	
10	-			Ĭ	I				•	
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS \$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00	(0	\$0	\$140,942	\$0	\$0	\$140,942	Comments
14		\$0.00			\$0	\$250,842	\$0	\$0	\$250,842	
15		\$0.00			\$0	\$1,350,361	\$0	\$0	\$1,350,361	
16		\$0.00			\$0	\$150,960	\$0	\$0	\$150,960	
17		\$0.00			\$0	\$560,328	\$0	\$0	\$560,328	
18		\$0.00			\$0	\$45,057	\$0	\$0	\$45,057	
19		\$0.00			\$0	\$368,557	\$0	\$0	\$368,557	
20		\$0.00			\$0	\$132,090	\$0	\$0	\$132,090	
21		\$0.00			\$0	\$9,972	\$0	\$0	\$9,972	
22		\$0.00			\$0	\$549,080	\$0	\$0	\$549,080	
23		\$0.00			\$0	\$269,647	\$0	\$0	\$269,647	
24		\$0.00			\$0	\$26,825	\$0	\$0	\$26,825	
25		\$0.00			\$0	\$14,310	\$0	\$0	\$14,310	
26		\$0.00			\$0	\$294,835	\$0	\$0	\$294,835	
27		\$0.00			\$0	\$159,544	\$0	\$0	\$159,544	
28		\$0.00			\$0	\$144,846	\$0	\$0	\$144,846	
29		\$0.00			\$0	\$4,283	\$0	\$0	\$4,283	
30		\$0.00			\$0	\$60,014	\$0	\$0	\$60,014	
31		\$0.00			\$0	\$536,657	\$0	\$0	\$536,657	
32		\$0.00			\$0	\$113,744	\$0	\$0	\$113,744	
33		\$0.00			\$0	\$127,178	\$0	\$0	\$127,178	
34		\$0.00			\$0	\$2,121,876	\$0	\$0	\$2,121,876	
35		\$0.00			\$0	\$34,540	\$0	\$0	\$34,540	
36		\$0.00			\$0	\$404,743	\$0	\$0	\$404,743	
37		\$0.00			\$0	\$832,685	\$0	\$0	\$832,685	
38		\$0.00			\$0	\$11,119	\$0	\$0	\$11,119	
39		\$0.00			\$0	\$14,227	\$0	\$0	\$14,227	
40		\$0.00			\$0	\$3,700	\$0	\$0	\$3,700	
41		\$0.00			\$0	\$11,350	\$0	\$0	\$11,350	
42		\$0.00			\$0	\$213,768	\$0	\$0	\$213,768	
43		\$0.00			\$0.00	\$8,958,080.00	\$0.00	\$0.00	\$8,958,080.00	

	A	В	С	D	Е	F	G	Н		J	K	L	M	N	0	Р
1	Company Name:		TELRITE CORPORATION			Submission Date:		11/9/2015								
2						Data Month:		October 2015								+
	Mailing Address:		4113 MONTICELLO ST			Type of filing:									:	
4			COVINGTON, GA 30014			✓ Original	Revision									
5	Contact Name:		Caitlyn Lumpkin												I	
6	Telephone Number:		678-389-6024												I	
7	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LIF	ELINE NON-TR	IBAL		LIFELINI	E TRIBAL			TRIE	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)										1
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	15,237	\$9.25	\$140,942.25			\$0.00	\$140,942			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	27,118	\$9.25	\$250,841.50			\$0.00	\$250,842			
15	143028229	549025	823594	N	LI ONLY	TELRITE CORPORATION	145,985	\$9.25	\$1,350,361.25			\$0.00	\$1,350,361			
16	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	16,320	\$9.25	\$150,960.00			\$0.00	\$150,960			
17	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	60,576	\$9.25	\$560,328.00			\$0.00	\$560,328			
18	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	4,871	\$9.25	\$45,056.75			\$0.00	\$45,057			
19	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	39,844	\$9.25	\$368,557.00			\$0.00	\$368,557			
20	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	14,280	\$9.25	\$132,090.00			\$0.00	\$132,090			
21	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	1,078	\$9.25	\$9,971.50			\$0.00	\$9,972			
22	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	59,360	\$9.25	\$549,080.00			\$0.00	\$549,080			
23	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	29,151	\$9.25	\$269,646.75			\$0.00	\$269,647			
24	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	2,900	\$9.25	\$26,825.00			\$0.00	\$26,825			
25	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	1,547	\$9.25	\$14,309.75			\$0.00	\$14,310			
26	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	31,874	\$9.25	\$294,834.50			\$0.00	\$294,835			
27	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	17,248	\$9.25	\$159,544.00			\$0.00	\$159,544			
28	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	15,659	\$9.25	\$144,845.75			\$0.00	\$144,846			
29	143028229	389017	823594	N	LI ONLY	TELRITE CORPORATION	463	\$9.25	\$4,282.75			\$0.00	\$4,283			
30	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	6,488	\$9.25	\$60,014.00			\$0.00	\$60,014			
31	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	58,017	\$9.25	\$536,657.25			\$0.00	\$536,657			
32	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION		\$9.25	\$0.00	3,321	\$34.25	\$113,744.25	\$113,744			
33	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	13,749	\$9.25	\$127,178.25			\$0.00	\$127,178			
34	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	229,392	\$9.25	\$2,121,876.00			\$0.00	\$2,121,876			
35	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	3,734	\$9.25	\$34,539.50			\$0.00	\$34,540			
36	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	43,756	\$9.25	\$404,743.00			\$0.00	\$404,743			
37	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	90,020	\$9.25	\$832,685.00			\$0.00	\$832,685			
38	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	1,202	\$9.25	\$11,118.50			\$0.00	\$11,119			
39	143028229	649004	823594	N	LI ONLY	TELRITE CORPORATION	1,538	\$9.25	\$14,226.50			\$0.00	\$14,227			
40	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	400	\$9.25	\$3,700.00			\$0.00	\$3,700			
41	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	1,227	\$9.25	\$11,349.75			\$0.00	\$11,350			
42	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	23,110	\$9.25	\$213,767.50			\$0.00	\$213,768			
43	Subtotals						956,144		\$8,844,332.00	3,321		\$113,744.25	\$8,958,080.00			

	Q	R	S	Т	U	V	W	X	Υ	Z
1										
2										
3										
4										
5										
6										
7										
8										
9	UP		TLS	S			ETC PA	YMEN	T	
10										
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$140,942	\$0	\$0	\$140,942	
14		\$0.00			\$0	\$250,842	\$0	\$0	\$250,842	
15		\$0.00			\$0	\$1,350,361	\$0	\$0	\$1,350,361	
16		\$0.00			\$0	\$150,960	\$0	\$0	\$150,960	
17		\$0.00			\$0	\$560,328	\$0	\$0	\$560,328	
18		\$0.00			\$0	\$45,057	\$0	\$0	\$45,057	
19		\$0.00			\$0	\$368,557	\$0	\$0	\$368,557	
20		\$0.00			\$0	\$132,090	\$0	\$0	\$132,090	
21		\$0.00			\$0	\$9,972	\$0	\$0	\$9,972	
22		\$0.00			\$0	\$549,080	\$0	\$0	\$549,080	
23		\$0.00			\$0	\$269,647	\$0	\$0	\$269,647	
24		\$0.00			\$0	\$26,825	\$0	\$0	\$26,825	
25		\$0.00			\$0	\$14,310	\$0	\$0	\$14,310	
26		\$0.00			\$0	\$294,835	\$0	\$0	\$294,835	
27		\$0.00			\$0	\$159,544	\$0	\$0	\$159,544	
28		\$0.00			\$0	\$144,846	\$0	\$0	\$144,846	
29		\$0.00			\$0	\$4,283	\$0	\$0	\$4,283	
30		\$0.00			\$0	\$60,014	\$0	\$0	\$60,014	
31		\$0.00			\$0	\$536,657	\$0	\$0	\$536,657	
32		\$0.00			\$0	\$113,744	\$0	\$0	\$113,744	
33		\$0.00			\$0	\$127,178	\$0	\$0	\$127,178	
34		\$0.00			\$0	\$2,121,876	\$0	\$0	\$2,121,876	
35		\$0.00			\$0	\$34,540	\$0	\$0	\$34,540	
36		\$0.00			\$0	\$404,743	\$0	\$0	\$404,743	
37		\$0.00			\$0	\$832,685	\$0	\$0	\$832,685	
38		\$0.00			\$0	\$11,119	\$0	\$0	\$11,119	
39 40		\$0.00			\$0	\$14,227	\$0	\$0	\$14,227	
-		\$0.00			\$0	\$3,700	\$0	\$0	\$3,700	
41		\$0.00			\$0	\$11,350	\$0	\$0	\$11,350	
42		\$0.00			\$0	\$213,768	\$0	\$0	\$213,768	
43		\$0.00			\$0.00	\$8,958,080.00	\$0.00	\$0.00	\$8,958,080.00	

	A I	В	С	D	E	F	G	Н	ı	J.	К	-	M	N	0	Р
	Company Name:		TELRITE CORPORATION		_	Submission Date:		12/7/2015				_			Ū	
2	Company Name:		TEERITE CORT ORATION			Data Month:		November 2015								
	Mailing Address:		4113 MONTICELLO ST			Type of filing:		November 2015								
4	walling Address.		COVINGTON, GA 30014				Revision									
5	Contact Name:		Caitlyn Lumpkin			U Original	L Revision									
	Telephone Number:		678-389-6024													
	Fax Number:		770-594-3878													
	E-mail Address:		cmmurp@cgminc.com													
9							LIF	ELINE NON-TR	IBAL		LIFELINE	TRIBAL			TRIB	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)				ĺ						1
11		SERVING	499 FILER ID		ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	14,835	\$9.25	\$137,223.75	00	(ve ince interior	\$0.00	\$137,224	-	(+100111111)	11
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	27.562	\$9.25	\$254,948.50			\$0.00	\$254,949			
15	143028229	549025	823594	N	LI ONLY	TELRITE CORPORATION	175,293	\$9.25	\$1,621,460.25			\$0.00	\$1,621,460			
16	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	15,919	\$9.25	\$147,250.75			\$0.00	\$147,251			
17	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	61,650	\$9.25	\$570,262.50			\$0.00	\$570,263			
18	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	4,454	\$9.25	\$41,199.50			\$0.00	\$41,200			
19	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	40,101	\$9.25	\$370,934.25			\$0.00	\$370,934			
20	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	13,977	\$9.25	\$129,287.25			\$0.00	\$129,287			
21	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	1,078	\$9.25	\$9,971.50			\$0.00	\$9,972			
22	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	60,849	\$9.25	\$562,853.25			\$0.00	\$562,853			
23	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	30,694	\$9.25	\$283,919.50			\$0.00	\$283,920			
24	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	2,833	\$9.25	\$26,205.25			\$0.00	\$26,205			
25	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	1,451	\$9.25	\$13,421.75			\$0.00	\$13,422			
26	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	30,130	\$9.25	\$278,702.50			\$0.00	\$278,703			
27	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	16,470	\$9.25	\$152,347.50			\$0.00	\$152,348			
28	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	17,689	\$9.25	\$163,623.25			\$0.00	\$163,623			
29	143028229	389017	823594	N	LI ONLY	TELRITE CORPORATION	453	\$9.25	\$4,190.25			\$0.00	\$4,190			
30	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	7,159	\$9.25	\$66,220.75			\$0.00	\$66,221			
31	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	58,165	\$9.25	\$538,026.25			\$0.00	\$538,026			
32	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION		\$9.25	\$0.00	3,117	\$34.25	\$106,757.25	\$106,757			
33	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	13,655	\$9.25	\$126,308.75			\$0.00	\$126,309			
34	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	226,876	\$9.25	\$2,098,603.00			\$0.00	\$2,098,603			
35	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	3,334	\$9.25	\$30,839.50			\$0.00	\$30,840			
36	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	45,639	\$9.25	\$422,160.75			\$0.00	\$422,161			
37	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	91,028	\$9.25	\$842,009.00			\$0.00	\$842,009			
38	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	1,090	\$9.25	\$10,082.50			\$0.00	\$10,083			
39	143028229	649004	823594	N	LI ONLY	TELRITE CORPORATION	1,556	\$9.25	\$14,393.00			\$0.00	\$14,393			
40	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	381	\$9.25	\$3,524.25			\$0.00	\$3,524			
41	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	1,098	\$9.25	\$10,156.50			\$0.00	\$10,157			
42	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	23,140	\$9.25	\$214,045.00			\$0.00	\$214,045			
43	Subtotals						988,559		\$9,144,170.75	3,117		\$106,757.25	\$9,250,932.00			<u> </u>

	Q	R	S	Т	U	V	W	X	Υ	Z
1										
2										
3										
4										
5										
6										
7										
8										
9	UP		TL	S			ETC PA	YMEN		
10										
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$137,224	\$0	\$0	\$137,224	
14		\$0.00			\$0	\$254,949	\$0	\$0	\$254,949	
15		\$0.00			\$0	\$1,621,460	\$0	\$0	\$1,621,460	
16		\$0.00			\$0	\$147,251	\$0	\$0	\$147,251	
17		\$0.00			\$0	\$570,263	\$0	\$0	\$570,263	
18		\$0.00			\$0	\$41,200	\$0	\$0	\$41,200	
19		\$0.00			\$0	\$370,934	\$0	\$0	\$370,934	
20		\$0.00			\$0	\$129,287	\$0	\$0	\$129,287	
21		\$0.00			\$0	\$9,972	\$0	\$0	\$9,972	
22		\$0.00			\$0	\$562,853	\$0	\$0	\$562,853	
23		\$0.00			\$0	\$283,920	\$0	\$0	\$283,920	
24		\$0.00			\$0	\$26,205	\$0	\$0	\$26,205	
25		\$0.00			\$0	\$13,422	\$0	\$0	\$13,422	
26		\$0.00			\$0	\$278,703	\$0	\$0	\$278,703	
27		\$0.00			\$0	\$152,348	\$0	\$0	\$152,348	
28		\$0.00			\$0	\$163,623	\$0	\$0	\$163,623	
29		\$0.00			\$0	\$4,190	\$0	\$0	\$4,190	
30		\$0.00			\$0	\$66,221	\$0	\$0	\$66,221	
31		\$0.00			\$0	\$538,026	\$0	\$0	\$538,026	
32		\$0.00			\$0	\$106,757	\$0	\$0	\$106,757	
33		\$0.00			\$0	\$126,309	\$0	\$0	\$126,309	
34		\$0.00			\$0	\$2,098,603	\$0	\$0	\$2,098,603	
35		\$0.00			\$0	\$30,840	\$0	\$0	\$30,840	
36		\$0.00			\$0	\$422,161	\$0	\$0	\$422,161	
37		\$0.00			\$0	\$842,009	\$0	\$0	\$842,009	
38		\$0.00			\$0	\$10,083	\$0	\$0	\$10,083	
39		\$0.00			\$0	\$14,393	\$0	\$0	\$14,393	
40		\$0.00			\$0	\$3,524	\$0	\$0	\$3,524	
41		\$0.00			\$0	\$10,157	\$0	\$0	\$10,157	
42		\$0.00			\$0	\$214,045	\$0	\$0	\$214,045	
43		\$0.00			\$0.00	\$9,250,932.00	\$0.00	\$0.00	\$9,250,932.00	

	Α	В	С	D	Е	F	G	Н	1	J	К	L	M	N	0	Р
1	Company Name:		TELRITE CORPORATION			Submission Date:		1/7/2016							1	
2	. ,					Data Month:		December 2015								
3	Mailing Address:		4113 MONTICELLO ST			Type of filing:										
4	• •		COVINGTON, GA 30014				Revision									
5	Contact Name:		Caitlyn Lumpkin				I									
6	Telephone Number:		678-389-6024													
7	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LIF	ELINE NON-TR	RIBAL		LIFELINE	TRIBAL			TRIB	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)									i !	
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	15,622	\$9.25	\$144,503.50			\$0.00	\$144,504			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	28,161	\$9.25	\$260,489.25			\$0.00	\$260,489			
15	143028229	549025	823594	N	LI ONLY	TELRITE CORPORATION	190,071	\$9.25	\$1,758,156.75			\$0.00	\$1,758,157			
16	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	15,254	\$9.25	\$141,099.50			\$0.00	\$141,100			
17	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	66,145	\$9.25	\$611,841.25			\$0.00	\$611,841			
18	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	4,123	\$9.25	\$38,137.75			\$0.00	\$38,138			
19	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	40,323	\$9.25	\$372,987.75			\$0.00	\$372,988			
20	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	13,785	\$9.25	\$127,511.25			\$0.00	\$127,511			
21	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	1,045	\$9.25	\$9,666.25			\$0.00	\$9,666			
22	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	61,985	\$9.25	\$573,361.25			\$0.00	\$573,361			
23	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	32,027	\$9.25	\$296,249.75			\$0.00	\$296,250			
24	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	2,625	\$9.25	\$24,281.25			\$0.00	\$24,281			
25	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	1,333	\$9.25	\$12,330.25			\$0.00	\$12,330			
26	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	28,130	\$9.25	\$260,202.50			\$0.00	\$260,203			
27	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	15,850	\$9.25	\$146,612.50			\$0.00	\$146,613			
28	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	18,126	\$9.25	\$167,665.50			\$0.00	\$167,666			
29	143028229	389017	823594	N	LI ONLY	TELRITE CORPORATION	438	\$9.25	\$4,051.50			\$0.00	\$4,052			
30	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	8,073	\$9.25	\$74,675.25			\$0.00	\$74,675			
31	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	56,595	\$9.25	\$523,503.75			\$0.00	\$523,504			
32	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION		\$9.25	\$0.00	2,813	\$34.25	\$96,345.25	\$96,345			
33	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	13,115	\$9.25	\$121,313.75			\$0.00	\$121,314			
34	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	225,742	\$9.25	\$2,088,113.50			\$0.00	\$2,088,114			
35	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	3,118	\$9.25	\$28,841.50			\$0.00	\$28,842			
36	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	46,739	\$9.25	\$432,335.75			\$0.00	\$432,336			
37	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	91,338	\$9.25	\$844,876.50			\$0.00	\$844,877			
38	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	989	\$9.25	\$9,148.25			\$0.00	\$9,148			
39	143028229	649004	823594	N	LI ONLY	TELRITE CORPORATION	1,513	\$9.25	\$13,995.25			\$0.00	\$13,995			
40	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	382	\$9.25	\$3,533.50			\$0.00	\$3,534			
41	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	1,019	\$9.25	\$9,425.75			\$0.00	\$9,426			
42	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	23,020	\$9.25	\$212,935.00			\$0.00	\$212,935			
43	Subtotals						1,006,686		\$9,311,845.50	2,813		\$96,345.25	\$9,408,195.00			

	Q	R	S	Т	Ιυ	V	W	Х	Υ	Z
1										
2										
3										
4										
5										
6										
7										
8										
9	UP		TLS	S			ETC PA	YMEN.	Т	
10				ĺ					•	
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$144,504	\$0	\$0	\$144,504	Commonto
14		\$0.00			\$0	\$260,489	\$0	\$0	\$260,489	
15		\$0.00			\$0	\$1,758,157	\$0	\$0	\$1,758,157	
16		\$0.00			\$0	\$141,100	\$0	\$0	\$141,100	
17		\$0.00			\$0	\$611,841	\$0	\$0	\$611,841	
18		\$0.00			\$0	\$38,138	\$0	\$0	\$38,138	
19		\$0.00			\$0	\$372,988	\$0	\$0	\$372,988	
20		\$0.00			\$0	\$127,511	\$0	\$0	\$127,511	
21		\$0.00			\$0	\$9,666	\$0	\$0	\$9,666	
22		\$0.00			\$0	\$573,361	\$0	\$0	\$573,361	
23		\$0.00			\$0	\$296,250	\$0	\$0	\$296,250	
24		\$0.00			\$0	\$24,281	\$0	\$0	\$24,281	
25		\$0.00			\$0	\$12,330	\$0	\$0	\$12,330	
26		\$0.00			\$0	\$260,203	\$0	\$0	\$260,203	
27		\$0.00			\$0	\$146,613	\$0	\$0	\$146,613	
28		\$0.00			\$0	\$167,666	\$0	\$0	\$167,666	
29		\$0.00			\$0	\$4,052	\$0	\$0	\$4,052	
30		\$0.00			\$0	\$74,675	\$0	\$0	\$74,675	
31		\$0.00			\$0	\$523,504	\$0	\$0	\$523,504	
32		\$0.00			\$0	\$96,345	\$0	\$0	\$96,345	
33		\$0.00			\$0	\$121,314	\$0	\$0	\$121,314	
34		\$0.00			\$0	\$2,088,114	\$0	\$0	\$2,088,114	
35		\$0.00			\$0	\$28,842	\$0	\$0	\$28,842	
36		\$0.00			\$0	\$432,336	\$0	\$0	\$432,336	
37		\$0.00			\$0	\$844,877	\$0	\$0	\$844,877	
38		\$0.00			\$0	\$9,148	\$0	\$0	\$9,148	
39		\$0.00			\$0	\$13,995	\$0	\$0	\$13,995	
40		\$0.00			\$0	\$3,534	\$0	\$0	\$3,534	
41		\$0.00			\$0	\$9,426	\$0	\$0	\$9,426	
42		\$0.00			\$0	\$212,935	\$0	\$0	\$212,935	
43		\$0.00			\$0.00	\$9,408,195.00	\$0.00	\$0.00	\$9,408,195.00	·

	A I	В	С	D	E	F	G	Н	1		К	1	M	N	0	Р
	Company Name:		TELRITE CORPORATION		_	Submission Date:		2/8/2016							Ū	
2	Company Name:		TEERITE CORT ORATION			Data Month:		January 2016								
	Mailing Address:		4113 MONTICELLO ST			Type of filing:		January 2010								
4	Mailing Address.		COVINGTON, GA 30014				Revision									
5	Contact Name:		Caitlyn Lumpkin			U Original	Revision									
	Telephone Number:		678-389-6024													
	Fax Number:		770-594-3878													
	E-mail Address:		cmmurp@cgminc.com													
9							LIF	ELINE NON-TR	IBAL		LIFELINE	TRIBAL			TRIB	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)										i
11		SERVING	499 FILER ID		ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	14,726	\$9.25	\$136,215.50		(,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$0.00	\$136,216		(, , , , , , , , , , , , , , , , , , ,	
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	26,054	\$9.25	\$240,999.50			\$0.00	\$241,000			
15	143028229	549025	823594	N	LI ONLY	TELRITE CORPORATION	192,881	\$9.25	\$1,784,149.25			\$0.00	\$1,784,149			
16	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	13,484	\$9.25	\$124,727.00			\$0.00	\$124,727			
17	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	65,298	\$9.25	\$604,006.50			\$0.00	\$604,007			
18	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	3,336	\$9.25	\$30,858.00			\$0.00	\$30,858			
19	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	38,234	\$9.25	\$353,664.50			\$0.00	\$353,665			
20	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	13,152	\$9.25	\$121,656.00			\$0.00	\$121,656			
21	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	1,047	\$9.25	\$9,684.75			\$0.00	\$9,685			
22	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	59,626	\$9.25	\$551,540.50			\$0.00	\$551,541			
23	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	31,102	\$9.25	\$287,693.50			\$0.00	\$287,694			
24	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	2,348	\$9.25	\$21,719.00			\$0.00	\$21,719			
25	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	1,078	\$9.25	\$9,971.50			\$0.00	\$9,972			
26	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	25,231	\$9.25	\$233,386.75			\$0.00	\$233,387			
27	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	13,523	\$9.25	\$125,087.75			\$0.00	\$125,088			
28	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	14,603	\$9.25	\$135,077.75			\$0.00	\$135,078			
29	143028229	389017	823594	N	LI ONLY	TELRITE CORPORATION	224	\$9.25	\$2,072.00			\$0.00	\$2,072			
30	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	9,028	\$9.25	\$83,509.00			\$0.00	\$83,509			
31	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	50,500	\$9.25	\$467,125.00			\$0.00	\$467,125			
32	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION	0	\$9.25	\$0.00	1,915	\$34.25	\$65,588.75	\$65,589			
33	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	11,853	\$9.25	\$109,640.25			\$0.00	\$109,640			
34	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	204,044	\$9.25	\$1,887,407.00			\$0.00	\$1,887,407			
35	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	2,342	\$9.25	\$21,663.50			\$0.00	\$21,664			
36	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	43,769	\$9.25	\$404,863.25			\$0.00	\$404,863			
37	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	88,072	\$9.25	\$814,666.00			\$0.00	\$814,666			
38	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	713	\$9.25	\$6,595.25			\$0.00	\$6,595			
39	143028229	649004	823594	N	LI ONLY	TELRITE CORPORATION	1,061	\$9.25	\$9,814.25			\$0.00	\$9,814			
40	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	359	\$9.25	\$3,320.75			\$0.00	\$3,321			
41	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	895	\$9.25	\$8,278.75			\$0.00	\$8,279			
42	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	22,165	\$9.25	\$205,026.25			\$0.00	\$205,026			
43	Subtotals						950,748		\$8,794,419.00	1,915		\$65,588.75	\$8,860,012.00			

	Q	R	S	Т	Ιυ	V	W	Х	Υ	Z
1										
2										
3										
4										
5										
6										
7										
8										
9	UP		TLS	S			ETC PA	YMEN.	т	
10									-	
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$136,216	\$0	\$0	\$136,216	
14		\$0.00			\$0	\$241,000	\$0	\$0	\$241,000	
15		\$0.00			\$0	\$1,784,149	\$0	\$0	\$1,784,149	
16		\$0.00			\$0	\$124,727	\$0	\$0	\$124,727	
17		\$0.00			\$0	\$604,007	\$0	\$0	\$604,007	
18		\$0.00			\$0	\$30,858	\$0	\$0	\$30,858	
19		\$0.00			\$0	\$353,665	\$0	\$0	\$353,665	
20		\$0.00			\$0	\$121,656	\$0	\$0	\$121,656	
21		\$0.00			\$0	\$9,685	\$0	\$0	\$9,685	
22		\$0.00			\$0	\$551,541	\$0	\$0	\$551,541	
23		\$0.00			\$0	\$287,694	\$0	\$0	\$287,694	
24		\$0.00			\$0	\$21,719	\$0	\$0	\$21,719	
25		\$0.00			\$0	\$9,972	\$0	\$0	\$9,972	
26		\$0.00			\$0	\$233,387	\$0	\$0	\$233,387	
27		\$0.00			\$0	\$125,088	\$0	\$0	\$125,088	
28		\$0.00			\$0	\$135,078	\$0	\$0	\$135,078	
29		\$0.00			\$0	\$2,072	\$0	\$0	\$2,072	
30		\$0.00			\$0	\$83,509	\$0	\$0	\$83,509	
31		\$0.00			\$0	\$467,125	\$0	\$0	\$467,125	
32		\$0.00			\$0	\$65,589	\$0	\$0	\$65,589	
33		\$0.00			\$0	\$109,640	\$0	\$0	\$109,640	
34		\$0.00			\$0	\$1,887,407	\$0	\$0	\$1,887,407	
35		\$0.00			\$0	\$21,664	\$0	\$0	\$21,664	
36		\$0.00			\$0	\$404,863	\$0	\$0	\$404,863	
37		\$0.00			\$0	\$814,666	\$0	\$0	\$814,666	
38		\$0.00			\$0	\$6,595	\$0	\$0	\$6,595	
39 40		\$0.00			\$0	\$9,814	\$0	\$0	\$9,814	
		\$0.00			\$0	\$3,321	\$0	\$0	\$3,321	
41		\$0.00			\$0	\$8,279	\$0	\$0	\$8,279	
42		\$0.00			\$0	\$205,026	\$0	\$0	\$205,026	
43		\$0.00			\$0.00	\$8,860,012.00	\$0.00	\$0.00	\$8,860,012.00	

	Α	В	С	D	Е	F	G	Н	I I	J	К	L	М	N	0	Р
1	Company Name:		TELRITE CORPORATION			Submission Date:		3/8/2016							-	
2						Data Month:		February 2016								
3	Mailing Address:		4113 MONTICELLO ST			Type of filing:		, , , , , , , , , , , , , , , , , , , ,								
4	v		COVINGTON, GA 30014			✓ Original	Revision									
5	Contact Name:		Caitlyn Lumpkin													
6	Telephone Number:		678-389-6024													
7	Fax Number:		770-594-3878													
8	E-mail Address:		cmmurp@cgminc.com													
9							LIF	ELINE NON-TR	RIBAL		LIFELINE	TRIBAL			TRIB	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)										
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	14,253	\$9.25	\$131,840.25			\$0.00	\$131,840			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	24,513	\$9.25	\$226,745.25			\$0.00	\$226,745			
15	143028229	549025	823594	N	LI ONLY	TELRITE CORPORATION	184,599	\$9.25	\$1,707,540.75			\$0.00	\$1,707,541			
16	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	12,278	\$9.25	\$113,571.50			\$0.00	\$113,572			
17	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	66,901	\$9.25	\$618,834.25			\$0.00	\$618,834			
18	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	3,195	\$9.25	\$29,553.75			\$0.00	\$29,554			
19	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	38,309	\$9.25	\$354,358.25			\$0.00	\$354,358			
20	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	13,120	\$9.25	\$121,360.00			\$0.00	\$121,360			
21	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	977	\$9.25	\$9,037.25			\$0.00	\$9,037			
22	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	59,272	\$9.25	\$548,266.00			\$0.00	\$548,266			
23	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	31,274	\$9.25	\$289,284.50			\$0.00	\$289,285			
24	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	2,037	\$9.25	\$18,842.25			\$0.00	\$18,842			
25 26	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	1,076	\$9.25	\$9,953.00			\$0.00	\$9,953			
27	143028229	319039 369016	823594	N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	22,915	\$9.25	\$211,963.75			\$0.00	\$211,964			
28	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	13,282	\$9.25	\$122,858.50			\$0.00 \$0.00	\$122,859			
29	143028229 143028229	389017	823594 823594	N N	LI ONLY LI ONLY	TELRITE CORPORATION TELRITE CORPORATION	14,921 223	\$9.25 \$9.25	\$138,019.25 \$2,062.75			\$0.00	\$138,019 \$2,063			
30	143028229	559019				TELRITE CORPORATION										
31	143028229	309019	823594 823594	N N	LI ONLY	TELRITE CORPORATION	9,660 47,076	\$9.25 \$9.25	\$89,355.00 \$435,453.00			\$0.00 \$0.00	\$89,355 \$435,453			
32	143028229	439056	823594 823594	N N	LI ONLY LI ONLY	TELRITE CORPORATION	47,076	\$9.25	\$435,453.00	1,738	\$34.25	\$59,526.50	\$59,527			
33	143028229	179021	823594	N N	LI ONLY	TELRITE CORPORATION	10.469	\$9.25	\$96,838.25	1,730	φ34.25	\$0.00	\$96.838			
34	143028229	639010	823594	N N	LI ONLY	TELRITE CORPORATION	208,612	\$9.25	\$1,929,661.00			\$0.00	\$1,929,661			
35	143028229	589008	823594	N N	LI ONLY	TELRITE CORPORATION	2,162	\$9.25	\$19,998.50			\$0.00	\$19,999			
36	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	42,154	\$9.25	\$389.924.50			\$0.00	\$389.925			
37	143028229	449077	823594	N N	LI ONLY	TELRITE CORPORATION	83,900	\$9.25	\$776,075.00			\$0.00	\$776,075			
38	143028229	509010	823594	N N	LI ONLY	TELRITE CORPORATION	653	\$9.25	\$6,040.25			\$0.00	\$6,040			
39	143028229	649004	823594	N	LI ONLY	TELRITE CORPORATION	1,003	\$9.25	\$9,277.75			\$0.00	\$9,278			
40	143028229	529019	823594	N N	LI ONLY	TELRITE CORPORATION	341	\$9.25	\$3,154.25			\$0.00	\$3,154			
41	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	846	\$9.25	\$7,825.50			\$0.00	\$7,826			
42	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	21,504	\$9.25	\$198,912.00			\$0.00	\$198,912			
	Subtotals		020001				931,525	ţ0.20	\$8,616,606.25	1,738		\$59,526.50	\$8,676,135.00			
-10	Subtotals				<u> </u>		331,323	l .	\$3,010,000.20	1,730		\$00,020.00	ψο,στο, 100.00			

	Q	R	S	Т	U	V	W	X	Υ	Z
1										
2										
3										
4										
5										
6										
7										
8										
9	UP		TLS				ETC PA	YMEN	Т	
10										
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$131,840	\$0	\$0	\$131,840	
14		\$0.00			\$0	\$226,745	\$0	\$0	\$226,745	
15		\$0.00			\$0	\$1,707,541	\$0	\$0	\$1,707,541	
16		\$0.00			\$0	\$113,572	\$0	\$0	\$113,572	
17		\$0.00			\$0	\$618,834	\$0	\$0	\$618,834	
18		\$0.00			\$0	\$29,554	\$0	\$0	\$29,554	
19		\$0.00			\$0	\$354,358	\$0	\$0	\$354,358	
20		\$0.00			\$0	\$121,360	\$0	\$0	\$121,360	
21		\$0.00			\$0	\$9,037	\$0	\$0	\$9,037	
22		\$0.00			\$0	\$548,266	\$0	\$0	\$548,266	
23		\$0.00			\$0	\$289,285	\$0	\$0	\$289,285	
24		\$0.00			\$0	\$18,842	\$0	\$0	\$18,842	
25		\$0.00			\$0	\$9,953	\$0	\$0	\$9,953	
26		\$0.00			\$0	\$211,964	\$0	\$0	\$211,964	
27		\$0.00			\$0	\$122,859	\$0	\$0	\$122,859	
28		\$0.00			\$0	\$138,019	\$0	\$0	\$138,019	
29		\$0.00			\$0	\$2,063	\$0	\$0	\$2,063	
30		\$0.00			\$0	\$89,355	\$0	\$0	\$89,355	
31		\$0.00			\$0	\$435,453	\$0	\$0	\$435,453	
32		\$0.00			\$0	\$59,527	\$0	\$0	\$59,527	
33		\$0.00			\$0	\$96,838	\$0	\$0	\$96,838	
34		\$0.00			\$0	\$1,929,661	\$0	\$0	\$1,929,661	
35		\$0.00			\$0	\$19,999	\$0	\$0	\$19,999	
36		\$0.00			\$0	\$389,925	\$0	\$0	\$389,925	
37		\$0.00			\$0	\$776,075	\$0	\$0	\$776,075	
38		\$0.00			\$0	\$6,040	\$0	\$0	\$6,040	
39		\$0.00			\$0	\$9,278	\$0	\$0	\$9,278	
40		\$0.00			\$0	\$3,154	\$0	\$0	\$3,154	
41		\$0.00			\$0	\$7,826	\$0	\$0	\$7,826	
42		\$0.00			\$0	\$198,912	\$0	\$0	\$198,912	
43		\$0.00			\$0.00	\$8,676,135.00	\$0.00	\$0.00	\$8,676,135.00	

	Α	В	С	D	Е	F	G	Н	ı	J	K	L	M	N	0	Р
1	Company Name:	TELRITE CORPORATION		Submission Date:			4/8/2016									
2	,				Data Month:		March 2016								_	
3	Mailing Address:		4113 MONTICELLO ST			Type of filing:										
4		(COVINGTON, GA 30014				Revision									
5	Contact Name:		Caitlyn Lumpkin													
6	Telephone Number:		678-389-6024													
7	Fax Number:		770-594-3878													
8	E-mail Address:	(cmmurp@cgminc.com													
9							LIF	ELINE NON-TR	IBAL		LIFELIN	E TRIBAL			TRIE	BAL LINK
10	(1)	(2)	(3)	(4)	(5)	(6)										
11	USAC	SERVING	499 FILER ID	WIRELINE	ETC DESIGNATION	SERVING	(a) No. of	(b) Rate per Sub	(c) Total	(a) No. of	(b) Rate per Sub	(c) Total	Total	Tribal	Rate per sub	Amount
12	SPIN	AREA		(Y/N)	(HCLI/LI ONLY)	AREA NAME	Subs	(\$9.25 only)	Non-Tribal Spt	Subs	(\$34.25 max)	Tribal Spt	Lifeline \$	Subs	(\$100 max)	Waived
13	143028229	409016	823594	N	LI ONLY	TELRITE CORPORATION	13,747	\$9.25	\$127,159.75			\$0.00	\$127,160			
14	143028229	459019	823594	N	LI ONLY	TELRITE CORPORATION	23,411	\$9.25	\$216,551.75			\$0.00	\$216,552			
15	143028229	549025	823594	N	LI ONLY	TELRITE CORPORATION	163,644	\$9.25	\$1,513,707.00			\$0.00	\$1,513,707			
16	143028229	469024	823594	N	LI ONLY	TELRITE CORPORATION	11,462	\$9.25	\$106,023.50			\$0.00	\$106,024			
17	143028229	229017	823594	N	LI ONLY	TELRITE CORPORATION	70,616	\$9.25	\$653,198.00			\$0.00	\$653,198			
18	143028229	359138	823594	N	LI ONLY	TELRITE CORPORATION	3,192	\$9.25	\$29,526.00			\$0.00	\$29,526			
19	143028229	349030	823594	N	LI ONLY	TELRITE CORPORATION	40,289	\$9.25	\$372,673.25			\$0.00	\$372,673			
20	143028229	329018	823594	N	LI ONLY	TELRITE CORPORATION	13,236	\$9.25	\$122,433.00			\$0.00	\$122,433			
21	143028229	419035	823594	N	LI ONLY	TELRITE CORPORATION	977	\$9.25	\$9,037.25			\$0.00	\$9,037			
22	143028229	269040	823594	N	LI ONLY	TELRITE CORPORATION	63,658	\$9.25	\$588,836.50			\$0.00	\$588,837			
23	143028229	279040	823594	N	LI ONLY	TELRITE CORPORATION	31,965	\$9.25	\$295,676.25			\$0.00	\$295,676			
24	143028229	189014	823594	N	LI ONLY	TELRITE CORPORATION	1,836	\$9.25	\$16,983.00			\$0.00	\$16,983			
25	143028229	109016	823594	N	LI ONLY	TELRITE CORPORATION	1,078	\$9.25	\$9,971.50			\$0.00	\$9,972			
26	143028229	319039	823594	N	LI ONLY	TELRITE CORPORATION	22,144	\$9.25	\$204,832.00			\$0.00	\$204,832			
27	143028229	369016	823594	N	LI ONLY	TELRITE CORPORATION	13,104	\$9.25	\$121,212.00			\$0.00	\$121,212			
28	143028229	429015	823594	N	LI ONLY	TELRITE CORPORATION	15,134	\$9.25	\$139,989.50			\$0.00	\$139,990			
29	143028229	389017	823594	N	LI ONLY	TELRITE CORPORATION	220	\$9.25	\$2,035.00			\$0.00	\$2,035			
30	143028229	559019	823594	N	LI ONLY	TELRITE CORPORATION	10,015	\$9.25	\$92,638.75			\$0.00	\$92,639			
31	143028229	309018	823594	N	LI ONLY	TELRITE CORPORATION	46,010	\$9.25	\$425,592.50			\$0.00	\$425,593			
32	143028229	439056	823594	N	LI ONLY	TELRITE CORPORATION	0	\$9.25	\$0.00	1,687	\$34.25		\$57,780			
33	143028229	179021	823594	N	LI ONLY	TELRITE CORPORATION	9,738	\$9.25	\$90,076.50			\$0.00	\$90,077			
34	143028229	639010	823594	N	LI ONLY	TELRITE CORPORATION	218,292	\$9.25	\$2,019,201.00			\$0.00	\$2,019,201			
35	143028229	589008	823594	N	LI ONLY	TELRITE CORPORATION	2,004	\$9.25	\$18,537.00			\$0.00	\$18,537			
36	143028229	249021	823594	N	LI ONLY	TELRITE CORPORATION	41,943	\$9.25	\$387,972.75			\$0.00	\$387,973			
37	143028229	449077	823594	N	LI ONLY	TELRITE CORPORATION	79,670	\$9.25	\$736,947.50			\$0.00	\$736,948			
38	143028229	509010	823594	N	LI ONLY	TELRITE CORPORATION	639	\$9.25	\$5,910.75			\$0.00	\$5,911			
39	143028229	649004	823594	N	LI ONLY	TELRITE CORPORATION	975	\$9.25	\$9,018.75			\$0.00	\$9,019			
40	143028229	529019	823594	N	LI ONLY	TELRITE CORPORATION	336	\$9.25	\$3,108.00			\$0.00	\$3,108			
41	143028229	339043	823594	N	LI ONLY	TELRITE CORPORATION	824	\$9.25	\$7,622.00			\$0.00	\$7,622			
42	143028229	209016	823594	N	LI ONLY	TELRITE CORPORATION	21,978	\$9.25	\$203,296.50			\$0.00	\$203,297			
43	Subtotals						922,137		\$8,529,767.25	1,687		\$57,779.75	\$8,587,552.00			

	Q	R	S	Т	U	V	W	l x	ΙΥ	Z
1									·	
2										
3										
4										
5										
6										
7										
8										
9	ÜP		TL	TLS			ETC PA	YMEN.	T	
10				ĺ					•	
11	Deferred	Total	TLS INCREM. \$	TLS	TOTAL	TOTAL	TOTAL	TOTAL	GRAND	
12	Interest	LinkUp \$	(Max \$3.00 2012)	Subs	TLS\$	LIFELINE	LINK UP	TLS	TOTAL	Comments
13		\$0.00			\$0	\$127,160	\$0	\$0	\$127,160	
14		\$0.00			\$0	\$216,552	\$0	\$0	\$216,552	
15		\$0.00			\$0	\$1,513,707	\$0	\$0	\$1,513,707	
16		\$0.00			\$0	\$106,024	\$0	\$0	\$106,024	
17		\$0.00			\$0	\$653,198	\$0	\$0	\$653,198	
18		\$0.00			\$0	\$29,526	\$0	\$0	\$29,526	
19		\$0.00			\$0	\$372,673	\$0	\$0	\$372,673	
20		\$0.00			\$0	\$122,433	\$0	\$0	\$122,433	
21		\$0.00			\$0	\$9,037	\$0	\$0	\$9,037	
22		\$0.00			\$0	\$588,837	\$0	\$0	\$588,837	
23		\$0.00			\$0	\$295,676	\$0	\$0	\$295,676	
24		\$0.00			\$0	\$16,983	\$0	\$0	\$16,983	
25		\$0.00			\$0	\$9,972	\$0	\$0	\$9,972	
26		\$0.00			\$0	\$204,832	\$0	\$0	\$204,832	
27		\$0.00			\$0	\$121,212	\$0	\$0	\$121,212	
28		\$0.00			\$0	\$139,990	\$0	\$0	\$139,990	
29		\$0.00			\$0	\$2,035	\$0	\$0	\$2,035	
30		\$0.00			\$0	\$92,639	\$0	\$0	\$92,639	
31		\$0.00			\$0	\$425,593	\$0	\$0	\$425,593	
32		\$0.00			\$0	\$57,780	\$0	\$0	\$57,780	
33		\$0.00			\$0	\$90,077	\$0	\$0	\$90,077	
34		\$0.00			\$0	\$2,019,201	\$0	\$0	\$2,019,201	
35		\$0.00			\$0	\$18,537	\$0	\$0	\$18,537	
36		\$0.00			\$0	\$387,973	\$0	\$0	\$387,973	
37		\$0.00			\$0	\$736,948	\$0	\$0	\$736,948	
38		\$0.00			\$0	\$5,911	\$0	\$0	\$5,911	
39		\$0.00			\$0	\$9,019	\$0	\$0	\$9,019	
40		\$0.00			\$0	\$3,108	\$0	\$0	\$3,108	
41		\$0.00			\$0	\$7,622	\$0	\$0	\$7,622	
42		\$0.00			\$0	\$203,297	\$0	\$0	\$203,297	
43		\$0.00			\$0.00	\$8,587,552.00	\$0.00	\$0.00	\$8,587,552.00	